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" __ENGLISH (COMPULSORY)

= & Communication Skill (BCA1101)
ay & Date: Monday, 20112023 ———— & Max. Marks: 40
Time: 09:00 AM’|9 : 14-2023 ¥4

o 0 11:00 AM :,:_',7" & .
Instruclionrs{:;iﬂ A!] Questions are comDUI;sBFy. N g
" ) Figures to the right indigate full marks.
= g o L@
Q1 ?@oose the correct alternative from the given options. ?.;i’ 0{?}’
) Where did Gandhi meethis missionary friends? ey g
& a) Orissa < b) Vellore , -7 &
S C) Madras &7 d) Panji <& v
Y Q- €‘.‘
& 2)  What was the s¢hool attached to? S
Q.{} a) Bus stands b) Hdspital Ned
X c) Temple\g.\ ~d) Library N
L= e 3)  According {6 Rabindranath Tagore what s necessary to win freedom?
- a) Pa}\ifzhce b)" Friends \,-"
c) Alies .d)  Wars o
™= ! EX
4)  Wha'sang praises for the flowers? 3
a):“ Bard & b) Oracle RS F
}c) Saints & d) Birds r'Q-;/ ,f.’-
\ 5) 6\0']-10w does the father discove@ﬂe son in his room? Y S
: 4> ) Sleeping ) b) Sobbing ¢ gl
! & ©) Playing & d) Reading v AP
Q3'\{\6) What s the suitable prefix of the word — Legal? & o
v a) unlegal S b) illegal 7
&5\ c) inlegal A d) delegal Koy
I -‘\\ . . =) . N ~
a7 7) What is the suitable suffix of the word — Mahage? Y
c’) v [P g LN
N a) Manage > b) < Management S
S c) ill manage - d) Pre manage &
= B . oo i
! 9 8) Which of the following is used to Jjoin\sentences, clauses and wou;gs?
| a) adverbs ~> b) interjection RS
; c) cgnfunction &7 d)  verb \f-;\
' & = >
Q.2 Write thefanswer in short. (Any ﬁ@ﬁr) ._;\’“ 12
3%1 What is the context of Gandhi's talk on religion? A3
) _-\What kind of relationship did'the author have with his grandmother?
~c) <Discuss the poet's state of'mind in the poem - Let Me:Not Pray to be
=7 Sheltered from Danger<? v
‘-ff Discuss the theme q{;;the poem - The Lotus. hf:-.‘
R Define the ending gj_"the poem - The Toys in your words.
0 What is the signifjcance of the Sparrows in thedesson - The Portrait of a Lady’?
L) arit S y
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B \ Set_ 1P
B.C.A. (Semester

-1) (New) (C imination: OcthoV-2023l

Fundamentals of Computer (Paper -1) (BCA1102) =
sday, 21-11-2023

Day & Date: Tue

] Max, Marks: 40
T@ 11:00 AM 3 &
Instructi ) o -
tions: H\?ll questions are compulsory X1
o igures to the right mdlcata full marks. .\"
Q1 Chadbe correct o~
1) S ect alternative for\tﬂe following. T 08 &
PERTS device is used infirst generation. ti:: A?
3 c) ALs| 3 b) Yis|
Q 5 & d) Vacuum tube ~
ol . L
¢S 2)  Whichof the follovdrf’g is a scanning technology? .= v
N a) OCR - b) OM O
= c) BCR \\ LE 3
& n'*' these &
,;l— 3) is output device designed to get hard copy output. 2
= a) LCD i 3
At & b) dAonitor 5
- c) Pnnter d%{?CRT [
A~ ~
4) RAMj ﬂ memory. ~ -
a) QExtemal ~b)  Auxiliary Al
C) = Main < “ d) Noneofthese A~ L
5) I'rf MICR commonly used font is.<” . ae q°
.~a) F13D S b) E13D & &
o~ ©) E13B s d F138 \al
; NS g
\,) A computer is a Qaluctous code which self-reﬁhcales by copying N
= itself to other programs.\\ q* o
o a) program < b) virus &7 Iz
s c) application /\r*} d) WQ{I'}’% i3
é:q 7) Exampleofa good password is RS 13
& - a) name of epartner or spouse ~3 S
~ b) name ofa ‘child or pet = K
as c) wordsncontam multiple random dtg’is @G
T d) None\df these Q’\ >
N
8) Backup\n’o‘? the source data can becreated ______. &
a) ©n the same device 5 b) On another dewc:?v
c) \ﬁt some other locate | & d) All of these RS
F\/ . ',,D\
Q.2 Answer Any Four the follow:ng S 08
a) *What is hybrid computer’c?} CQ?
)f\ What is PROM? & \-fu
What is WWW? = 2
-d) What is Memory Ce, i v
‘_pr\, e) Whatis a volatile ,and non-volatile memory?
7 f)  Give the List of computer applications. R
N & <l
v A __5\'
D "30 *:-S
3 <V Q
Qé,, ,‘{‘? =

Pagelof2




Q.3

Q.4

Q.5

RS
Q
g
3
¢
~
0,
)
%
./:-
Y
l"-l-
N
Q.
A RN
'~
b ]
_.‘_‘;.
=
I_“

SLR-DG-2 .

el 08
rt notes on any two of the following. - >
Internet 3

RAM o ) &

Write sho
a)

€)  Magnetic tape .. S
oA’ ' R e 08
:)nswer any Two of the following. '

What is software? Explain different types of system software.
Explain types of network. ;

€)  What Is'pointing Device? Explain the types of mouse. ! ~r'.

Answeran

: i 08
y one of the following. -

Page 2 of 2

a)  Whatis computer? Explain types of Computer in details. dits B
b) -~ Whatis Programming language? Explain high level language an S
i.\ 9 ) jv ‘r L
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Programming and p. )b xamination: Octhov-202§_z“
Day & Date. Thurs §‘23 roblem Solving Using ‘C’ (Paper - I) (BCA1104)
Time: 09:00 A T, 100 Ay 2023 N Max: Marks: 40
Instry : ) &
ctions: 1).@] Questions are compulsory, P o ,
) Fi : - > g
. @: gures to the right indicate:full marks. % o
1 Chogye < )
1) : Icorrect alternative for the following. S 08 A7
o 2) anguage developeg by : £ ey
H H < : o s
g genlinRichards o b) Dennis Ritchjé
&, en Thompson d) None &
@O ) C language conlaig? Keywords. ..S.E' h(;"
S ) 23 & b) 32 & §
’\@ c) 36 s d) 63 ..‘.\\r 5t
'3 3 Th ion ) 0 b
Q e __ fgnction 'S Used to display output®n to the screen. )
Q‘(" a) scanf(:)l b) rﬁr'intf() -::'-
v c) gelgﬁar() d);print() &
4) = \:\'EScape Sequence character ca\ups'es the cursor to move tg_-'lhe next
CPEN -
a)x\t " b) \a & &
© \n & d) b n‘f‘- ({_:5’
5) 6\-? ) operator not operates\Qf\i float type operands. _\’“‘;\ -lt‘(
™ a ’ o b) * r"-\ =
0;'\{\ 6) is not operator ir_l\:b language. \g§ | ‘-UQ\
AP a) sizeof Q’{*\ b) + & &
S ERE S
& 7) is the exig{g%ntrolled loop. QJ} a7
\{? a) for 7 b)_ “awhile D
& c) do-while\;:b d)s none re"?
= N S
Q 8) is (hé’pictorial representation,gFalgorithm. {GQ
) a) algorithm ~> b) problem =
c) FloWchart 7 d) noneofthese &
."OO- . ._” \{_
Q.2 Answer any four of the following, 08
a) V\{E“‘a‘t is algorithm? il I
b) What are the arithmetic opgrators? Q
c) <Explain if-else statement; & 5‘;:
d)S What is string? ;C_’J R
€) Whatis two dimensiqgal array? LS
< . . 7 '-_-‘:\ [al
: 54 Whatis logic? & = v
. < &
~ P N
‘ 4 s 2
Vv A O
D i &
é > )
rOQ n& - ca
S N\ "l Page 1of 2
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) lite not oy | S v
e N .~ N
a) Cond‘§ ON any two of the following. = 08 5
b S j 'Itlonai operatoﬁbs\\ p \,:’\ \'?"\
c) Witch statement A7 12y
: > 5 N
Q4 Angy O , v Q{.\
er an e o
a Explai¥1 ':'“fgrpf the following. AR .;:‘Q 08
b) Explain 4 S different types of logics. 3 o
c) rite @°C Y four string inbuilt functions. o
o ¥ Program to check entered:number is divisible by 4 or not>
5 An » = Ao
s . i o oy
a) w"){(ﬁ"'"y one of the following. .-’ 'l 08
b) ak.ain structure of C program; < S
Q¥Vnte an algorith Zoh i S
Q M and C program to check entered number'is Armstrong s
\:‘ or not. - ~ (3\
e o S ~
S & > ol
\’?JQ Q’\\ . \? e ;
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o QY L3 v
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Q S S N
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Deserion: ) (New) (CB :xamination: Oct/Nov-2023
Day & Date. SScriptive Statistics (Paper - 1l) (BCA1107) o3
018! Sundayd26.11.2074 v Max> Marks: 40
me: 09:00 AMm Ta:11:00 AM o /?x’} '
| Instructions: 110 A I
ns: 1 );f:\!l questions are compulsor,)f.’.‘ rf,") g
' 'Qures o the right indicate full marks. &
V' 3) Draw neat dia R o
{Lk\ 4) Use of | 'agrams and:give equalions whenever necessary. ~’
M\( Ol logarithmic table and calculators are allowed. " S
Q_1 Y . o _'_-': ™
- ultuw;:”(‘:llolce qveslions.$' 6713‘ 08 JS/
&L a)l the help of ogive;curve one cannot determine & . S
{\S.\ 2) e Cenlllesé\v d) modeﬁ’\“ o
8@ a)t h the help of ogive curve one can determin\g_} : afu‘q
~£\‘\ o Ff\:Aedlanl:\ v b) deciles 2
& ercentiles d) .mode s
$ 3 The twosgression | < =
: € twosegression lines intersectat  A> . Q"
a)  (0,0) B %7 S
c) N \) (Xr Y) <=
;@x.a,) 'd) Nonmeofthese ¥
& & L ‘
4) 'l;Qe A.M of first n natural numberJj3 A ’bé\ NI
@) n(n+1)/2 > b) (R+1)/2 & Q=
/\fb 2 8 '.'Q ‘t’
) c) nn?+ 1)/2 & d) (n?+ n)/Zn\-\*" o
™ \ -
‘gp A primary data is a data collécted from . Ao B
S a) Ofﬁce_ records L b) direct interviews B
'\53\ c) bulletins \_\:\\ ~d) Annuzilafeports ({J:Q
D 6)  Which of the following is Positional average? @0 .:‘.”,7\'
& a) Arithmetic mean : b) Ggometric mean %
@o €) Harmonic @}aan d) Median _“33
KN 7)  Modeis . N S
A a) middlemost value by the minimum value O\'D\
= c) most\\fr’equent value 6\?d) the maximum value \@
8) If the s[qza\llest value in a setis 7 and its range is 85, the Iargestﬁ\slue of
the setiis & =
a) +85.5 S b) 1214 =
c)78 v “d) 92 o>
& o &
Q.2 Ans:_'_u‘zer any four of the following. e ~ 08
a) o' Define A.M. B2 O
b)> Define population with:example. o
~€) Write down relation iétween mean, median and rjode.
QSSL d) Define continuous-and discrete variable. !
o e) DefineCv. & R
o f)  Write down anytwo examples of sample. &
% A7 =
$ oy ' S
R Kol o~
) Ly S
& WS 2 ‘ Page1of2
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Q3 W L - = 4
a) rite Short notes on any\two of the following. N 0\@'-2)
b) o file any {wg Properties of regression coefficie\hts. . @0
alculate coeflicient of correlation from the fellowing information, NI
Q) poEX= 25, LV = 25,5X? = 150, 5y = 150, XY = 140 s
ISCuss the effect of change of origin and.Scale on Correlation coefficien =
\",' \ ‘\‘.
Qu4 ‘iﬁi} Q)\ ’E:.
Answer any two of the following 4 | 2 08
3 Define : : m E
b o &Correlation, |is lypes with example. S
c) Def:lr-}Ule .D. of first n natural number. a2
\('m::- AM. for 9rouped data. Calculate the A.M. of the marks frofm the
following & Sl
c LN =
R -30 | 3040 | 40-50 "50-60 | |
S 20 | 175 6 ] 5
o) Fany one of the following, 2 i
N € Number of runs scored by crj in10 test matches are 2
& shows beg| < Y cricketers A and B ind0 test z
N "
S 02 [ 90 6 17705 [ 76 | 20 |
\8 [ 42 | 30 20 j3¢ 307
<X S >’ >
%5‘? :12; thghicr!'ckeler is better in average?d" “_‘S‘
' b 2 l\)}l_c,.:h Cricketers is more consistent?’ 2
C:EJ a%ga;en the following informatioQ“Eﬂ)out two variables x and.y
P dOLX? = 385, 5y2 _ 1g, gy 85, ¥=557=4 v
Findthe regression line ofyonyx, T
S 3 *
o N U a
A A3 ol &
S R > =
& S ® 2
4 &l & )
'3 X & &
= © & Y
&L < S )
N 2 ~ $
< A & !
= (b=t T O
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Oct/Nov-202:

B.C.A. (Semester - I) (New) (CBCS) Examination: OC S
Web Programming - | (PaPe' 1) (BCA10 ) i
Day & Date: FndayQ§4 11-2023 |

Time: 09:00 AM $o 11:00 AM Q§ ,§ .
R . Jd
Instructions: 1) All questions are compulsofy. ol | {.\“
= $2) Figures to the right indicate full marks. 2 5 3
&~ 3) Draw neat diagrams q?a give equalions wherever necess ry. &
v O 08 ~
Q.1 M'\ltlple choice questions. ‘;\‘ ks without ﬁc;‘«
,\q’ 1) Which of the following:Js the correct syntax to display J\e hyperlinks 4
Q$ any underline? 2 5 5
L a) a {text-decoration : underline;} 5‘5 i
& b) a {decoration;: no-underline;} Q 5
$ c) a {text-decdration : none;} N 5
& d) None of tbe above S &
N 2) What are the new form elements mtroduced’m htm!5? =
X a) 2 - b) 53
> c) 4_ d) 5
3) |g|h of the following is the correct:Syntax to make the background-color
of@ paragraph elements to yellow.? ~
p {background-color : yellow} b) p {background- c‘il‘hor #ye"OW} {.‘S‘
%) all {background-color : yeLOW} d) allp {backgroghd-color #yellow;} Jf_Z
é;) Are the negative values allowgd in padding property'7 ) ,;33\
Qr{? a) Yes J:(\\ b) No N Py '
v c) Can'tsay ﬁ‘ d) May be,\\ &
n§\ 5) The CSS property used to specify the transparency of an element is .'5{,?
1 a) opacity N\ _ b) fi |ter~ S
Q$ c) visibility o\ d) Qverlay 4
.cgén 6) <input>is A2 .Q“ {\' g
{_;_ a) an format fag. b),- an empty tag. N
X c) Allofthe above d) None of the above S’?
S 7) InaCSS ﬂe there is a CSS rule fcg\paragraphs tags - what does~p can be
called?c2 o? @
a) Selector \n? b) Attribute &
) kf5roperty (L‘ . d) Tag Y;: '
Tuch of the following is theqcorrect way to create a list usmg the lowercase
JJetters'? $ Q&
< a) <ol alpha="a"> éb\ b) <ol lype =\a">
w c) <ol letter ="a"> {g d) None oit e above
= S F
Q(\") : 3 ~ v
\4 ) $
N < R
» > o)
v ,\‘.’ N
S s &
X Q' A
Ny S ﬁ Page 1of 2
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o S!"ngdélr and Paired tags -
. n - S
. «F 3D Transformatlons._.:_" '
4 A f 7 r‘c
é)ﬁs“grp Tari]y é\No of the following
- n i
b)) What ET' and POST: methods with example.
&0 Expai gumple column layout?
o SS Properties details,
~Q.5 Anp =
< e Form ith i i
R hatis Wot, géChlag' with input tag attributes.- ==
- 2 nology? What are the features of Web Site?
o 2 :
> My o
& o2
{\‘. o
g
‘:lt- .\
=
~\T_ 4":
A > X VI
.Q)\ -‘-
A2 :
7
r\:'\ N ;
3 ‘A
N
oS o
= o
$ - >
< S i
: N 2
-'\.S‘\ :
8 ; >
& 3
== ) ; >
&
& -
‘_:;"'-’.
p\' o =
c\:‘\\ '.‘\ 5
Oy r-,l‘lf =

& v
LA '

Q2 A ' W,
a)nSWe;; any four of the following.
b) What IS an Event explain with example. .
9 o ?t'ls use of table tag explain with example.:
Wg)a:;u,n the canhvas tag with example. >
'S use of header and footer in web page.
e)  Whatis Media tag? “p‘ ’

) What is‘ QbCTYPE Element?

Q3 Write sho;(-t'?;

a) Padding otes on any two of the -foll‘owing.

t 08

-
Tr,

08
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Y . o e - <\’ . .
/ ( f:;&t_ér l) (New) (CBCS) Examination: OctINOV-ZOZ_gf .
D8y & Bt SICs of Mathematics (Paper —1) (BCA1106) =
ate: Saturdgy, 25.11.20p3 v Max>Marks: 40
I Time: 09:00 AM To:1:00 Ay o e
In ions: Sl >
E. Structions: 13Al questions are compuiso qﬁﬂ (,;:J R
o3 Fira\w neat Iabe!led diagrams wherever necessary. n’ >
t@‘\r Ugures to the right indic&e full marks., >3 ke
N Se of log table and c3 culators is allowed. Ly &
Q.1 OT:oo '\:\“} 7 7
F, se the (;orléect alternatjve from the following oplion3’:$ 08 v
> IfA=[4 ]andB:.\[l 2]lhenﬁndA+B= \CD %
%0\ S 245 —= 2
':}\ a) A= [1 2 .\\‘Q‘ ~b) A= [io 2 ] o
S 4 sl s 10 &
& ©) A= [2 4;] d , @_“‘[10 2] oS
RN 8 10 > 140 5 T
s 2) 1.2 3 & 2
v’ If A = [3.03 i i N
. =133 5| order of the given matrix‘is ﬁ
] ® 7 7 \r\, \'\}
a) 3% 3 & b) 3x4 .:p? : .
cél\ X 2 C\n” d) 3x1 & &
3) ,g\‘matrix having only one columg:‘?s called as . (,C) Q{:
A¥a) row matrix < b) column matrix o
q,,)Q €) null matrix a0 d) none of these %\:“
. - N *
.\Q)/ A matrix with equal numpg? of rows and columns isiqnélled . A7
N a) square matrix % b) colump’matrix o
o c) null matrix & d) nonegbf these v
o v o o5 r*vQ
< T LS B
N 5) 1 ap_1 2,5 : > ;
K3 I [4 5] = 4 S‘L&the" @z & ¢
8 o )1
S c) 2 & d)" None of these o~
< < e, O
S 6) pvg = _\"1? o }@
a) qvps” f’:\\" b) pvp N
c) g xéfz? &7 d) Noneofthese g~
D% N3
7)) If Aé’{a. b, f, g, h, n, s} then czii’:iinality ofagivensetis ___ <>
a)§4 AP b) 6 i
97 R AL
8) SA={1,2,3,4,5)and B= {2, 4, 5, 6,10} then ANB &
¥ a) {1,2,34,33 & b) (2,4,5}v
CS\ . c) {1' 2; 30 4; 3} ’:5'::;?; d) [0, 1;;%?3, 4, 3]
& 8 >
v D N
».:‘\ A3 \Q'Q
@ ¥ o
N S &
& a° o
2 l‘\c;) {—‘ 1
f \v\\' & Page 1 0f2
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Q2 A VL ot S N
A \V / - >
a)DSWer ar(\)y fgur of the following questions. /| = 0?;“”
As| _.-:;[1 z] =7 o
4+ g and B <, & thenfind AB =7 A K<
b) A = 0 2 ,}r"\Q - --\:\k‘.
=4 &|thenTindat=> Q¢
) 9 : v e
©) fe=[2 Q{h & =
= [1 Q\kl()] then find inverse of c. .-»;‘
d) Draw N v
RO the truth table of [p A (p - Nq)J= p n)é,\
f Do 'ﬁl‘f’\ddltion‘ p'nr]cip!e_ o 0"/
Nition of disjoint sets. B & S
) Ny {(" r;\ 5
N gr'\t?’%h?" Notes. (Any Two) & v 08 ¥
RN gltatnx representation of Relation. ) o
: % Sta:e and prove Distributive law. o S
4.9\3\ ale and prove De—M(g\R_;an's law. @0 .:\\'/
Q4 A 5 < 0
G L 'SWer any two of thefollowing questions. = "08
X a)  Prove that: (p v g)-= : Q 3
§ b) Stat - PV g)= (q Vv p) by using truth table.;" &
Q c) WE! € and prove-associative law. \:3\ °
N . lnte the conyerse, inverse and contrapositive-of the following statemenit
'*.F‘ f switch Ison then fan is start”. .;~" 3
b S oy =
Q5 :)“s“ée" any‘}&ne of the following questions:” “j{"{ - 08
heckgiven statement pattern are taytology or a contradiction ofa
CON@\gency. K e ‘
(R a) v (Np v )] & S S
= (o] ’ )
o o 2 3 1 Q
b) JFind inverse of the A by adjointmethod ifA = |1 0 3] N
.é{:’ \’.g} ) lf‘(?} )?:'?.
S & $ &
w NS & Y
™ ¥ =3 )
3 L ~ Y
R & S =
Y . s Qj\
S ik d s
\\ \l’i;) "f\— \\k-\
~§. \'L\\ < \?Q’
Q r{-\ '\\\\' fQG
T Q >
D R S
~ o) N
& v >
N ) Q
{,JO Qv -
W2 < s
& Ui P
Q'\ .g\ e
.\& \"D F (\r,
5 5 &
'\-"“ "E\_ \'.\\L\
s O ':':‘\\ ":?
& &
S = &
« » 2
v A AN
D e &
a’DQ "> *;(

& oy Page 2 of 2
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B.C.A. (Semestbr 1) (New) (CBCS)Examination: OQUNOV-ZOZ\{_

Ofﬁce Automation (P er 1) (BCA1103)
Day & Date: Wedne\ﬁé ( ap )}

-
ax- Marks: 40

ay, 22-11-2023 = Max

Time: 09:00 AM T¢:11:00 AM

Instructions: 1)7\" questions are compulsory
_<2) Figures to the right indicate full marks.

& 3) Draw necessary diagrans whenever necessary. AT
- 4) Use of logarithmic table and calculator is allowed.  _~ . s
e & & 085"
Q.1 Ghoose the correct alternatlves from the options. &~ Ly
\\1) What is the function of.Ctri+B in Ms-Word. = font A
Q\'? a) It converts seleded text into the next larger size of the same iont. i
RS b) It adds a ling'break to the document. L =7
S c) It makes thé“selected text bold. ~ e
T d) It appliesftalic formatting to the selected ! foxt. &
x> 2)  In Microsoft Word shortcut key Ctri+W is used for <
e a) Open"(he print dialog box b) -~Update the current web  page
¥ c) Cl0§e the current window d) None of these \}\"
3) Whlg‘&hodcut key is used to spell check in MS-Word? "3
“b) f2 N >
cb f7 o odf o : 5
4) \Why header and footer used in; MS-Word o _:f“\
& a) To enhance the overall appearance of the document &
‘{\ b) To mark the starting of-a page A o
§ c) To make large docuthent more readable 3%, A
'\3 d) To allow page head?ar and footer to appear op "document when it is pnntesi\
\n" 5) To start slide show of 3 presentation : Q \C\
§ a) PressfSkey A° b) P@ss f7 key &
N c) Pressf6 key« d)~ Eress f8 key i
\\Co 6) Whatisthe e)g\tensmn of power point ﬁle\ §
I a) .pmt s . by .pnt - ¥
= c) .ppt ) .pdf =
7) By defaqlt an excel work book dlsplays work sheets. “\:\_\Q
a) 1 L7 b) 2 &
c) T =7 -d) 5 S
8) Wmdows is an operating system =
a) True oy b) False Q
\ Q n'\n')
Q.2 Ans\v-ver the following questlons (Any Four) X 08
a) What is a window? L|sjﬁ any two its task. e
~B) Whatis Title Bar? ;= AV
c)  Whatis MS Access? o
od) What is the use of MS-Excel? )
A e) Whatis PowerPoint. S
,\\V f) Whatis software? N
N oy N
Q 7 3
& & &
& N
2

>
~ A

Page1of2
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Q.3 Write Short Notes. (Any Two)

a) Explain Dialog Box. " <

? 4
b) How to insert page number on MSf}l:g;iiv, _
c) Explain any three components of wi .

Q.4 Answer of the following questions. (A“g Two)
a) Explain anyfour shortcuts in MS-Word.. MS Word
b) Explain Save and Save As command in MS- .
c) Explain:any four MS-Excel features..
Q.5 Answerof the following questions. (Any One) lain Steps
a) How we create a new database in MS-Access. Explain l'p nj‘
b) Whatis Presentation? Explain Steps of Creating Presentation.
) o,
ok
$
,}' 2
5] B,
> : &
.5'\;\‘\- S \: -
\\l\— N
—_— - £ o
N = N
> 3 > <
N o <
\g:‘ ]
Q
o
5 -
> -
b
N ~
>
Ny 3
Nl N \
) e O
o> : 2
;\\ : r
\‘1\\\\. K 8 N )
.;,:;3 “C"_?’. i = o
S = &
Q\‘ r.-" ,f._-‘:‘
: ﬂ-‘:\ 5§~
q’i_ "\
&> 43
__rl‘.:. -\l\
A N
& =
a0 T
i \
S -
~ iy
X o=
o &
-\ ~
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Seat N
No. |292sg |

d

B.CA. (s S
LA XY o 1S eme t r- : N
Fund U\ikentag (New) ( i Wﬁﬁ\ination: OctINov-202§:2$
gay & lgagate: Tuesda§t 2811 2ozgf Electronics (Paper - 1) (BCA1108) &
ime: 09: » €O=11- o .
00 AM @ 1:00 AM N Ma'§:~vr.narks. 40
Instructions: 199 ' N &
<\ questions are G ) )
& Draw 2 compulsqoP v N
raw neat diagrams ang % . %Q <
P§, 3) Figures to the right indi §l f?x equations wherever neces\ Ty. b:?
¥ 4)Use of| .o g cate full marks. > N
!b{:\ (AtWts C‘)aiir;lhrjw-lc tat‘\)\le and calculator is allowed. \q" N
. wfm\' “H= .0-12§1=16.N=14.Na=23.C|=35.5) S &
LR : Q (S
$ 1)Umlee Chqlce questions‘\? fga 08(‘"
S CD display is basgy - N >
) a e gdon_____ oflight < P
RS ) radiation Q ) )
\@ ¢) emissi .:\\' b) reﬂect@ Q
N Sion = d) transfission S
Q 2) Theb ) S 57
NS ottom l1aler of IC serves as layery. &
g a) conneclor —= é) : o
t:z- ) sub l‘% b) lgsulating <
N 2 A te d) ~none of above Qé‘
) I\f'\e Lé@% or their display devices req@é a voltage of an%‘f current
. \\ s
3)\@’1 2V, 20mA ®b) 2.5V, 20mA /\:_pv‘_ $
o 2.5V, 100mA S d) 12v,100mA O S
4) @iffusion of impurities is done gﬁthe layer. g : Qé‘\
& a) substrate & b) second & @Q_
& ¢ Sio > N
& 2 S d) Allof abovg w
Q{B) Usually substrate of IC igSmade up of . D N
) a) Germanium metaly b) SilicogR .“JQ'
\\ c) SiO2 & d) Alumitum 49\’
égz 6) l&glgl E:t\lalqwres a pg@er of to light up o&‘é segment of a 7 segment (\3}\
2 - v Q
> a) 20w b) $20 MW S
Qé c) 20uW Q}\ d¥ 20nW _ 0\4§
T 7) Complex gg‘(lices and circuits make\gs'ge of PCBs. 2
a) single sided & b)  double sided §
c) %g’ﬂu layer & d) rigid &
8 IC @bﬁcation depends upon ,_,.\':\ ; .{.\?
¥ Materials & b) processes
design principles (35‘ d) Allof above Q"
. : > W
Q.2 Agswer the following (AnyEour) _ {\9 08
d)’ Whatare steps of IC {abrication process? &
ob) WhatisSMT? & P
: {f} c) What are advantages of ICs? S
o d)  Whatare populaFIC packages? - &
& e WhatisLED?S” &
S f) Whatis working principle of LCD? S
& & &
& R N
N o~ <

Page1lof2



b o ‘@*
> &
= D \
ﬁ/ {\-‘ SLR-DG-B Q}\X
K &
N QD
Q3 Write short notes (Any Two) b S 08
a) Write a note on LCBUisplay. (construction, yvgr}\g}ng). @&
b) Write a note on pgbtolithography process. /\g\ R
€) Write a note on gpitaxial growth. ’Q‘? §
o S
2] & , Q
Q4 Answer the follgwing (Any Two) &0 ' . &Y o8
a) Explain with'neat diagram how transistgr'and diode are fabricated in IGZ
b) Explain With neat diagram working of ;& segment display. ,.}“
c) State t@es of PCB. Explain double,ts?ded PCB. PQ\ A
> ol . G
Q.5 Answegt']:e following (Any One) 2 i 08 g
a) S}(plam diffusion and ;solatlog{-b‘?ocess with neat diagrams fo&;lC fabrication b?‘?
gprocess. . R o 3
b%»'b Explain construction and working of LED display. State its gpplications. ,,36\
v > o o <V
D 7 o A%
Q? C:\ \(? rN‘
¥ o5 o S
% N RS v
- v < Q)
N S & S
N & > S
& ¢ N §
B Q‘:\ e @
A3 Q 4% o
™ ) = »
b S () =t
N & &
ﬁ D t
@ ~ 4 ,\V \
T N © N
w =a a7 =
& & & &
§ > & 3
&> o AP A
> S o AT
X % N S
v F W
S W & &
& & & S
~ N
& > = >
= (%) |Q n’»’
$ v N O
A3 3 > ¥
. > S =
v W 9
S & &
g ,,‘S N> \é
S o7 Q\&\
& N NI
[N N A\
i 9 =
3 A A
Q ~ R
N A A°
N & S
A3 IS Q%
W & S
& N \
Ky s &
= o}
& & o
S = &
N A &
39 > <)
4 Sy @
S $ &
& & a
P\ & &
) N .
~ = Page 2 of 2
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B.C.A. (Semester - 1) (New) (CBCS) Examination: Oct/Nov-202
§\ . N \}
" Linear Electronics il (BCA1109) < Marks: 40
Dpy & Date: Wedn@.day. 29-11-2023 \W hcie’x'
Time: 09:00 AM To 11:00 AM N S
. o n’ ’
Instructions: §j Al questions are compulsgﬁr. > ‘_:\
Q2) Figures to the right indicate full marks. ,g\ >
& 3) Draw neat diagrams a d give equations wherever neggssary. o
V" 4) Use of logarithmic tab(l!‘; and calculator is allowed. %Q
N (At Wts. :H=1, C=12, 0=16, N=14, Na=23, CI=35.5) &
Vv S 3° ']
Q-1$\Choose the correct altergatives from the options. 2 o
0\5‘ 1) Capacitance of 3 ¢apacitor is inversely proportional‘to : - v
@ a) area of platef_?s b) thickné%s of dielectric o
§ c) dielectricg‘c}nstant d) ”O'L%%f above &
o s !
& 2)  For 1.5kq re\&stor with 10% tolerance the cg!\gr band is in the Sequeic\é)
< of ! QS & ‘ RS
oY a)  Brown red yellow gold b) »,"Brown green red snlverQT
S €) Bdown red red gold g:Q)% Brown Green orange dold
x> S
3)  Inagemiconductor diode, the curreég't\through the junction lsgaxmum |
wigen it is . Vv > \
@Qe forward biased £ b) reverse biased S .3_$§
@\E) no supply & d) none of abo"%\” &
4Y%" For NPN transistor, emitter\b'.’é%ejunction is forward b{a\sed and collector <
q? base junction is reverse biased, the region of operatipnis _____ . QF.
&> a) active & b)  saturation &
q\(‘ c) cutoff N d) reversg’saturation q(:?
> \U
l\\r\' 5)  Regulated power s&;%lies are used in .@o (‘9
J a) mobile charger b) m@asurement devices C\'{\
Q’é" €) computersr d) call of above o
é}\ 6) Rectification ,L§9a process of converting X . Qa“\
S a) DCto,AC \g‘)‘ AC to DC N
S c) ACt&AC ~d)  None of above N
S & N
7)  Transfogmer converts > N
a) ACtoDC & &
b) .~DC to AC o A
o) high/low voltage AC to-fdw/high voltage AC o
@) high/low voltage ACn\t)bxlow/high voltage DC Qooq’
8) ‘.‘:.1‘“\ Rectification can be dopjg using . W
$ a) tra‘msforme.r \\{9 b) conduc@cr)s
ﬂ§§> c) bridge rectuﬁegg d) none(gf-above
= v
& & >
o ?_.. ’DQ
o N 3
Vv &> N\
Q Q >
N &
> G N
Q o <
& > &
& & S

Page 1 of 2
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ka7,

C X
v‘—' ('/-a N
O < \ \
a'c':; = &
<
N & SLR"DG'g P
a’ . a
i & 0gs !
Q.2 e S j >
:\)nswer any four of thedf_?ﬁlowing. f ‘e unit 6?‘3 )
b Draw symbol of capacitor. Define capacntance.@ ate its unit. tage. Draw 2
) What are two typgs of transformer acCording(t)o‘SeCOHdary voltage. >
their diagrams R & , s
g) What is dop'&eﬁ process? Which are two types of impurities. Give exampies:
) Draw Symbolof inductor. What is inductance. State its unit? -
g) State spgifications of resistors. & o
Write :43 sification of capaditors witlzsymbols. e
S
Q.3 Wri X ."{;Q re
a)"te S}%?rt notes on any two of thefollowing: cg'/ 03 =
b '€ a note on P type semiconductor. v 5
) K r!te a note on SMPS. --\‘§ o Q‘?“
c) & Write a note on PN junctionWiode. P of"
Q4 An 3 & o
4 fnswer any two of the folloy S 085
o\a)  Draw b i QWing. 3P Ny
¥ b)  Explaj ock diagram of;regulated power supply. Explaif? function of each block. ~»”
R 9 s plain with neat diagram construction and working{of P- type semiconductore;:
\@ ate appllcatloni@f BJT and PN junction diode. ;< .
:i‘\\‘ Q5 A \':\ < (_\-§
S @ nswer any one qfithe following. < SALL:
NI a)  What s rectifier? Draw and explain circuit didgram of CT full w tiffer
Q Also draw i3 idgram o ull wave rectifier.
A3 b 'év:éqbut output waveforms. & =
N raw a xplain construction of NPN trdnsistor. Explain with neatf"i‘a ram
: worktn\g}of NPN transistor. @9@1 P ,:'c-g =
& S S
& ¥ S \
=~ 4
T 0\ < )
3 & > =
Q5 (8) A Q
QO @ M =
qu :? 3 \\‘\ Q-E:‘
:‘\9" \§‘ ncj})\ C)v
N & N &
o S S N
ﬂ', Y. o\?: (\’4
{ & & o
é‘?’q o5 S &
& (g/ Q Y
N\ W ) o
S S & <
< N < >
] r‘l,)} é—‘: C'o&(\
S & RS
S8 o N
& & N
& Y £
N o ~
> N <>
N ) \s
=& v )
& S S
> Q
QS- N 2
O Cgo QY
N o v
P I .
1) = S
& Q v
& N £
¢ T mQ‘
) > &
v = &
D S K
8 0z =
& & £

C N
Y : . > Page 2 of 2
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-
.

) (CBCS) E,xﬁf"r'ﬁination : Oct!Nov-ZO?:gf
on to Python Programming (BCA1202) .=
2023 o

B.C.A (SemesteT - |
T - 11) (N
Introdiicti | e
Day & Date: Sunday?93-12.

i~ ks: 40
Time- 0Q- N Max> Mar
l lmte. 09:00 AM 'i;g 1:00 AM ch\ n)é\
nstructions: : ) A )
" ;2)??_.". q:: estions are compulsory® & =
O gures to the right indicate full marks. 27 o
Q.1 :f;u,itfﬁle choice questions, & N 08 o’
>>"Which of the following states: i iable names in Python a2
& language? g éjgments is correct for varia ! &
& a) All variable name$ must begin with an underscoré® o
L b) Unlimited lengtt = 5
\&‘ €) The variable ;\{z‘ame length is a maximum of 2¢~ S
S d) Allof the abgve 3 Koy
1 x e a3 S
§ 2) Supposed = QSﬁn":dO, “peter:45), to delete thé entry for “john” what @0
S command do we use? A <
© a) d.de_iege('jc?'hn":do) b)nrﬁl.delete('john') ~
- €) delgljohn’] d)” del d(*john":40) R
3) ‘tyn ordg;g‘ilb store values in terms of key;a‘nd value we use what cg% data
pe{.{_ > >
: A &
ay list £ b) tuple o AN
’;\97 class é"Q d) dictionary r§" @‘
4) {What will be the output of the f&fiowing Python code? .oV =
f{,b i — 1 &‘P Qn\) hco\
Q? while False: Q- > -Q\..
o ifi%2 == 0: N @ o
Y break Q}S . GJS” .§’
$ print(i) AT o Y
(ST $
2k a) 1 & b) 3357 ... D
S c) 1234 ., d(;::: none of the mentioned &
oy ~ (=
< 5) Who develo;@\d Python Programming L_é"nguage? @6
' a) Wick\-kvan Rossum S'b) Rasmus Lerdorf =
c) Gli):glo van Rossum ch{? d) Niene Stom Q{-\
6) Which @he of the following has thé"same precedence level? -?T
a){fblvision, Power, Multiplicg'ﬁon, Addition and Subtractign
b)* Division and Multiplication A
) Subtraction and Divis\i?“n K
< d) Powerand Divisiog}a’-‘ &
7\)3‘0 Which of the following statements is used to create an empty set?
QS a x b) set() >
09" c) [] NI o
" 8) What arithmetic aperators cannot be used withstrings?
N ) s
~ + b) &
S a) .'-"\> N .
= c) - N d):> All of the mentioned
¥ V2 &
§ & g
(Oa‘ﬁ v .:"— Page1of2
A o -
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'1‘- /.-.‘ Qq"
o (‘_,'- g,
A \J v
" &
f\.‘ L_. _ “-
Q & ¢&  SLR-DG-1T ©
2 AnSWQr L (f\_, & o
[} Iollowlng (AnQ'F 5 08.5
a) Whatis p our) 35
6) Daa ocslring indPython? o0 :
Ine Literals ondiConstants R I3
:::l)) What ls PyM7 7 ' & -
What is Strina if'r ) &
©) Listany q 1940 Python? v Q-
0w &l ly. fla\?nrs of lehOI‘I. v &
alls mgbxmg and slicing on array? &7 5
Q.3 erlu ““ ) o ',‘n
short® & A
a) Datgo&‘;ﬂmes (Any Two) & ) 08
b) pes in Python O % .
L(?Q .lng stalements ‘\'-‘ .ﬁ({‘. R
c) D.IS{ onary 3 v :;
Q4 A S & & A7
T o W the following (Any Tyo) 5 08 ,°
1)’ {e - a r-‘"
Cb) Exma-the dlﬂere_nce betw}_ n Python and C language. 6:52 .ﬂ;‘;/
Se WAR |ln the Set in python’with example. © _ v
.—,Déb © accept two 2°2 matrix and display the addition of these matrices. &
% 3
I\ < —:\
S\Q.S :nswer the following\(Any One) & o$ 08
: g <
\{_f ) b)) E"p'a!“ Tuples gnd List in Python. & e
S xplain any 8 features of Python. © \E’J
$;¢* \".“,(? (:’,\ ‘_.gl::'
" & & g
ey ,1‘. :.:
o ~
N Iy =
Q\ (\} Q\ ‘
..‘::‘:k- D & S
o Q % &
.v aih r‘(\ \L\_
6\ & a¥ 4 &
- O
r{:j 'g‘?' r N Q?-
() \‘;‘} Q) 'DJ
% 3 . "
v NI > )
ﬁ;} = R ,{‘)
- \S S &
v
2 '\"@ \@ v
> & ‘} \.\.
Gcbq "36 Q'$ ;\{\3
NG & & R
§ \@ & &8
NS R o 5
3 NG A o
3 o N
\er v &
o & &
2 v )
e
-é:: & -:{Pf‘
d § §
=~ Q ~
~ N &
N (OO S
® & <
A = ™
S S S
o] Q'Q‘
v £ o
5 A 4
A Y @
> o 3
Q A 3
-D'\ ‘-:”:' !r.:‘\
& { Q

S ‘{9 »_:L‘ Page 2 of 2
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Seat &L o
o i)
B.C.A (Semesté; - 1) (New) (CBCS) Egamlnatlon OctINov-20232
Y Probability Theory, (BCA1207) S
_IE_’aY & Date: Friday,.08- 12-2023 {J Maxp Marks: 40
ime: 09:00 AM Tg\ 1:00 AM Q~§‘ S
2 ) .
Instructions: 1)AII questions are compulsory’ i o =
n) Draw neat diagrams and .glve equations wherever necessaﬂ'y Qf"
& 3) Figures to the right md(ga\{e full marks. ch} A7
,.\5\/ 4) Use of logarithmic table and calculator is allowed. a (‘:’Q’
-;.s ~) 0,
Q.1 I""“illttr-ile choice questions. fov \’52 OEE:'
SN fXisary. with E(X)"-—- 4,V (X) = 9 then V(2X +5) = = . ol
NCa a) 36 A0y b) 9 - ‘ QO
Q v N
2 c) 16 09 d) None ofthese kS
Q\g‘\“ 2) Tf)we probablhlgcurve of standard normal dlstnbhtlon is symmetric aboutG%_Q__-
a) 0 b o Z
NS ) . N7
‘;‘r c) o? § ' d) None of these ;:?
nO 3) Fora con’tmuous rv.XP(X=k) = "2 where k be a constant. <2
a) 0‘ \.' b)v \
c) Qz ) None of these ;o“"
4)  Adiscrete r.v. X has Poisson dlSlQb(EJllon then . & =
a} Mean = Variance & b) Mean> Varlance Q—"‘
’\bc) Mean < Variance Crgﬁ’ d) None of these%‘»‘ =
5),:"b A discrete r.v. X has Blnon'ka\l Distribution with paramefer (n,p) then . "?
& a) p = probability of suctess in any trial 'C_c‘b
v N S
-{‘-\- b) n = number of times‘trial is repeated S S
& ) EMN>V(EX) & O:»Q @‘?
R d) All of these o RS .,\.“SV
\TQ‘" 6) IfeventAcB theﬂ, ‘;‘5\- <
e a) P(A) < P(H) b) (P(A) > P(B) =
K c) P(A)+ P(/B) =1 d)\. one of these ?Q*?
=
Q’P 7) Permutatlons means arrangement of objects in a row such that ord§ of
= arrangerment is___ . & Q\\\
a) |rnpbrtant J{,‘J b) notimportant Q{:
c) %artlcular q}f d) none of these N
_\-:‘.
8) If Cis constant then E(C) = . <
S0 \‘5 by 1 >
| 3 . Y
Q) C o~ d) Infinity D
> S V>
= ~ %
< e) n'\Q
Q0 &2 Y
AY Y Y
r\n_:b ‘;}\ ’S-h
R\ \ \__\Q
2 s e
QQ:\- » @0
4“\ LS
S a S
i‘ Ll Q\
6‘9 ,.‘99 .,:k_ Page1of2
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Q.2 Answer any four of the following. < ‘;,,3
1)  State mean and variance of Binomial distribution® R
Define - cond:tronarprobablllty 0’\ \:?
3) Findkif foilowmg is p.m.f. of discrete r.v. X o ‘{_f
‘("’ \ 8 Ao
_,\t}( 2 4 N 6 &
Np(x) K 2k 4k e | NS
4) Given: £(A) = 03, P(B) = 0.5. Find B‘(A U B) if A and B are mutual 3 \
exclus'hle events. on’ <
5) If X\—a P(4). Find E(X) and slandhrd deviation of X. ,")"" Q,"
6) Dg ne sample space and its eXample. ) i
Ry T S 08 &
Q.3 Wnte short notes on any two,g? the following. ﬂ\\’:\ cg{:’
1)) State the axioms of probability and prove P(¢®) = 0. = Y
=2) Define the c.d.f. of contihuous r.v. and state its properties. lustration e
°3) State addition and mulhpllcatlon principle of countmg\Wlth illus y 0
0 "\ Q-c- LS 08
Q4 Answer any Two of tl'@ following. oS ind V(X) K
S 1) Forthe follovwng'brobablluty distribution of a disérete r.v. X, Fin QS
Q X 2 4 6 5 8 10 N
X+ ~ 1 ~x
= SP(x) | 0.2 0.4 .J} 0.2 0. S
33 2) Define evehl and state any two types w@‘example \§
3) The P d. f. of continuous r.v. X is, ‘.f_ -~
fx) & N ;0<x <1 Q\ NS N
8-— 0 ;otherwise N 6\ D
Faﬁd i) € i) SEX) -~
Q 7 o
S & 08 &
Q.5 AnSWer any one of the following v B
1{\_. Define Normal distribution. State mean and variance o_; it and also state &
. any four properties of it. C\ Al
{L{E) The continuous r.v. X h §lhe p.d.f. N n:Q
Q\‘é f(x) = Cx* ;0 <x <T B r\(Qq’
= 0 ;otherwiseg? Z )
S . . S A\
8 Find N S >
S i) C iy ECX) i) SV (X) o
Z) : + D
o X ™~ )
S LV il &
= ) 2 o
Q S A T
9 oD SI
Y CSV Qx
3 W &
& v -
-~ N <
& N ®
g S &
> & o
< (00 AN
o = Y
24 s S
& 3 S
A = Sy
& A3 2
S » <l
D S S
N ~ =
K S g
by R X Page 2 of 2
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B.C.A. (Semes Ster - I) (New) (CBCS) Exdmlnation OcUNoV-ZU%‘:"’_—J

i’-‘ Operating Systom (BCA1203) b
?;‘: & Date: Mondayi04-12-2023 May; Marks: 40
| & 09:00 AM & 11:00 AM ri""\ &
n N 4o
Structions: 1ﬂ) A" questions are compulsory. 3 ,,f,';’ R
m}‘ 2) Figures to the right Indlcate full marks. 1 R
Q.1 Chot?se the correct alternativea from the option. & 08 h’i'
) “The operating system whe;e fixed time slot is allocated to pach active Ky74
‘_\Qm process is & 4
Q\‘k a) Realtime 0.5 & b) Multlprogréfhmlng 0.S ‘_-'.V
o ) BatchO.s & d) Time-shaiing 0.5 7
\»\ 2) A programin exeq{hon iscalled . .Q &
Q@ a) Process b) Instrﬁctlon df-ff"
" ©) Procedur@ d) Fpnchon Z
B 3) Interval betwq‘én the time of submission and/completion of the job is .=
~ called ¥ s &
a) Walfing time b)>" Turn-around time =~
c) TﬁTOUQhDUt ‘\:8) Response time g
4) FIFG—scheduling is , _\Qf Cr.f’ R
Preemptive scheduling QS‘ b)  Non- preemptive: -3cheduling &
oj“c:\ Deadlock scheduling 5’.0 d) None of these®” &
5) 6\rhe priority scheduling algonth‘m suffersby k'\" -
(gl' a) Starvation ,:P b) Agmg < "4,::‘
A c) Deadlock & d) Al of thgé’e &
-
Q‘:} 6) The degree of Multlprogr'é\\mmmg is controlled by x¥ r@"
S a) CPU Schedulem; b) Copteéxt SWItchlng A
R c) Long-term SCh_EduIer d) Médium term Scheduler Y
& 7) Process is called: 35 a_____ entity. & D
== a) Passive q, b).== Active o
Q\} c) Non actwe J) None of these S
= 3
8) Thereisa guarantee that the critical tasks are completed in gwenémount of
time. Thaps called as : f:?, Q.-
a) H§rd Real time systems ﬁ\? b) Soft real time systgm
c) .:Real time systems 0 d) None of the aboye
Q‘ &1 Q;
Q.2 Answgr any four of the following. Q 08
a) _Define Operating systems‘?"‘ (gfl‘:
b)\ hat is mean by Multlpngrarnmlng’? K
Ct:) What is mean by Real:| time system? $~'
~d) Whatis mean by v:r;yal machine? B
& e) Define the term Thread? &
7 f)  Whatis mean by-Scheduling? &
2 A &
S =
:::‘\ 4, oy
R ¥ qQ°
5 W = Page 1of 2
N % =



. \'
Q.3 Write short notes on any two of the following.
a) Process Control Block

b) FCFS Schedy

\ ling 3igorithms &
€) Time Sharing Opérating System A7
[8) L)
< 5
Q.4 Answer any qu:})f the following. Y 7
a) Expla!n thg\aifferent Services provided by Operating System? o
b) - Explain thé different Scheduling criteria-in detail. A7
c) What Is;process? Explain process stg‘tje with block diagram? ,_'r‘aCJ
s .} '
o v
Q.5 Answegany one of the following. ,;\@ "g'
a) Define Process Synchronizatian? Explain Dinning Philosophegproblem?
b) l-.bl':_?«p!am SJF Scheduling Algafithms with example? ~
S =
N4 WX
S 3
& >
el &
N q)%
% =
@ '\\“
Qk\ ’\’0 ;\;—;ﬁ
q}q L) s
U ™ Q
o Vv T
& > >
S >
~5,<—2‘ ©
<
v-
Q;\
2 <5
"‘Jé\ *:i:k
& S
N Q
N k7
v N
» v
S (;\ N
e 3
& s
& il g
§ J
S =
(OB@Q &
R 3
s S
o :\‘\
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g c 5
R S 3
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B',S;OA (Semeste . 1) (New) (CBCS) Examination: Oct/Nov-2023%"
gramming and Problem Solving Using ‘C’- Il (BCA1204)=

N
?i?r)‘/e"%oDEllte: Tuesdeﬁ, 05-12-2023 N Max® Marks: 40
e 9:00 AM Tg*11:00 AM S ﬁ)&'
ns i . . lb -~
tructions: ;l.‘)-‘?\!l questions are cornpulso[wf r.‘g' -
52) Figures to the right indi N &
% ght indicate full marks. e 2
Q1 Chgdse co ; Q¥ & 08 &7
N wn rrect alternative for, {he following. > s
R ich of the following ist%uilt function in C language? & <
o~ 3 add) w b) sub() oy o
& C)  printf() n)cg" d) none of th\e%e 5
Y 0y
@0 2)  The parameters which are used at function callin%\h?\re called as .\Q
S a) Actual pararpéters b) FormaFparameters Q\é‘
& c) Dummy Parameters d) Nogeof these 55
§~‘ 3)  Weuse malloc function for . v ,_e}%'
W a) static.memory allocation b) <dynamic memory allocatiofi
e c) bog% and b d)g”none of these &
4 InC g@?inler variable to an integer cg“r('n\’be created by the declaggtion .
a)ggnt p &b) int+p W <
c)Fint &p ~ d) intp* S N
N o A
5)  Every C program should contajggWhich function? & <&
Q7a)  printf() & b) scanf() v RN
K c) show() S d) main() > \e
0{5 Which keyword used to dg“'c‘\lare a C file pointer? 0(3 N
S a) fie N b) FILEP & WD
1658 c) FILE s d) filep &* ,\;S‘
S 7)  Preprocessor directl‘\’/e in C language starts vsa'i\ﬁ symbol. Q>
3 a) 8 o> S S
2 c) $ & d) ¢ S
{S 8)  Which of th?{fc'illowing is not a storage,¢lasses in C? B
S a) volatile? b) auto \030
C) exterh Od) register =
8 & &
Q.2 Answer any’Four of the following v NI 08
a) Whatis function? Y &
b) WHat is pointer? KQ‘ e
c) BXplain local variable with ekample. Q
d) Explain any two inbuilt furictions. "2
e)» Whatis recursion? @ n{‘?
Qﬁ\‘ ) “‘\}} Q}:\V
Q.3 [»Write notes on any Twgof the following. Q7 08
o> a) Nested structure = £
\ = ¥
v b) Types of macros® K
P c) Auto storage ’{:_l‘asses @
S -~ &
o A2 3
C\}‘ ﬂv’ ‘k-
RS ‘ﬂ} X Page 1of2



4 N\
N 0
» & \S/
R > 13 &
Q N =
,.{:) K\:} S LR-DG o
A Q 8>
o4 o ‘:‘“ 0%
. AnSWer_any Two of the followlng é‘@
a)  Write the difference’Between call by value and G_Eh Il by reference. &
b)  Explain different ﬁl‘e opening modes. & <
€) Writea program{o calculate sum of digit of the entered number using X
function. >N > “53
\. v >
& = 08
Q.5 Answer any O e of the following. 6’3 T
a)  Write a | firogram to create structure of\e'.tudent information with apPTOP”ate
data rqembers &
b) ExP_@m different four types of usgrdeflned functions with smtabl@?xample. ~
Q . o \
o N S ul
3 3 ° o
o = R o
4 & S 0’
& ¥ 3 7
b" A’D »ﬂ/
S S & -
Q N > >
S -~
Cs v X
\A v ] S
SV + Q
X > >
© S >
QS \'s @0
D ht‘ ".\\\
f§? Q’\ =
& ry Q"
2 & N
S v 3
RN N A
Q LP) e v
“k‘ (%) ,\'f ™~
g}} \(\ (_Q '-7?
S ? -
o & K Q
e _3 v N
Q & O S
po LY =
o < e X
& S $ s
N\ & §
& 3 3 3
& S & 4
o W o >
s » RS o
& S N o
(3‘ ™~ ol 6’3
v &
5 S
q, = 3
N W ~
& W <
A N\
S S S
& W >
& ~ T
& &
& O >
K\ S 3
& & >
& S S
S & v
S 3 NG
o> N W
X N i
S D o
P < S
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B.C.A (Semestgr - 1) (New) (CBCS) E§§minationl OCUNOV-ZOZniz

§ =
S Web Pr ing - I (BCA1205) e
Day & Date: Wedn \\E\iay 06-12-233:;'3’“"“"9 Q‘«! ( M?g;}‘Marks. 40
Time: 09:00 AM 'I;g\ 1:00 AM S n)e‘
. - Q -
Instructions: 1)_AI'I Questions are compulso S rgg" -
%‘)‘Flgures to the right indicat\e:fﬂll marks. Y ,_ﬁf"
9 = o Q
Q.1 Mu.ltﬁle choice questions »Lg\ . DQ . 08 r\;g\
L\" l\_/\éhich of the following is \a?single global function defined iff the jQuery ncg/
ibrary? v & v
S A jQueyy  o® b $0 2 &
2 C) Queryanalysis_(); d) global() & S
) i Q N O
{}\ 2)  Which is the met!jbd that operates on the return\-‘\f?alue of $()? Q$
S a) show() b) css(f @
g | $ o 3
&£ o) click) © d) done() K
o 3)  Which of the’following sign is used as a sh@rtcut for jQuery? S
> a) the %’sign b)y>the & sign &
c) tllefa sign qc/{ the @ sign =
NS 2 <
4) Whggb\ property helps to initiate the HTTP requests? & g
a) X request > b) location & S
send S d)  write 3 5
] Q ) o Q"
5) ,\."S‘t\rrays in JavaScript are defirlg'\c?by which of the followigg%tatements? Q‘-‘
o> @) ltis an ordered list of valdies  b) Itis an ordeted list of objects <
&“ ¢) ltis an ordered list of:string d) Itis an ordered list of functions &V
ol . ; . O QY
\,«6) Which of the following L\LSLes scripted HTTP? N o
& a) XML 5 b) HTMLS &
> c) Ajax & d) css? Y
&foQ 7) What will be the p_:t?t\put of the following Jangcript code? 6‘3'
o <p id="demo"></p> & >
& <script> 4V & &
o function myFunction( ) D N
g (X hal )
E { O 6\ ' @\_
var s{r'= "Tables"; o AN
varpatt1 = /tables/ i; o &
V& result = str.match(patt1)y S
sdocument. getElementByfi ("demo”) . innerHTML = reshit;
B >
Q A
Escript> %QQ A
o% a) Tables (06‘ b) tables &
A2 ©) Undefined Ko d) Eror o
r{:ﬁ) Which of the follovgjr% attribute can hold the Java%cript version?
S a) LANGUAG!;::'\— b) SCRIPT
Y c) VERSIONg d) Nghe of the above
& & &
A \Z
O ) <
8 Ny N
5 4 q*
> +

o) o
& oV & Page 1 of 2




o <& o
Q.2 Answer any four of the forl‘lbwlng- F\S o)“-‘\
a)  Data types in JavaSéript. @Y o
b)  Explain Math() method. & N
€)  Whatis variable§in JavaScript? 47 qQ~
d) Whatis synte@bf JQuery? (‘(‘9 ) NI
e)  Write the syntax of switch statement in javascript. =)
f)  Explain css() in JQuery. & Y
Q3 A) write Dotes on any one of the following. o
1) String functions in JAVASCRLPT. \r,?’ ~
2) &Explain ID selectors in JQq\g\ry? LV 05 q,“
B) Solve / short answer 3 o 2
AExplain operators in javascrift. 2 P o
) ™
O > $ g
X 3 08 o
Q.4 Answer any Two of the folloﬁing. =0 ¥
§a) Explain Events in Jngry. . N le Q;f‘v
b)) Whatis if else if sta&a}nent in JavaScript? Explain with suitable example. &
& ©  Whatis validation{{p javascript, Q& o
Ry : ~ >
Q.5 Answer any one o(gl?e following. = c;é\ 08
ﬁ a) Event handing in Javascript. o . NF‘
\;;\3\ b)  Write the sypiax of fading and sliding effects in jQuery? and explalnglt
o suitable example. "> R
‘ c’.) QY A
.;.‘\‘ 3% ':\3}
R .
\& (C\:\ (‘?/ .
& N A >
S & & o
\ Ny oY *f‘z
o \\“ "y "?‘
) Q_“ o "\,
v N © ©
r& Q\ ™ AN
R N s oy
§ & & &
> S‘;v '&\\‘? q\:\/
$ S S &
& % o o
@ & N o
8 g 3 3
N N ar N
Q & N &
) > Q AN
S o NI
Q S =
F O L
9 v 3
& v AN
NS ~N x
oy r—} N
0 S v
& 3 Q
As oy &
.“9" > ol
& 3 3
& ©
) q O
4% + D
o §
v ) q
3 N q’? R
; QG J\b @
by
S o N
Q O, e
S o &
q > Page 2 of 2
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B.C.A. (Seme\s\fe‘r -1l) (New) (CBCS) | Examlnatlon Oct/Nov-2023°

‘{‘_‘ A1 206 o
Day & Date: Thursddy. 07- -12 zc(;Sraph Theory (BC ) Mai Marks: 40
Time: 09:00 AM Taxi 1400 Ag -2 Q.\ A
'
Instructions : 14)’AII questions are compulso;ya Y
Draw neat diagrams and _gtve equations wherever necessal’y
& > 3) Figures to the right mdrcate full marks. ,g\'
4) Use of logarithmic tabLe and calculator is allowed. = ;
N -
MUltlple choice questions. o-;‘S\ (':f"Q 97’/
A graph having only oné component is called _tgraph. 2V
a)  disconnected.~ b) connegfed &
c) void \;" d) nonepf these B
The ring sum o\f‘e(graph G with itself is - q_ \’LS"
a)  complete'graph b) QSW graph 2
c) tree D d) fione of these K\
) -
The ordegof adjacency matrix is 2 <
a) rqc? qb') nxgq &>
c) JFxn +V'd) none of these (0*(*
A gg%ph G in which there is exactl CE}ne path between everyé))a"”r of vertices
alled S
05) tree o b) complete graph
Ac) regular graph \{?o d) null graph 8’ 2
If a connected graph G haﬁs‘*‘a then its edge connectlwty is one. 40?-
a) loop & b) parallefedge St
c) cutedge ?.SE d) none&‘)f these >
A graph having Hamiitonian path is called "3 graph. n\‘?«Q
a) Eulerian & b) Hamiltonian ,Q'}'
c) D:sconnect;ed d)g’None of these _©
4+ O
A complete gra'bh K8is__ regular»- &
a) 8 J'\ \j b) 64 5‘”
c) 16O {\ d) 7 \\E?
By solvn:{g Chinese postman problgm tofind . {_3‘
a) Trall & b) Eulerian circuit Jf—z
c) Hamiltonian path ,Q’ d) None of these{?
\ N Jie)
Answé]' the following questlonS\ (Any Four) 6\‘4’ 08
‘Draw the graph K2,2 \,53 o
Defme compete graph. (, (\9‘
Draw a graph K4. ,z.\ q\,
Draw a graph which. I3 neither Eulerian nor Hamr\@oman
Define tree. J{—)‘ QO
Define spanning-graph. &
Y o
& &
' \=
S <
a? N
(o i

Re > Page1of3
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Q3 wiit > S i
fite Short Notes (Any Two) = Og
2) Flr:geé'?l;() on trail _qr’ﬁ*l circuit, el @60
G2 o:{ipb following graph., & >
S V, U X
S &
KN .
X &
<Q
& )
?\.\‘ v V3 > '\b
© >
3)  sofba ) e &
rg e the Chinese postman prob!\em. "9 ‘
§ 33 ° >
N el # 3 Sl
n
:\\ b "\"";Q \ﬂs)/
& e‘f "Q’p v
NG ¢ > ¥
S T 3 >
) & .
R & N
& en @ * >
o 3 F
8 " 3
s G & -
4 @ & A "3
5 Q4 A Towi 5 >
¢ . nswer the fo:l?owmg questions (Any Two)$v & 08
! Write fote on matrix representations of Graph. <~
) Flnd,\u‘hlc;? and ring sum of the follocv;(i?lg two graphs. A
S
\l\g(‘
=
&
N .
S
v
&
o~
&

Page 2 0f3
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C.A. (Semester - 11) (New) (CBCS) Examination: OcUNov-zggs
5 D!_gﬁtal Fundamentals of Computer (BCA1208)
ay & Date: Salurqay, 09-12-2023 © Max. Marks: 40
Time: 09:00 AM Jo 11:00 AM s &
Instrt:ctionsa\1:)‘AIl queslions are compulsoﬁft ,‘C':a‘"? \
~52) Draw neat diagrams and'give equations wherever necessary. ¥
& 3) Figures to the right indj&ate full marks. & e
3‘;\' 4) Non programmable galculators are allowed. = i
PR ._:\" :7 0,
Q.1 \\'ﬁulliple choice questions.gn\ & (\-‘O‘JB
& 1) IC is used as.tounter. & (\"J
& a) 7490 ke b) 7474 S’
§@ c) 7432 \,::{9 d) 74%*’ A
S 2) ____ isunivefsal gate. o~ 3’7‘3
& a) AND _© b) ,OR 2
\5\\ c) NOT 3 d) & "‘NAND _:gr
e .] wa
o 3) Half adder performs additionof _____ bit. 2
a) 8- b) 6 K
c) & ~d) 2
Q‘R N _‘::._ \
4)  Asynchronous counter uses ____ clock. 2 ==
8) separate ~ b)) common Q‘;‘\
vec)  dual o d) synchronou$” &
L SR . <l Q ~
5> Flipflopis device. - Ry R
& a) monostable N b) unstable w
ay c) bistable & d) astable S
, . N )
QC‘\' 6) RSflip flop is set whpés input is X cﬁo\t' n&‘
D a) 0 > b) N ol
< A - N
R c) 00 R d) S
& 7)) 4is Gifeuit. & kR
& a) multiplexer by demultiplexer Q
~ N b
q~ c) encoger &d) d ecoder )
] 8) flip.flop is used to construq@h’iift register. \@\
a) RS & b)) JK &
c) \@MSJK & 9 o -
<= o N
Q.2 Answerany four of the followinig. o 08
1) Draw symbol of NAND, NOR gate. Q
2) =*Draw the block diagram of half adder. A
3)>" Write definition of combinational circuit. {{?
Qfd) Explain application of:flip flop. oo
£>5) Explain concept ofmultiplexer N
S’ 6) Write disadvantage’s of RS flip flop. S
L \? &
) Ny I
S ,\ ]
& e =
\’DQ\ n@" (_3@
P A ~.‘:\L Page 1of 2
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Q‘ .,
Q3 Answ Nic > 3
er any two of the t{’o\lowlng. = s
a) EXplaEn construction’of OR and AND gate usingjﬁOR gate. o
Expla!n decoder with diagram. & 3
€)  Explain SIPO sift register. Ay 5
g ol £ o8
Q4 Answer any Two of the following. <V &
3)  Explain 4:2%encoder. & o
Explain full adder using gates. D N
c) ExptanQ? € Morgan's theorem with Idéical diagram. 3
5 o & 08 =
Q.5 Answef.any One of the following,.~ "?’ il
a) Explain multiplexer and demultiplexer with logical diagram. o Rl
b)ﬂg‘}flassify counter. Explain asyfhchronous 3 bit up down counﬁ[\er with block RS
v diagram. < ) a7
o A o v
§ ‘i\') at. LY
D T <l Y
3 Q - o)
't‘.'Q iy = S’
N & N :
.. S Q< O
& WV Y
S v 2
\‘:\\ 4 U
N N = )
- oy g ]
Q S s \T
A3 A 4 s
né} "\\}‘ 6\ ';\.:\
e e &) Q
© S & '
"N C f
g NG & &
& & 3
Q S al
8 S 3 S
Y Q\ 3
\b \‘§\ "y =
N = S &
© S v N
A o v g
Q & o ©
o S = i
o 3 >
) Q¢ N )
L L— >
A < < v
N~ ) © >
S P~ 3 o~
S S 7 1
& N & Q
S & N S
& o o J
oS Q(?'\\ & =
b 5 N
f\b ~
SIDQ QS’ \Il’“g
& N S
Ay D)
N S N
; .
Q S o
N & S
& f &
W - ‘-
Ny > f;}r
= A~
3 5 3
o 2 §
& S g
o S 3
Q; 2 S
N fe) o-)
S > 3
Q & NI
D > Q‘?
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Day &
Time:

ol r"‘P "?
Bl (Semesfer . 1) (vew) (cBCS) Examination: OctiNov-2023
ntroduction of Microprocessor ahd Interfacing (BCA1 209)*
Date: Sunday210-12-2023 N Max. Marks: 40
08:00 AM To:11:00 AM 3

—
L

> S
hq 4]

Instructions: ,1 )-All questions are compu|sor9“;'L n@“ o
er) Draw neat diagrams andgi@e equations wherever necee:,@;fry. o 2
n§" 3) Figures to the right ind}gé\le full marks. S X
o7 4) Use of logarithmic tabfe and calculator is allowed. o o
Q (At. Wts.: H=1, C=1§f‘0=16. N= 14, Na =23, Cl = %_;5) g’g’bl
Q.1 \_gChoose correct alternative for the following. @ i
1) PCis____ bitin 8085 microprocessor. = S
& a) 8 N b) 16 g% o
D c) 20 A . d) 30 ¥ &
QQ 2) bus is uhi direct; l &
& sis ghu directional. ~ e
& a) Data & b) Address S
& c) Bothgd b d)>None gL
: 3) |o§fca| group instruction. 2 &
a) Mv| \\rb) Add ¢ "‘r \
c) LORA ' d) loop & s
4) _&  isadecrementin push op,a_r\;tion. AP ol
Za) SP & b) BP & &
&e) PC RS d) Nome T
Q)r:3 data transfer CPU d@és not involve. el A
A a) DMA & b) Interrue&gmmated S
N c) None < d) Al @ Q
S < 5 &
~ 6) Size of accumulator in"8085 is bit. S R
Ny a) 16 = b) 20¥ &
N ) -
£?D c) 8 rﬁ‘\‘“ d)é@ S
S 7) Own memory,of CPU called as < NGh
u a) cache b) RAM =
G c) ROM- Qd) register & ”
8) 8085 is\.&“} pin microprocesso Q‘-’ <
a) 40’ '_.{" b) 20 *E:t
c) 10 & d) 30 S
A s ')
g S o
Q.2 Answer any four of the following. a, 08
1) QDefine data Bus. oS &
2).> Define machine Cycle. & o
3) Define interrupt. I \\Q\
+4) Define DMA data transfer. =
" 5) Define Pop Operation. N
Y 6) Define flag register. By
Q 5 NG
~ N
S S S
§ & g
S Ry ) Page 1of 2
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5 o
~ =2 .
“ N <
A° 3 ~
S §  gLRDG18 "
‘-\:-\ Q- (%
Q.3 Answer any two of the following. ,\‘? S
a) Explain IO mapped /O interfacing. ,\‘0 2
b) Explain logical instuctions. O .{:‘?
c€) Explain programred i/o data transfer. ‘5{? &
o ¢ o R\ .:':‘ 08
4 Answer any two:of the following. E ol =
a) Write features of 8085. N , =
b) Define addressing mode and gives theclassification of it. F
c) Explair\D‘MA data transfer. ~ n'”)v :
-~ (=) y
O B o 08 L3
Q.5 Answegany One of the following. »~ _ o e
a) Draw and explain architecture of 8085 MICroprocessor. R W
b) Befine instruction set and givés the classification ofit. i —
2> .::‘ 3 a7
& & & &
~ ~ S
O A “ o)c ~
N \ oS )
3 > N >
N & S N
& & & &
) A >
S 3 S &
Q ‘\Q ’\\.— 5—?
\3: 2y ? 3
RN S A =
A8 S e N
~ A o2 Q
& s & ~c
S & -
S u &
= S 5
g € < >
\\ ey S ;:\’::'
S 5 A2 Q-
& & &’ 3
Q& & v <
v & o S
v e Q 2
WS \\v- ) ,r,?’
S A7 > &
) S q\'.".is &
S & g X
N v - S
¥ o by =
S 3 N o
< N ,\-’".) &2
> ™
Q‘:\ .-\Q "§)
g fn,” =
& 2 &
& Q =
= N =
> S &
o & ﬂ'?
Cond o~ %
@ Cf} "36\
< N %
T o 2
~ N N
k) o ¥
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%
QaVanced Programming'in C C (19409202) < _
Day & Date: Sunda 03 12-2023 i " g M_gx. Marks: 40

T
ime: 09:00 AM Td\ 1:00 AM Q~$‘\ n;:}
Ins ¥ 3 :
tructions: 1) Aﬂ questions are compulsory.g & >
s glgures to the right |nd1catetfull marks. @ -5'.0?
& ) Draw neat diagrams wh%é\/er necessary- S 1y
o 08
Q.1 %hoxse the correct alternative' Y cific Qn?
$_‘\ task—— isa self-contamed subprogram that is meantot g'do some spe r{?’
. ;\ \ O
& _
& a) structure & b) union & &
X‘@ c) function Q‘} d) none ofthese O
- o 3 Q
Q@\ 2) ;l'he : stalement is used in a function to refurn a value to the calllng &
@J‘— unction. S o \@
< 2)) cotntlnlie b) fbreak S
© return; d). o “goto -
3) AI;;unc?Ts in the program can access]ajz%d modify variat%!{é'_S)
a ~ ) global o
c) & oth a) & b) <’ d) None of these éj—‘ =
4) lﬂ:ra variable is initialized on[ybnce Ay qu:\\
'\‘c)i s;tatlct o}a'-" b) extern o NI
register < d) none of theSe =
n;» S X
{g)z Data of different types can Qe grouped together under’a smgle name using -{9
& T ET e 3
Q> S d) none\c‘ff these &
N 6) A structure that contaifis pointers to structures pf" ts own type is known as _@?"__
& a) self-referentialstructure b) neSted structure oY
& c) pointer to pof?zter d) (Pointer to structure ]
& 7) is used: l;o undefine a defined magro. &S
& a) # und(igne b #undef &
: c) #ifnde Q'd)  None of these >
8) A structt,l\ré named FILE is defined :r'f‘lhe file QQ
a) cgnio.h q{V b) string.h NI
c). ~§tdlo h & d) math.h o~
o o
»
Q.2 Answeq' the following (Any Fotﬂ Q& 08
What is function prototype ar
b)o%Vhat are the local varraQes7 nS:’
.q) What is pointer? Howpomters are declared and deflﬁ’ed‘?
r“c:l) Explain sizeof() ope@tor Q°
Q? e) Whatis nested strdc‘lure" 5\
r_g_(\' f) Explain and getchar() and putchar() function @Q
o ,\'b \"-__O
S S S
D ) 3
> & Q°
o % 3
N Ke o Page 1of2
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Q.3 Write short notes (Any.Two) a7 -
a) Recursion o o ~
b) Dynamic Mcmprf/ Allocation & &
c) Pointer to Pojrtbr v -
-f:?'. ("'J - 08
Q.4 Answer the following (Any Two) s A7
a) Explain array of structures. & , e .
b) Write gprogram that swaps two numﬁer using pointers. < s -~
c) Wharis file? What are the differerfifile opening modes? AL ¥
~ ¥ Y e °
- e} §
Q.5 Answer the following (Any One);< < S
a) _:\"Explain storage classes. . * & b
b);™ Explain call by value and call by reference. A V2
e ¥ e -
2 & o
\'bQ ,\':z' L\:‘"" --.U
& S P 5
S‘\ .(v '“:c' -.fs’/(
S & & &
\‘.t_ :';‘\ /g”u "‘:':.
= IS ) o
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v =
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5 S K &
% -
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Day & Date: Thursg
Time: 09:00 AM To3
v

Instructions: 1)All questions are compulsopy’ gq
<2) Draw neat diagrams and give equations wherever nece;\sv ry.

-

1:00 AM

B.C.A. (Semegfer - 1l) (Old) (CBCS) f_:fﬁmination: OcUNov-Zogg
“Basics of Mathematics™ Il (19409206)
&. 07-12-2023 .

Sct[PJ

N
-k

Max Marks: 40

A
()
[} ‘,'

@33 3) Figures to the right indicate full marks. Q ,-\"'?
- 4) Use of calculator is all§ied. > e
oY ~ &) D
: Sy R, 8.7
Q.1 €hoose the correct alternative. & (S'/
1) The number of edgesin complete graph is K; n RS
& a) 21 b) 42 & i
& c) 49 oy 9 7 & S
= 2) A null graph havifg 'n’ vertices is regular:graph. &
& a) n ) b) nt1 Z
> c) o & d) . 'None of these S
e .\:Q- V) X s -
& 3)  The two of more edges are said to be pafallel edges if they havingg™
: end verfices. > N
a) _ultiple ~“b) Same ‘,0\“
) 2 Large < d) None of these N
- . ) =
4) Agraph without loop & parallel edge is called as graph. N
X p g : aj :
@) Pseudo P b) Simple LD S+
& ¢)  Multiple & d) None of tr]gée Q-;&‘
)7 A tree with 7-vertices has <& number of edges. & &
) I ¢ & b) 6 O S
RS c) 8 - d) Nong;of these A2
Q' v S LY
=~ 6)  Chinese postman problem is a particular case of graph. Y
& a) Eulerian & b) Hamiltonian A
S c) Bothagh d)< Neither a nor b g
S ‘-' . . ..\'._ o
> 7) In 2 tree ﬂlere;éx:sts path in between every pair of vertices. Qj’
o . ., bl o)
e a) Unigue b) No 0
X c) Morgthan one A7 d) Exactlwo N
A0 \J :_—:.
8) Ina grqgh, every vertex has degrgp is called as regulaﬁ:graph.
a) ,0dd " " b) Even &
c) . “Same oy d) None of these
& > >
'(;“T‘ o ; hs)
‘7"'._ o S
~= ,fr_,* A J
o & %
‘7 - ,rﬁ"
< & A,
a7 > &
,P{:\"’ f t(. -'I'J’
(f\ ,"’j g ‘ e’
(‘I:;‘ N (‘:_J o ) "
\.?'" f{“” .l!f
of' r\'/’ R Page 10l 3
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A <o N
ri:) ‘§ SLR-DG-24 0«‘
Q.2 AnSer any{ n\"-‘.:'b \g Oﬁ\
a) Doflr F!' our of the following quostions. 9 >
b) b @ Psoudo graphwith oxample, ke 9
. raw tho graphs K58 N, A &
d)) Defino length of ffath, o N
raw all DOSSiE[d sub graphs of following gr_é‘gh. ‘.{‘3‘;\
) .f\) g
N =
AL \g
\‘\:_Q Vi V2 &
) A
¥ ©
A;v‘:" €4 O
r NS ry 3
e) D&q% the complement of followloﬁ graph. @ o
‘\9 a0 ’\\ ©°
.-\\/ S) A
'\\\ a b O f‘ag
S ) v
O\ 2 qg
< o S
N )
{bq nJQ ,\':‘
& & .
" v Q
- Q) o~
S \Y >
Q S d S
N Q . N
S N G S
o) ) w
n o o\ Q"
f) Define TLQe with example. D g
{(\ nc ny
Q.3 Write shqﬁ‘notes on (Any Two) 6\\\ é":r 08
a) Def\_\m‘é complete bipartite graph & q’\raw the graph K, 3 & K43 & R
b) Wiite the note on Chinese postmaf problem. Q’CJ Q‘\\
c) aExplain Hamiltonian graph withz€xample. v N
S e P v S
r({:; "‘:\;‘L 6\\ ’o-;r
Q.4 cAnswer the following questioh's. (Any Two) = Q8
\Q«a) Find the adjacency and iftidence matrix for the following graph. A
S e e -O\rb Qq'?
a v, 2 . ______" ) ! o '{9/
) ) = o
R 4 D A
R Vg g8 N}
s\@ e, i :b é\
N & “ X
< o
= v? ) es Va - \&\
2) a) Drawstﬁe graph which is neithe{fEuler circuit nor Hamilton cydle.
b) Drg_\?u the graph which is Harplhon cycle but not Euler Cil'Clil\ft'.
3) By stahfng with vertex v, solve )\t\?! travelling salesman problem for the
follgwing graph. S &
v N
S
S 7 &
}..:g') 14 1 10 .{\\;
N a b &
™ 9 _
v <
O 5 6 3
r§" 1 8 2
N g
& &
Qg . 11 d N
o > = Page 2 0f 3
@é\ o &
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6\ {;‘: A\\r\
Qs A w‘f> & SLR-DG-24 &
swer Ny one of \z & 03;\
a) What is Shortesttge tgﬁ_ﬁwmg questions. Q;“ _ _ hortest 33
spannmg tree ang l_;a ning tree? By using Kruskdl's algorithm find the sho o
23S weight from the following graph. @\
: 3 v &
é;'r
&
&
f‘Jc’)\
N
b) 1§ & N
v . . A}
.\\'é-) Eitr?ctjeu% Prove Shaking ha‘ﬁd lemma. g’\{\ fé;
A € union of followihg graphs. > S

= Page 3 of 3
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B.C.A. (Semqs‘ter - ) (Old) (CBCS) | E%?ammatlon OctINov-2023

Day & Date: Satg Introduction to Microprqbessor (19409208) 4 4G
Time: 09:00 AM %q%' 83 ;1\512023 ? ,'\V!a . Marks:
Instru ’g 05
Ctions: 1: ’[\3" Questions are compulsor§ s »
QS; Fraw neat diagrams and gTve equations wherever necessary e
w 0 Ulgures to the right indjcate full marks. g;- A i
\Q; (Astevc\)ift ‘Ogarltllhmlc tablé and calculator is allowed. \“ o
> S C12016N14 Na=23, Cl= 355) L A’
Q 1$\(T;I|)ult|pplz choice questlons 035 nO,,'B
a?s) 2) U of 8085 m1croprocessor consists of w o
& ) accumulator,wanlhmellc logic circuits and flve\flags =
R o accumulatory arithmetic and logic circuits j.z 8
Q@ %) accumulator temporary register, arithmetic, logic circuits and five flags
..\:b , accumulétor temporary register, arlthmetlc and logic circuits .\C?O
A ) ';;19 I:\tel 8086 microprocessor is a Eprocessor. -_S’K
> o a%it:'l bj> 32 bit <
& d) 4 bit N
v =
3) In)&ﬁ‘;cg;gear 8086 m:croprocessogwas introduced? ,;:»\ ¢
b 1979 2 »
\b) 1977 & d; 1981 @Q\ &
4)0 Which of the following is a tyge of microprocessor ___jf' .}g
o> @) CIsc & b) RISC ~ T
& c) EPIC S d)  Allof the'above o
0}.‘\'\' S)  What s the word lengthof an 8- bit mlcroproce39@r né\
E: a) 8- bits64bits & b)  4-bifs-32 bits &’
D c) 8- bits-16 bits: d)  8bits-32 bits R
5:-? 6) Whatis true aboit microprocessor? -:“‘ és.‘\
‘\@ a) Mlcroprocessor is a controlling unit Qf micro computer D
§. b) ltis fabrtcated on a small chip capable of performing ALU operanons
& c) ltis also communicate with the giher devices connected to it &
- d) Alofthis Q_« \‘\”
<
7) In 8- bleICFopFOCESSOr how many opcodes are present? Q»i-}
a) 246 ,]j/ b) 278 K3
C)s ~250 d d) 256 g‘:S'
8) W“hlch of the following is q\speual purpose register of tCroprocessoﬂ
\:*“a) Program counter b) lnstructlo.r‘h'egtster
c) Accumulator (05\” d) Tempm@ry register
Q.2 rg\nswer the following LAny Four) ‘“"’ 08
Qr{’-‘ a) Whatare the types: of addressing mode in 808Qm|croprocessor’?
S b) What is the mlcgoprocessor’? Give the power supply and clock frequency of 8085.

l c) Whatare the purpose of use SID and SODélﬁes?

d) Explain prlorlfy interrupts of 80857 \
o e) Define mstructlon cycle, machine cyclez and T-state.
mQ\' ﬁ - Q\-q
0 o7 A

o
\C_gQ hn;\/ ‘:;t- Page1of2
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N> q SLR DG-£°
IS & 0
Q.3 Write Short Notes (Any_"f‘wo) X T essor _,,_-'
a) Draw and explain the basic bus system of 8085;microproc 2eor =
b) Explain how the instructions are classified in 8085 mncrppfocemo it =
c) Write an assembly language program to multiply and divide a<
numbers. ¥ ~ N
o v o 02
Q.4 Answer the following (Any Two) & fer K-
a) Write lh‘gti'_fﬁifference between microprocessor and microcontrolier. . .,
b) Explain the features of 8085 in detaif’ N
. all. . ’ mple. =
c) Explgin the various addressing modes of 8085 microprocessor ‘r’“_,ﬂ" examp 5
& & 2 08 <
Q.5 Answer the following (Any One)= e ssOf P
a {{E'xplain with neat block diagfam the architecture of 8085 m;émproce g &
b)Y Describe different types ofinterrupts used in 8085 mluopépceSSOf- £
$ o &
N A ©
) Q ' g
3 Sy | _::-\ -~
\‘7.' Al S R >
& S "l >
@ - :(" —~
N S el L
Q <O © N
\‘}\— S # L ‘:‘\
B 8
S S %
w iy O \.‘C
A {v —
$ < ~
< o - '
g $ ; B
~ D S S
& N ) 3
© a"” & <
\ )
& \f? o~ =
Qe ) o -
7 -~ S >
Q 3 i
& Q S S
S R & o
QC‘) s e R
t\ .“-"‘: \“? r:.dJ
S <5 < o
) - N o
{b\ .'\,\' ~ QJ
Q U3 8 -,
\C? (@) ~ &Y
A \‘:" @ P
= v N £
= > < )
g wy ;\v Z
' o N F
5"5: r‘é"v 'Q‘;
\- T
o o S
- F & L
< S
33“- 2
3 S &
© NG 32
Ao - Q%
A = &~
S BN S
W i -
Hs - QO
N = Y
A Q
Y s Ny
o o S
o ,\"' N
S A Lo
Q W x5
N > §
E"’O :;)-’ > Page2cof2
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No. B S s
) - 232'$
B.C.A. (Semesfer - ) (O1d) (CBCS) mmatlon Oct/Nov 20&_
Day & Dafss s Software Engineerings’ i1 (19409209) s Marks: 40
Time: 0 unday310-12-2023 N &
9:00 AM To: 11:00 AM N o -
\N v ™
Instructions:1) All questions are compulso & \il
& ~2) Figures to the right place ipdicates full marks. & KD
Q.1 & : 08 <
Mult!ple choice question dl 3\ a7
1L\ Decision table is a combmatmn of ___- de tions ,a?/
C\ a) Stubs and condmons b) chdltxonsan ae \’:>
& c) Inputand outpuD d) Noneof these >
S 2 *:- R
g ) Data dictionary is also calledas____- " S
S a) Catalog .V b) Centl‘él reposttory o@Q
& c) BothA&B d) None of these &
N 3)  Anentity in ER Model is a real world bemg \Wh'Ch has some propemg\
5 called . <
24 a) Attributes b)) ? Relationship <L
c) Domaln rd) None of these <
4) Theelation between data items an&removing unnecessary £ data item is N
o Q SN
Qe wn as : {\\ rj <;'.‘
8 ERD & b) DFD & &
c) Normalization 595' d) None of the.Se’ <
51:“ The testing in which code Lschecked” G o??
\. a) Black boxtesting b) White box < testing &
\.S- c) Red box testing \.\\‘ d) Green@ox testing &
\\Q 6) Level-O DFD is similaf to . fno &
S a) Use case dlagrﬁm b) GQ\"text diagram \:9"
D\-'-S‘ c) System dlagram d) Jone of the above N
.__j? 7) Which of the fo1low1ng system mplemen{aﬁ'on approach should be useﬁ if
,\_§ you want to run the old system and theﬁew system at the same time” for a
R specified period? i
‘ a) Direct N b) Pilot S
c) phased Q‘V d) Parallel &
8) Whlc:h of the following is not a .Q“ontent of data dictionary? {;-
a) ~Physical Location of da@ b) Data composltion
‘) Data Aliases S d) None of thege
N &
Q.2 Angwer any four of the followmg ,é"’ 08
af> Whatis Flowchart? = &
~B) Whatis the purposebf DFD? S
<“c) Whatis Data chtiqnary’? =
\.—S’ d) Define the term Software Testing. zg‘\
'9\ e) Whatis Normahzatlon’? S
“ f) Wirite the steps of traditional approach to J\‘mplementation.
N r\. N
= & f
) N Page 1 of 2
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<
Q.3 _'\ 5 08“::}
i ) @
-3 Write short notes on any’two of the following. = o)
1) White Box Testing ~ “ 2
2) HIPOChart. .- & <3
3) State the prinprIES of flowcharting Qn’} A3
Q4 o, K4 43 08
. :mswer any twa: ‘of the following. o -
) Explain the Various contents of Data dictionary. ,\(
2) Draw a Detision tree for following casestudy. P
A Co-operative bank XYZ will grant loans under the following condltfons
i) Ifa customer has an account. whh the bank and has no loan cf,' 7 -~
Soutstanding, loan will be granted N v <
||)f‘: If a customer has an acco\]nt with the bank but some arr]o’unt is o
.«(‘9 outstanding from previoys loan, then loan will be granted' if special &
\\" management approval: ‘Is obtained. ’$ a7
S ii)  Rejecl loan appllcahon in all other cases. a‘?‘-‘)' o~
£3)  Explain various symbols Used in DFD. 2 ~
oy R S
= ™~
QQS Answer any One of theJollowmg ‘ Q“‘\ I 0d
@ a) Draw a CLD and first level DFD for College Admission System. g
Q@ b) Define the term,Entity, Attribute and Relationshlp “Explain types of wa“
= relationship with example. o
== > ’ <>
h‘?“ A S ,;_g
o ) '{? \u<—2 )
. {'5’ >
& N A\
& & R .
= QO {_C}" =
\h N o) ";’“
o> 6-__79 ’_.é\/ J\g
f\ CQ -
oy N 3 ‘2l
6\/. ‘;.S'E‘\ '.9\ (r'\\
. )
A & S &
A S Q )
S & & v
S & = o
\"‘Q "'):'\'\ ':‘g\- ('J‘
O r""‘( Q\__ P....
‘.-5? v .;:L‘ g\\
x> o S .‘g‘v
& & .,;?_ i
~ B &
: = & >
N o =
5 ¥ I
2 A g
-r‘_:‘:‘- '\Q\ {‘-J\
Q- 3 A
A g & S
= & &
- (e )
oy NS A
A = Y
\“DQ "\‘-:}' ré'_‘f,x
& g .
A 3 N
“'\V o \'DQ
S S
s y KN
S O AN
o )
g
=4 -~
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S\_R‘DG-ZB . =
= N\
3 - Se\\\P
- A7 =
l‘semes‘ér_ 111} (NQW\ lCueCcs) Examination: 00\!“0"-7-0?{?
oy & Ber ] e:t Orfentea Programming Using Java — | BCANION -
kg v - V3 2 :
Time: 09300 AN, T \a‘(;n d\?\\\? o2 >
Instructionsa: YA qurestions are mmmﬁsm‘!t:

B.C.A.
obn

Wiax: Narks:. ag
~ M) Figures to the rig ndicate fult marnks .
Q.1 Chooset -

= _he correct aherna\iveg‘?!:rom the t " i
’)_;“ VWhiach of the fofowing cpton eads m?& 3:;\3‘3“\“ and security of Java.
P 3) Byte code s execuned by I\ X
S B)  The appier makes the Java cods secure and pafable
& C) Use of exception handing S
& d4) Dynamic nding between obiects \; ’
Koy 2) Artays m ava ate : >
& a) object re’erences v) ob_'{ec.\
.;-\ 3 C) primitiveé data type d) None of \hese
g 3) WWhich of ¥hese cannot be used for a variable name n Java?
a) identifrer & keyword b} dentfier =
c) keyword 4) None of the above
o ™~ -~
4) WHeth of the following is not an OOPS concept In Java? 3
&) Potymorphism =~ B)  \nhettance &
) Compilation = d)  Encapsuatony
5).55 Which of this keyword mustie used 1o inhert a cassT
SV a)  super 3 b)  \nis ~
o c) extemt & d)  exends
¥ ~ )
S0 8) Which of these keywotds are used ‘o define an abstrack <\
> a) abst x b) absitact
< c) Abstract ré\ d) auslract dass
o5’ 7) Which of these_\-gk!ywords. \s not a pant ot eﬁ(‘cep\‘\on narnv
o~ a) \ry R )= finaly
s c) thrown- d) caweh
~ - A
- A i
8)  Which of these packages contains abstract keyword
a) javalang A0 D) javaaw
c) java.io ,\“.\a d) Javasys
4 -
. o
5;; ,\J
[ n~
N
: -t
= S
\ ~9
> 32
“ i,
o Ny
oV <
RN -
o, ¥ o 3
: \“" » \
P T . d
., ’ ; v
. 'f b |
- L «
g ~ o
. r"-‘. \\ \
i" ~ LY :A\""‘ (‘ '« i
. A\ W
/ .
I gi |
& B ¥



'\'\:’ i (,:,"" SV
”‘Q Q" _ 8 L)
Q 2 (%) 4 O’ . SLR-DG 2 =
"¢ Answor 4 v & .
a) {;“lsfjfmlr of tho folﬁowlng_ - 08,.{;’
ava progranim| s N
2; Deafing String in j%Yh_ ning? W fj{
0 hatis Inhoritgrige? &
o) Whnt is Intorfapo? & S
0 Dofina quRiract Class? R &
ne Clsés and objeclt in java? _'\C,»‘ ';~.-.
ert ‘\‘ \ ":'-
a) Ovar'l't&f“,':m“ on any two of the fou?):vlng. & 08
) s Short hole on Switch statement in Java. i .
c) wri{e s ort nole on String buffer.class melhod i &
© hort note on Polymorph]§m_ ' WV R
A O\ 2 .:\J w7
waé; E:nly TWo of the following o 08 ,J'.';f.“
S l'?a? i: céfffereqt of FealL:gEs of Java, f;Q &
U€)  Whatis mﬁﬁpgon Handling? Explain Try-catch block with example? 7
° ng,{Load? Explain method overloa(gfvlth example? e
A & 3"
Nswer any one of ttl”ébfollowlng, \9 Q.:}" 08
» >

a)  Wha q i
d tis Array?-Explain different types of ArrayJn java.
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(Semester Ill) (New) (CBCS) Examinatlon O(:tINoV-2023
Day & Date: 11 S Data Structure Uslng '¢'.1 (BCA1302) {—' . 40
ime: 09:09 M\ﬂurs@y' 14-12-2023 ~ Max. Marks:
Inst <0 11:00 AM QJ- &
ruc "
tions 1TAII questions are compulsorSr o &
3)F Dir;‘;‘lf nelal ?}iagrams and.give equations wherever neccssafv o
& €S lo the right indjgate full marks. » ©@
a A 4) Use of logarithmic tabié and calculator is allowed. ;_‘\ S
A N;ultl%ze chtmce questions. \‘ ,53\ ch?
" € situation wh v
\,1;3‘* a)  Undefier en |néa finked list STARJ) NUOL\l;elelowcf, " ‘;\-.;
& €) Houseful va' d)  Saturated s
& 2)  Which of the foIlowmg is non-liner data slructure*i(‘;2 »,QJ
& a) Stacks ,» b)  Ljst S
3 c) Strings. 2
D ngeN d) c-None of these -~
g;v 3) fO{m of access is used to add and remove nodes from a quétle.
; a)) ékf;ti) Last In First Qut g) FIFO, First In First 9&
c oth aand b .a4)  None of these =
&
4) ntheses checker program wo[ﬂd be best mplementedj&ﬁng i,
%) Stack & b)) Queue S =
€) Linked List N d) Allof thesa * 43\
5)’\ Wh!Ch of the following linked Jist does not consist NULijmks'? =
Q,?": a)  Single linked list \ge b) Double Im\ked list (gfr
RS c) Circular linked IISt§ d) None A
\,‘g\ 6) A rlrlwac:hematlcal modeL\Mth a collection of operatlons defined on that model lg{:‘
calle
N o
Q\:\\ a) Data Strut:turé:J b) \Abstract Data Type o
ojéb c) Primitive Data Type d) Q.‘.*:Algorlthm Na
-{i‘\_ 7)  Which of the followmg case does not ex@*m complexity theory? §‘
S a) BestCdse b Worst Case &
Q c) Avera'ge Case <vd)  Null Case @
8) push() and pop() function are found'in? S
a) Stack ,5%’ b)  Queue \,c@"
c) cJ_lnked list \,g) d) Allofthese .
N AS
Q.2 Answé’r the following (Any Fouﬁ ,\-"?03 08
a) .l:’low doubly linked list can b& represented? i
b) <What are benefits of ADT*? <
c)” Which are the operat:ons performed in list? o
&d) What are the applications of queue? >
A” e) Whatare the advantages of linked list?
-'353 Differentiate betvyeen single and two dlmenSlon\I array.
(4l
o~ . <3‘
"\b ,.,f) \!’?
‘é\ r*jc} $
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a) isad\g:f'es °n (Any Two s 6@3
g ages of Arry :
Priority queye o Y over Linked List /\V”\‘: \\G?
Greedy Algorilrgﬁ: oD 4’-.:\?
Q.4 AnSW ‘{O N |Q
er th ! o 8
2) How the g @ (Any Tuwo) D s 0
b) What g Y€ Is implemented by linked list? K
A+B.(al\%)?(€;prgstﬁx and prefix formssof the expression? - g
iffoarmat . q S
©) Pifferentiate between sTACK and’QUEUE it
Q.5 Ans e?- th . .3:‘\ n'\;" ‘;}
a) %,V" o e following (Any One)<S D 08 o
b ’W\fp ain .hC"W lo evaluate aritfmetic expressions using stack with example. A
- I‘Itee_] C' Program to implement doubly linked list and perform the following ,,DQ‘
\\ Operations: ¥ 5 &
Q& ) Insertin between ,\-“? & {\3,
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) & & &
S ) a2
'\\' \'- P
§\ p < .:Q‘
<[ 0\ ‘:\-C'
Coéb 2 Q°
N Qv L
> o 3
< » o>
= (N As) \
N A =
\§ O _Q I
oy S 0 AN
o D JAS) \8
6\ CDO q;‘y -
o "> N S
Qg‘; ?_:g'l e o’)b
4 Q\ ) N
o X & Q
™ AN R o)
'\\\ ?‘:\ ’}u Q?"
l‘j @\- <‘U
AC ~ v
N SN N
¥ Q< N
'\v "(- .7;1
\ n: O\
R O S
& & &
%) AN N
\= Q A
> e &
& = &
£ S &
= > £
Ne 6\ Q7
@ &@ X
’Q.') oy ,.Tv
> o~ N,
S ':“‘\ *\b'
Qﬂj & Q
Y S
& S &
D i) S)
» A )
~N A &
9 S
o &
o &

Page 2 of 2
D & g



Seat
No.

B.C.A.

Day & Date: FridayQ‘
Time: 09:09 AM

Instructions;1
-\

&
(g}

ﬁ> v 4
ln\\

Q.1_Multiple

M) S e On2 & s
’ %Qo chema definition is3written by : X
X

] a)
C)

S a)
- c)
J\?-

a)

9

4) éGeneralization is a

%6\ a)
& o
el a)

D b)
. Q\} c)
N d)

S
& 6)  Anattribute is"a

& a)

= c)

“\
7)  How rrrl_’q?\ly Primary keys can hav@eg?in a table?

a)

o

8) Q{Vhere subqueries cannot QE used?

NG

= b)
R
DA

S d)

')\Al_l Questions are compulso\tfl’.

Q§‘ 2)  Which of the

5
The term¥Data |

)¢ Programs are not dependent'on t

as Q\‘
n"S)  TCL stands for =

v
c) ~Depends on no of Columﬂ\s
= 5

el N
o~ )
r‘{'_b "\t\\ ~

D {;‘3 SLR-DG-300

N AN A
Fo QS N
i}

S
\_-- -
(Semsgi‘e,- - l) (New) (CBCS)NE?xamination: OctINov-2Q<_2§
Dgtabase Management System - | (BCA1303) \;\‘«‘
©15-12-2023 N Max. Marks: 40
J0 11:00 AM $ &
NG

Figures to the right indic@e full marks.

a \ f\
Nraw necessary dlagra\_ms wherever necessary. & A
) Non Programmable %a\'tculators ae allowed. a g
Sy &) -
. g Q
choice questions X

Database Adrfiinistrator b)
Storage Manager

%Tlowin
Prima ey
Checig\

Databiase Application 0
d) Dagﬁase Manager
g is not Integrity Constraint?

b) /Not Null &

(-3 . s
d) & “Union =
ndependence” refers tg? 2

Data is defined separately and \6\t)included' in the programg
~F_rograms are not dependent

on he logical attributes of th‘é\data

he physical attributes.gt the data '
Both b) & c) & S

)
S & S
Q N q
progess. & o=
Bottom - up 4 b)  Top - Down <
Left - Right N d)  None ofthe above A
S d
Transaction control languages $$z U3
Transaction command languages & Q/Q
Transaction ¢onnect languages N Rl
None of the-Mentioned S‘\} N
in a relation. Q:\
Row ADB)
2 N

>
A Column \"32
Valug~

H 23
g d) Tuple N
Qnly 1 b) Only2 L
d) Depends on QHB‘A

i\

H
Field names in the §ELECT statement n)é\
The WHERE clausg only in the SELECT statement

The WHERE claifse in SELECT as well as al{ BML statements
The FROM clause in the SELECT statement
N e

= Page 10f2




S 08
Q.2 Answer any Four of th :Po\'llowlng. ~3 X
a)  Wwrit t ' \J 7
vfile syntax for Insért command? A &
b) List out the stringfunction. & &
c) V\_lhal is Sub-quéries? A’ S
d) Listout the cahponents of DBMS. Wl g
€)  State the difference between DBMS and'RDBMS. =
f)  Whatis :zo,in? List out the types of join? AT
. rite noteg‘on any Two of the following. f-.f:
a)  Ordgr by clause O)\U o
b)  24&tler and 3 - tier architecture v~ &
€) Specialization S G
& g ) S
Q4 Afiswer any Two of the following. Q\J@ Ogi;)
What Is Operator? Explgiﬁ” special operator with exarnp(l;@: i
é\b) Explain relational algebra operations. NG L
o ©) Whatis Database? Explain Database Structure. & 0 ‘
3 & & s
\, N '
@.Q.ﬁ Answer any One of the following. NG beQ 0%
Q-é‘ a) Whatis Database Language? Explain databasg‘languages. @5\
‘3‘1‘ b) Whatis Squence? Explain sequence with pkﬁmple. .,:;?“
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Day & Dale: Salu > ware Englneer!:rjg (BCA1304)
Time: 09:00 AM

B.C.A. < & 2023
A. (Semester - l) (New) (CBCS) Examination: Oct/NoV 2023

o

= ";-:. ‘
rddy, 16-12-2023 M. Marks: 40

~

s g
ol Q'?:\; R
o & SLR-DG-31
Seat < = ﬂ;’}
No. ﬁ«l? S ’ Set L,J

: ;E:o 11:00 AM fi;:\ &
nstr i . 47 . ) :U )
uctions: 1) Al‘l questions are compulsory. rgg’ &
i ) Figure to the right indicates full marks. SV oy
\'E\/ . - © ’ v
Q.1 l}‘ﬂl‘\n\l}nple 'ch0|ce questions. ﬁ ‘_: c7 Oar".;‘
-E)" Which model can be seletted if user is involved in all the:phases of SDLC &
-~ a) Waterfall model N b) Protolypng‘i'nodEI Ly
Q$ c) RADmodel & d) None ofihese ~’
P 2) The 'Bia pi v 4D Ny o
S he ‘Big picture diagram of a system is the X -
S a) Logic diagram b) Blo¢k diagram &
Q@\ c) System flgwchart d)  Program flowchart &
) N w
.:\3- 3)  What threatens the quality and timeliness of the software to be producéd?
\S a) Known'risks b) & Business risks S
N c) Project risks df> Technical risks &
4) Whic‘@Bf the following is not a type o_f:fhainlenance? \;:‘
a) ~Adaptive Maintenance & b)  Preventive Maintgnance :
c)¥ Perfective Maintenance \\\ d) Performative Maintenance >
A -0
5) Q}E’hich of the following is not co,gf'ent of data dictionary? (Q," Fead
A>a) Physical Location of data> b) Data composition 3
S ©) Data Aliases N d) None of &_l;lése Q:;"
4] —~ 3
{{Bj Problem identification isé‘&ne during phasg:" i
& a) Systemdesign X b) Systein analysis M
S c) System testing & d)  Allof the above v
“2 Ly
£ 7) Decision table is aombination of N o
R a) Stubs and conditions b) - Conditions and actions &
I c) Inputand (ébtput dl@ None of these D
§“ 8)  Which of the\ffbllowing system implempﬁfation approach should be uﬁed if
g“ you want t&run the old system and ;\h@ new system at the same ti\rﬁe fora
‘ specifiecgperiod? R &
a) Dijgct & b)  Pilot &
c) @hased ﬁ)’l? d) Parallel §
..:";‘ ‘::-“\ v\(.
Q.2 Answer:any four of the following. & 08
a) Dkefine the term ‘System’. S Q&
b) <What is the purpose of DED? 5
ks’ What is Open and closed system? &
d] Who is ‘System Analyst? o
~~2) Write any 2 benefitg<0f prototyping. 3
{§' f) Whatis Flowchart? kS
< S
®
.§§r o
S S
rbq’ _;:b Pagelof2
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&V Q 08
n)-’ v:b‘— \Q;l
Q.3 Write short notes on ar;y-(}’wo of the following. il 2
a) Elements of the sysfém. 5 w >
b) Feasibility study, & S ivi NI
; -3 . > - t -
c) Explain following‘qualities of software: i) Pegprmance ii) Productivity & -
(e g v
s v o
Q.4 Answer any Tw\g-\of the following. ’,-':" «.‘:"\
a) Explain Waterfall model. S S
b) Draw a Decision tree for following case study . conditlons:
A Co-operative bank XYZ will grant loans under the followmg| SRitstanding. .
i)  .Ipa customer has an accoung\“.vith the bank and has no 08-25' &
& loan will be granted. & ount is D
i If a customer has an account with the bank put some ?er'g’i:s ecial A7
& outstanding from previofs loan, then loan will be grans o K
~Y  management approvalis obtained. 5 g
- iii)  Reject loan applicatich in all other cases. F N
&£¢) Explain various symbols’used in DFD. &2 &
\’?\vQ iy '}) -.‘:‘-:': - = 08
ér.s Answer any One of the:following. - >
S a) What is Normalization? Explain up to 3NF with example. ¢ lation”%ip
Q\z\ b) Define the termEntity, Attribute and Relationship: Explain types of re ._o)ﬁ
‘\.{_ with example ;- w0 o
Ly >y %, <
& Q;':“) < "::‘\‘
2 S Bile K
4 \C_O r()" ~
o v =3
S V it
Q*? S w0 \
R = & =
v;'S\\ e“\ n';:’ Q*-.:’?
@ & © =
,\"" o.o r{; QQ}
() N . X
& 5 . &
o & S oy
< = Sl &
~ ‘_v CQD ‘q}
\C\ .’-7‘0 \\‘ 'S/\
N N NI <
e ™ = ~
o o e
& S & D
N \rs’ ~ N
= S o &
K ™~ N b
R v >~
T S e
& 0 3
“Z .Q/ =
< &) AS
& . B
[} -\ <
1:3 QQ\ "36\
< -3 &
® & &
43 I b
S S ©
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W > &
\{1’ o‘)ﬁ‘ éb
N A &
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Seat N o B
Nor z sot| 7|
3 ) R

B-C. . [e) ’ "':} e
A (S""':‘Oﬁtm - 1) (New) (CBCS) Examination: Oct/Nov-2023
Inancial Accounting witl Tally (BCA1305)

Day & Date: » N ok .
Ty & Data: Monday® 18.12.2023 ° Max? Marks: 40
me: 09:00 AM Tg11:00 AM S S
| i . \Q v
nstruCtlons,é)‘?i\" questions are COmpulsod,’?‘ r." >
) Draw neat diagrams and give equallons wherever nace§g€fry- A

{\%1' 3; Eigures to the right Ind'@'ﬁ{e full marks. ) A7
X A %(3 Of‘logarithmic lable and calculator is allowed. o>
R . Wis.: H=1, c=12<(').\0>_-15. N= 14, Na =23, C1 = 35’.‘?) ,.-9,,
» v
Q.1 $Multiple choice question N < 08/
" 1) Solapur univers; 8y w ©
e a)  Real ersity A/ type of account. &~ "
@\ 0 Nea 'accoupbt\u b) Personal Alc 5
¢ N ominal lé“o, d) Non@;Sf these '35&
gb 2)  Amount inves\éﬁ in business is called as o, 9
S a) Drawing b)” Gapital S
. N (W] >
%’ c) Llaggr'ty d)>None of these &
3) What is:{he full form of TDS? > -@T
a) Q{Fax Declared at Source Céq:)) Tax Decided at Sourge
C)\:k- Tax Deducted at Source ~"d) None of these f.f) »
, , D Q ~2
4) Tﬁ_ is explanation for the jourr@ entries passed. > g
\58)  Voucher & b) Transaction X
S c) Narration & d) Invoice =
'{5) In Tally for Receipt Vouc:h(;lr.%\a key used. . o <«
S a) F6 & b) F7 & N
Q) c) F8 S d F3 & &
& 6)  Which voucher type igcaoused to transfer amounl;\'f?om one bank to another? @9’
S a) Payment S b) Reéceipts )
{?o c) Contra q?ﬂ, d) (Post-dated D\
& 7)  Which short key ‘used for change the pel;lﬁ‘d in Tally? .g’f
n a) F2 b) F3 S
F c) Alt+§0’3 Q) Alt+F2 N
. - - \
8) Which shortcut key is pressed forg%‘ncel voucher entry? .Q%\
a) AR+A ) b) AIt+C e
¢) QAIt+X & d) Alt+D Nl
& = §
Q.2 Ansvgé)r the following (Any Fog'ﬂ N 08
a) JDefine Book-keeping. @ a2
b)%' Explain the Rule of Norglnal Alc. ‘{_\'73
¢)” Specimen of Ledger.&& "{3’
,{;h) How can you creal'eglledger Alc in Tally? N
QS) e) How can you copy<and paste the text in Tally? &
V" f)  How can you create Group in Tally? o
D o o)
K < G
S e S
o ﬁr‘:" \§
> Nig &
b &) ,L_

o 7 S Page 10f2
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Q'} LY
f\b) \.\' G 33 r:U
o S -
W’ Q‘:3~ S LR-D 3
& o i
Q.3  Write short notes on (Anf"l’wo) il (aﬂ
a)  Accounting Conceptd. & <
b) Debtors and Creditors & S
c) Explain the fealdres of Tally? "\ a
C‘\ k") Q
“ A% ‘:k* 08
Q4 Answer the follgy\\:lng (Any Two) R\ <
a)  Whatis thédifference between Book-kéeping & Accountancy? :ﬁ‘?‘
b) Explain the advantages of double entry book-keeping? N7
€) Explaig'the importance of Bank Recohciliation Statement? o .
© &' - =
« & O 08 )
Q.5 Answerthe following (Any One) _gf’ f‘?’ Al
a)  Explain the list of Groups in Tally? oy th ol
b) cJournalize the following trangaction in the books of Valshne_lyl-fof the mon S
~of July 2019 = o~ &
1% July 2019, Vaishnavi sfarted business with cash % 1,00,000. v
& 2% Deposited cash into bank of T 10,000 for open new;bank account o
& 3", Purchased furnituré from S & Sons 20,000 & N
@0 5" Purchased goods from M & Co. on credit X SOQObO &
S 8™, Sold goods toiG & Co. 20,000 N =
N 12", Sold goods'to Ram 30,000 by cheque & S
= 13", Paid Elegtricity bill of ¥ 2,000 by cheque$ N
S 15", Receivgd commission Rs. 500 S Sy
© . A8suming CGST @8% and SGST@8% &
: & S >
N & \
<8 ) &
§ Y A -
R - Q =
= > Vo g
V‘ Q n-r' Q
& K o &
A cs . N Ly
c'\-Q “\\- 0\'\ i3
S N w2 03’3
Q S A
g $ $
o - > \2
O R S &
x & & Vv
3 A } \h‘
R Q -!:5\ N
& v g
G S\ N $
o N p{b "\'S“' Q
S s 3 &
G-
g $ 8 S
D S NI
=) o =
S &V =
S o ¥
@ ,{T} <
o 5y
S 5 &
& =7 S
@ \?‘?\ ‘{P
'Q‘ (CJO I'e)
ch N l’-\\v
9 3 ~Y
AN T ‘
nj() q_;c‘_\ b
&V £ §
L. N
v = <
v &l &
2 > @
X & $
& o &
8 K &
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Seat % A -y "
No. §\ C'.’)\V SEt__ ha
B.C.A. (Se { W Nov-2023"
mes(er - 1l) (New) (CBCS) E)?ammatlon Oct/No =
& Operating System - 1I{BCA1306)
Day & Date: Tuesd 9 1 Max_ Marks: 40
Time: og; ay, 19-12-2023 N :
OOAM'(‘OHOOAM & S
| 4 S
nstructions: 1)°All questions are compulsor)? ‘rﬁg/ =
> 2) Figures to right indicate fulll marks. V 2%
o & & ) 0s 2
. Mu\lﬂple choice question. & = o
Q‘ A set of processes is deaglock if . 2 &
2 a)  Each process is blgcked and will remain so forever’ )
e b) Each process is-terminated \\O." oy
&° c) Al processes gre trying to kill each other & "
\\‘(-J d) None of the ment:oned Q- o
S 2) 3 3
Q\x algonth.g)\has lowest page fault rate. = <)
RS a) FIFO _ b) LRU RS
S c) Optuma! page replacement d) None of the above =
2 3) A procegycan be terminated due to “’, &
a) Ngrmal exit b) Fatal error {‘
c) Kﬂled by another process od) allof the menhoned- .
4) qu‘ual memory is implemented us\in\g é\ &
a) Demand Paging & b) Swapping 2 &
we) Fragmentation .:35’:, d) None of theseﬁ’ ;}“
5)‘3b A direct method of deadloc Breventton is to prevent lbg occurrence of . h)"
& a) Mutual exclusion & b) Hold and \ Wait s
,Q}' c) Circular wait 5—2 d) Allof theﬁabove WD
' )  File type can be represented by . 6@ ,.VQW
S a) File name ,\.}j b) File'éxtension R
R c) File |dent|f|errb:> d) None of the above o
»LO 7) Ina segmentatrgh scheme the logical me\thory will be divided into .
& a) Pages q, b)s" Frames @Q“
< c) Block$un wd) Segments 6:°
] 8) Which dl\gctory implementation is u%ed in most Operating Syste(n'?
a) Single level directory struclure b) Two level dwectory@tructure
c) El'—?ee directory structure S’ d) Acyclic directory strfucture
s *-?“ g(-sl
=
Q.2 AnsweL‘any four of the followmg ,\Jp 08
at is paging? 3“ )
b) \What is Contiguous Memory allocation? &
¢l Define the term Segmefitation? Ry
)’ What is mean by compaction? ol
~-e) What is Dynamic Loadlng'? ~
>'f)  Whatis Virtual Memory" 5.\
~ T N0
< o \;@O
S 0y &
éﬁg {‘§I ‘f_l‘ Page 10of2
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7 o>
- 5 o
~ & 6_34 i
) -~ s L 8>
K Q 0%
ﬁQ = ‘f‘:
_ ; ) b ©
Q.3 Write short notes on anytwo of the following. 3 \_(_0
a) Resource Allocation<Graph w 3
b) Demand paging O S §
c) Fileconcept < % 2 8
5 & N
Q.4 Answerany ng:t\:f the following. ‘:V ditions for deadloER to
a) Define the'term deadlock? Explain {he-Becessary conditio >
occur? o o N
b) Whatis‘fragmentation? Explain tYPEg of fragmentation : |gorith 'S. »
c) Whatis disk scheduling? Explain-,_FCFS disk scheduling 2 g nE9 c?-‘"
,\'." N ﬁ> 08 o
\:':' N ’).
Q.5 Answer any one of the following.™ 2 &
a) ~Explain banker's algorithm with example? Sently used 3
b)¥ What is page replacement? Write the working of Least REEEN Y &
o e . 2 LV
2 (LRU), page replaceme\gl algorithm? 3 )
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(Semester - (0la) (cacS) Exdmination: OcUNov-2023
3 With C++- 409301 <
'?i?r)\(eai‘é) 2te: WednegHay, 13-12-2023 Y ) Maxr Marks: 40
nstru i N “ \ A P ‘) .
ctions: 1~).\A_II questions are compulsory” q‘sg' &
i ) Figures to the right place indicate full marks. % ,}V
Q.1 Multigle choice question. LB > 08 A
1‘.\)‘3\'\ ‘:\;hatpare the actual paramiters in C++7? Q\‘:“ &
& 2 arameters with which functions are called 3 A
& ) Parameters which are used in the definition of afunction N
foe\'h g) Var!ab|es othgr;than passed parameters in a (gnction ~
\\\\ ) Variables tflgtfare never used in the functiong™ S
) n -
Q@\ 2)  Which members-are inherited but are not accessible in any case? a’bQ
& a) Private e b) Puplic @
{§ C) Protectéd d) B&th private and protectedz:
T 3 H 3 S -e?'
AN ) C++ IS ('\\‘ 12 IQ
: —r—— , v N
a) procedural programming language> o
b) gbject oriented programming langlage W
) \gfunctional programming language ,\_v N
9.‘ both procedural and object oriented programming Iang)ﬂage ;}3
X, i n <
4) yWhich of the following is an exg.l%ontrolled loop? (53" &
&a) For 2~ b) While X S
<{/‘> c) do-while S d) all of the mentioned .
£ , S As
.0}'5) What is the other name ¢t compile-time polymorphism? N
% a) Static polymorphism b) Dynamic polymorphism ,Q':’
= c) Executing polygpgrphism d) Nonie'&ecuting polymorphism n{b’
Y 6)  Which of the following is correct? ‘;5&: ' f%’-\/
P a) Aclass is apinstance of its objects & o
- b) An objects an instance of its class {Q‘ Q:?
& c) Aclassisan instance of the data,type that the class have g
~ LSO . kY o
h d) An objectis an instance of the d\afa type of the class §@
: D )
7)  The dataTnembers and functions %f% class in C++ are by defaylt
a) Protected & b) Private 2
c) _Public o d) public & protected:
= [ON
8)  Which of the following operator cannot be overloaded? e
& + & b) 7 &
Ly — > Q o5
,;-‘} @ n{v
Q.2 @nswer any four of the following. o 08
~a) Define object-orier},ggﬁ programming. W
,,9‘-” b) Whatis aclass? < H
SV ¢) Whatis an inlinefunction? -
S5 d)  Whatare the types of a constructor? . cf
> e) What are theldifferent features of C++? S
N f)  Whatis fur{ition overloading? &
O (8 4:‘3
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.3 Write short notes on any two of the following. %' NS
a) Explain comparison between POP and OOP. r«'\" N
b) Explain Applicatigns of OOPs. o =
c) Explain friend fuhction. o 33
% \Z 8
LS SV ~ 0
Q.4 Answer any twg of the following. e, \'g
a) What is pointer to object? Explain with, example. ,\3.
b) Explaindifferent access specifier. ,\,G .
c)  Write 3 program to calculate factorfal of given numbers. o -
2 J [8) 3
.-’,\) \:(:? r‘.-\;{ 08 Al
Q.5 Answerany one of the following.== 3 .?'a-
a) ngnle a program for construcfor overloading. == &
b) ~)"Explain type conversion. Implicit and explicit with example: o
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Day & Date: Thyrsqal® iz res Using 'C'- I ( Maz; Marks: 40

O
'me: 09:00 AM To:11'00 AM 5 &

Q

b r‘!/ -
. =
raw neal diagrams and .guve equations wherever necessﬂl’y s
'gures to the right indigéle foil marks. R ©

Multiple choice question, \‘r ;\ 08

= The data structure requifed to check whether an expreséion contains a pf-f'
5 balanced parenlhes|sd;? % Rl
N a) Stack b) Queue & N
9 ) Array

3 2) Linked list is cog_’

d) Tree ‘q* H
idered as an example of ____& type of memory allocattoé’
R a) Dynamic "™
/\\;' c) Compllée,time d) Hgap RS

b) “Stalic I

e 3) Adata strgéture in which elements can beﬁnserted or deleted anrom “both
ends buttﬂot in the middle is? S ,:-

a) Queue \-:B) Circular queue Al

c) Dequeue > d) Priority queue Y

"\
4) V\Qﬁch of the following statement@ about stack data structqre is/fare NOT 5
.géorrect’? D’ K
&Qa) Linked List are used for |an|ement|ng Stacks .V ?:5‘\
cg’} b) Top of the Stack always contain the new node ,* Py
Q c) Stack is the FIFO da(é‘structure :

QQ d) Nulllink is present_‘_\m the last node at the bottom of the stack o
N

~ 5)  Which of these is no% ah application of a linked lls'i'ﬁ d
N a) Toimplement file systems Q} d
e b) For separatechalnlng in hash-tables Q{i‘ g

c) Toimplem it non-binary trees -

d) Random,Access of elements ,?'S‘ o

\ A b,

6) Whatare the\dlsadvantages of array 2

a) Datagstructure like queue or staz\k cannot be implemented

b) There are chances of wastage of memory space if elemeq_fs inserted

mﬁan array are lesser than t,pe allocated size e
c) ~Jndex value of an array caji be negative <
d)"‘ Elements are sequentlaﬂy accessed -‘-;‘

Instructions: 1)
-All questions are
02) D compulso
a? 3) Fi
3

Q.1

"
909

"’9

7) \(‘.ﬁleues serve major role i Il:l,_ y

< a) Simulation of recu[;_slon Wolg

©' b) Simulation of arbltrary linked list o

WO c) Simulation of Ilrmted resource allocation ;:5"

Q‘;vj d) Simulation of heap sort o

v 8) Whatis the valug: “of the postfix expression 6 324+-
» a) 1 > b) d-fO
c) 74 & dl:n 218

ﬂ;j
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. Nswer the following (Anr)}‘ Four) & Urv
g) onvert the infix exprassion a — b / (c +d * e) intgyposllix form, @
) Explagn Node struclure of Doubly Linked List. A <
c) Explaln any 2 applications of Queue "> N
d) Define 'two diménsional’ array and write its declaration syntax. &
e) er!e dlﬁeregce between stack and queue\s’.‘> =
f) Define Sin@e Linear list, g (:\?
_ & N A’
Q.3 write Shprt’ﬁotes on (Any Two) ,3.‘5:’ o ”
a) Applllcjaﬁons of stack. S & >
Priotity Queue oy “91 ]
€} Singular Linked List N > g
Ol g = &
Q.4 Ar!?swe_r the following (Any Two) S o W%
ﬁa)‘ Write an algorithm that evaluates postfix expression USI‘QQ?‘StaCk- Wl
$b) What Is Array? ExplainAypes of array in detail. & , L
o* €) Whatis doubly linear,illri'?ked list? Implement function that reverses it. g
o P b X
Q_\\&('.1.5 Answe‘r the followingji}\ny One) -.:‘S 7?5) o
Q\\\ a) Write a prograrn\ti‘o implement circular queue. o cgé\'
X b) Whatis Linear.:{inked list? Explain its following’bperations:- acE
o 1) inserl |ast 3 &
& _last() o >
A 2) Search(y @ o
: remove_after() '\9 >
S Sy Y
& » L) 3
~
& . > N
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0_;\ \n';,Q QY ‘g
) $ CL >
S < & ©
’i? *'f} Ng A
S o)
o <& ) >
ﬁ\“ \k. \)k <
i o o W
RS Al e o
S /\.o; '@\- o
r.\Q‘v S "é\\ >
& V% ¢ ‘
S 2 N 3
5 an’ =2 N
S 3 S 3
NS » ¢ <
Q ~ A? N
: S o N
Q \ =
\’D (&) |Q
S v N
& & >
* w \
S N DA
=g .
g $ 3
- \Q‘g r\:’
N <l \z
© v i
& s >
) X )
& & o
o > ¥
N\ = G
Y s 3
\t} ‘é\ g
s & S
S A &
ébq S +

Page 2 of 2
& v .



Soat |
No.

B C A (Semestor -1ll) (O1dl) (CBCS) E :'i‘mlnnllon. Oct/Nov-2023/

Day & Datg:
Time: 09:00

Instr
Uctions: 1‘) All questions are compulsory’

Datnbnso M

Friday, 5. 12-2023
AM \o 11:00 AM

anagement Sy'=.lora1 (19409303)

N

%]
('J
P

[
f

.
A,
1

N f
A \
& q .
) I||\l' .'\ SI_R-DG-37
———— o .: : y
J\"\ \.r ' SU[\EP y

Max, Marks: 40

vy
\,

2) Draw noal diagrams md glvo equallons whorovor rumn*smlfv

lb"l
Q.1 1”')“\“[?:0 choice question. 5: '
N a transaclion does nol ghodify the databaso until it Im'-,cnmmlllud I le
— said to use the (_,i[]chnlquo
L oy a)  Delerred-modifigalion b) Lnto-modjﬂdnllon
8 c) Immediate- -mogification d) Undo =
&
~:§‘-'} 2) Tree structures afb used lo store data in n?oclnl.
& a) Nelwork (3 b) Relalional :
S ¢)  Hierarchical d) File'based syslom R
A T 3) A collectiop: or interrelated rocords is calloda 5
n a) Databaso e 4
b) Sp‘readsheet {\kf‘ >
c) anagement Information syslem ;\?
d).§ UText file A
ks
4) The overall description of a dalabaso is called N’
cé\a) Dala inlegrity & b) Data manipulafion
m&\ c) Database schema \'(5' d) Data definilio’h
n?_)" The ability to change the g&wceplual schema without affecting the external
'@; schemas or applicallon programs Is known as S
o) a) Program-data independence b Logicatrdala independence
~
o o c) Physical data iudependence d) Datqabslraction
\,{S‘ 6)  Which of the followmg is a top-down approach in which the entity's h:gher—)
ﬁ.‘
o level can be divided inlo two lower sub- entll:es7 >
N a) Aggregat'é:n b)x Generalization &
Q{? c) SpeciaJ} tion (.cj)" All of these ¥
&
T 7) The num er of altributes in relation, lé cal1ed as . \\
a) Cardinality ({p b) Degree N
c) %u les 4 d) Entity &
v Y
8) Whal does Rollback do? " \ &
) Undoes the transaction$ before commit &
b) Clears all transactions® Q
<c) Redoes the transactidns before commit A
< . By O
& d) Noaction N A
A = o
& & )
Vi sy Q
QL & ®
>N A S
N ,.\'co "\c?
S "DQ \'\:\
3~ V =
& & &
1z D X
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Q.2 Answgr the following questions briefly. (Any Four) = S
a) List out the advantages of DBMS. o 7
b) Whatis relationship and its types? S i
I ! o
€) Whatis deadlock? V =
d) What are the types of locks? I &
e) List out the éavantages of Data DisUibMiGﬁ- >
f)  Whatis u&u’on operation? 2 J}<
- Oy >
. : & 08
Q.3 Write §hprl:,ﬁotes on any Two of the [ojf’owing- ,.’bc“ .
a) Distifiguish between Serial Schedgle and Serializiable Schedule;p‘/ &
b)  Geferalization o~ Vv’ il
c) 8;atabase Users & <2 A2
g 4 - )
W\ - >
Q4 Ag‘%wer any Two of the following. r}’:\ ° '::?r’\7
ay  Explain shadow paging,A ¥ 37 A’
£b)  Explain immediate database modification algorithm. & o
&’t‘Q c) Explain ACID prope{r{i@s of transaction. g"" ~ .
5)5 (\9 ,Qb\- \‘:':\ 08
Q.5  Answer any One of the following. w &
QQ.\ a) Explain timestaghp ordering protocol with exarp(?ﬁeo c»,a
i b) Explain varioys concurrency control problemsg,with example. o~
K3 5y S =
X S 5
o P 3 o3
co p o
o v ey
S & 3
< > A :
Q N =
- S 2
~ ) r ¥
a & v <
A o .:'9 »:L_
& & < d
n{‘.‘ ,{.2\ Q\‘\ 6\
& A =3 &
= © N -:b .
S S N >
< Q A 2
S ,{(‘3 < o
& al & §
. (_blf ) Q\'
S N AY &7
Q‘\‘ .,S) "’) \63
$ o S
& o &
s L =
- Cr;‘ L3
S . 9
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O
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B.C.A. (Semester - 1) (o14) (cBCS) Examination: Oct/Nov-2028
Soﬂga‘re Testing & Quality Assurance (19409304) E _
Day & Date: Saturgdy, 16.12-2023 & Maix. Marks: 40
Time: 09:00 AM To 11:00 AM 2 &
. A o 7 :
lnStrUCtm“Si.ﬂ’A!l questions are compulsofy. r:f?} S
~2) Figures to the right indicats full marks. D s
& 3) Draw neat diagrams nd give equations whenever necessary. AT
~vY  4) Use of logarithmic tagle and calculator is allowed. o
r\\ _‘~;\‘ Q.:;‘ £L)
Q.1 L\‘Multiple choice questions.\;b\r & 25)’
8 1) Black Box Testing islalso known as : 2 6.‘“
NG a) Behavioral Testing b) Flow Testing ) ™
\&, c) Data Testing? d) Contrglstructure testing D
= 2 . NG . . N ES)
D )  ____isnol an-appraisal cost in SQA. - =
& a) Inter-prdcess inspection b) C}_ﬁ‘ality planning {c
- c) Maintenance d) 6J"esting =
A ) )
o 3) Deferredsstatus in bug life cycle meansq> . ,'f_zi
‘ a) Developer feels that the bug is natgenuine o)
b) sBug is repeated twice or the two'bugs mention the same,concept of
&'the bug S i N
€} The bug is expected to be fixed in next releases oy X
§:‘a) It is not bug at all & & &
) LV
4)Q technique we called semetimes as a glass box.festing. S
o’ @) White box testing ,:555‘ b) Control stfucture testing G2
q{\? c) Black box testing &~ d) Gray box testing o
v N - o
& 5)  Faults are found mosticost effectively in which teSt activity : @';‘
_\\ a) Design 1-‘.13\ b) Exegution R
Q-.{‘ ¢) Planning < d) Check Exit criteria completion .
%6@ 6) is the objgctive of integration testing: o
W a) To verifythat system is functioning:according to specified )
B requirenents g R
o b) To verfily that system meets USEr expectation and needs R
' c) Toyerify that system separqtgly) testable modules are fungtioning
properly < Q>
d) o verify that interfaces bgleen different parts of system
~ e
7) A_!_ﬁﬁa testing is done at __ <. 2
@) developer's end o b) user'send A"
@_‘““'c) developer's & user‘;'.sf’end d) none of thﬂ\ejcﬁlentioned
AS N7 "
8)>" is largest bug producer. &
A" a) code & b) design-
r:)Q c) analysis Q!'-“\ d) specification
a ~ -
7 = O
o N S
) - Q‘rq
\’\ Qs 6_
o o @
' & N
R e X
& o &

& .n:)/ w_uk_ Page 1of 2
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N ' 08
Q2 Answors any four of the following. : &
a)  Soak Tasting 4
b)  Automation Tostirin
€)  Smoke Tosting !
d) Use Case Tosling
e) Defect Tracking
) Adhoc Tesling
S & 08
Q.3 Write shot‘1 noles on any two of the fallowing. {8
a)  Explain Difference between Bug, Defect, Failure, Error, i
b)  Whatis Test Case? Explain Types of Test Cases. i
¢) Whatis Software Testing? Importance or need of software tes(ing.
o Q N
\'.:.* &> . 08
Q4 Afiswers any Two of the following. s
3)  Explain Types of Bugs, . Ag
'b)  Explain Integration Testing & Top-Down, Bottom-Up type. -
A4 €)  Explain Advantages & Disadvantages of WBT. ~
! < - 08
Q.5 Answer any one of the following. N i0q Path -
o a) Explain Statement Coverage Testing, Branch Coverage Tesling. Pa $
& Coverage Testing in WBT. W -
g b)  Explain Performance Testing and its types?: -
& D ' ~ Q
5 < K -
(‘r\\ (_— ‘ T
& =8 &
- o o
N Q ~v
o P Y
’:\U -S?o 7-:5 9
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B.C.A. (Seme§38r - lll) (Old) (cBCS) Examination: OctINov-ZO??;
'Veb Development Using PHP (19409305)
Day & Date: Sunday?17-12-2023 b Max Marks: 40
Time: 09:00 AM T6:11:00 Any £ &
Instructions: 1 Al i & o _
* ANl questions are compulsory? & e
. Figures to the right indica\__(e‘full marks. kY ", o
Q.1 MUI\,ti\ple choice questions |Q’:‘\ QD 08 T
1) 0" Who is the father of PHP?.C o o
A a) RasmusLerdorf v b) Wiliam Makepiéce &
B c) Drek Kolkevi %'3‘ d) ListBarely S o
O\rSQ 2)  What does SPL Stapéé forin Php? = <
& a) Source PHP List b) Standard PHP List o
S‘.\ c) Standard F{I\-\IP Library d) None'of the above ‘3)
\8‘:‘ 3)  Which of the following is used to create a session? 2
SQ a) $_SESSION[ b) isset() function oS
,;3- c) sessigﬁ'__start() function d) - session_destroy() functlgg-‘
] 4)  Which ofthe following function is used fo compress a string? _:_f"‘
a) zip() ~b) compress() R
c) \\_Q‘"lp_cornpress() > d) gzcompress() )
5)  Which of the following variables j$hot a predefined variable;in PHP? 0y
~a) $get o' b) S$post -\ &
&c) Srequest \\‘3 d) $ask _gj,-" =
6)° Which PHP function is used'to find files? 4 o
Ay a) file() L b) fold() & S
':\\" c) glob() X d) None ofithe above A
> 7)) Whatis the latest vets‘?on of PHP? “E_?Q ,‘:Q
R a) PHP3 & b) PHP 5 .o
S c) PHP7 .0 d) PHPS8
“ - Ew o
S 8)  How to define@function in PHP? . 3
QQJ a) function{function body} N ‘_}}b
= b) functioriName(parameters) {fungtion body} e
c) func;tli‘on functionName(param_egers) {function body} N
d) Nofie of the above L <5
23 R >
Q.2 Answer,any four of the following: ) 08
a) WAhatis Variables in PHP? o
b) Include () function. m@“’ n:fb
c) <Explain Static website. S &V
d)~ Explain any four date and time function with example’
e) How data type of variable are tested? Explain with.example.
& What is multidimerlgi"onal array? Explain with e)sqr'nple.
& & K
AN e e
~ : 2
D e
,»\c\ A2 .,':fx‘?
& Y _f_?.‘
& {‘DV > Page1of2
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S S SLR-DG- =
& Q =
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" V . i S
Q.3 Write short notes on any two of the following. " nls &
a) Explain different forms controls, its properties, methods and evenls. R
b) Write note on pag‘%ing arguments 1o a funclioqtby reference. §
c) Whatis array? Types of arrays with exampﬁ@.‘-‘ a
. 2 n, v j;'_ 08
Q.4 Answer any two:of the following. A <
s ; a i er examples. .
a) Explain different sorling techniques of arrays with prop I i
b) DiffereQ“e between Stalic website vs:Dynamic website development.
c) WhatIs' Control statements in F‘H%’i')' (.5{? .
08
Q.5 Answerany one of the following. & N >
a) Design web page which Iinsertdelete and update records. '5:; Z
b) Q\W\Ihat is Session? Explain s€ssion state management in dg\ial < ,.\'»-:"
S = r A
& ~ < oV
o 2 % '\.‘j
$‘ C§: :.\‘ A
S % Ky -
& O Q S
N\ N S S
“ Q% -
S &> > >
S QA < Cl
R > -
~ Q o o
Q}* 5 & &
":.\ "'DE‘\‘ -:I\"; "kg
' \\. \"t' {:
$‘ .:V ‘j‘
g & o -
S & S
= $ 5 <
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S~Omputer Networks —1.(19409306 S
g_ay & Date: Monda)’q":%~12-2023 ; t ) Max :Marks: 40
'me: 09:00 AM Tqt1:00 AM < i
Instructions: 1) Al ¥ S
Ctions: ;)}-MI questions are compulsory{l:‘ (:C,' .
Q)J Figures to the right indicalefull marks. n\;'f’ =
de; X T~ ¢
Q.1 Mulﬂﬁle choice questions. Q“$ X 08 ’\"(?
1){'\ Computer Network is X o N
N g) Collection of hardware components and computer\slgi) o
D ) Intert_:onnected by"€ommunication channels S .fy’
2 €)  Sharing of resq(tces and information S e
& d) Al of the Aboye’ & ~
Vv qr : i >
\\\\‘& 2) Fora chafinel, we need to use the Shanndn capacity to find the &
N maximum bit rate. il e§
\\:L- a) Noiselegs b) noidy BN
& c) |ow-g§ss d) n;ﬁ'and pass 5
? 3) p{-&ides a connection-oriented reliable service for .-=.ending\~‘:.(—2
messages. Y &
nﬁ? \\
a) sFCP ab) P & ‘
c)é' UDP ~ d) Allof the above & S
4) g‘adressing mechanism is done,h'\f\ . ,gf? Q¢
,\-"?a) Physical Layer P b) Data Link La{)@r \;lk-
q,bQ c) Application Layer é\\ d)  Physical Layer &
& ) Coaxial cable consists on@ concentric copper Qqﬁductors z\’o-’
& a) N by 2 & oy
S c) 3 & 9 4 & &
) ©
S 6)  Which one of the folldwing is not a network topology? o
O\-?‘.Q a) Star o b) Ring N
‘\@ c) Bus W&" d) <Peer to Peer D
Y - Q
§ 7)  Physical or logical arrangement of network is . 6:'3‘
Q a) NetwoiRing bY Routing &
: c) Topgjogy “JQ ) Linking &}
8) T—gpology there is a centrab%ontroller or hub tgg,
a) esh O b) Star A
c) &Ring 2 d) Bus o
' N ~ ,\-)
Q.2 Answer any Four of the follom’?lg. > 08
a) v Define Computer Netwoik? I
b)—g" Define the term half-duplex and full-duplex. Q\,"
T)  What are the differenttransmission media? @
Qr’{,‘-‘d) Define Analog andDigital signal? &
(/" e) Whatis Attenuation? &
& f)  Define the ter‘r('aneriod and Phase op@
) 5 ~
N A §\
§\ & N
\'DQ nQ‘-/ %-Q
@o ,_‘D' R Page1of2



Siad Y T e S ot e Y S R

«
Lis ¥y /7
<

r“ z ‘,' L W !
& 4 p
S & gLR-DG-A40
% 0 0% -
Q
. . . X '
Q.3 write short notes on anyi[%o of the followling. A
a)  Write Short on Hubs, ! o’
b)  Write short on Twisted Pair Cable K "
€)  Write short on I\:&ﬁl ple Accass Proto col-ALQH/\ &
A 4" ;
o v & 2
Q4 Answer any quﬁ‘éf the followling. '-(;\’ ’ o ’
a)  Explain ngé lel and Serial Transmissiop Mode In physical layer? o
b)  What is feansmission media? Explain_FlE;er Oplic Coblo transmission rrodia
€)  What [8;mean by Swilching? Explaln'Messaqo Switching? /,
“m N2) [ /
Q.5 Answer,\any One of the following. {’JU '-/: &
a) b’f;)fpla!n ISO- OSI Reference Model in detail with sultable diagram? ,:-,/
b) qsgxmaln different Design iss\gﬁ'}tE of Data link layor? <Y / 7
iy ‘ 4
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S ® s Z
SN o oo v
@ 'S’ e =
& g 5
R U5) o
- Y S v
o B o ¢
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= Fi._r_lanciai Accounting with Tally (19409307) S
3y & Date- Tuesday, 19-12.2023 e Max. Marks: 80
Time: 09:00 AM T'12:00 Pt T S
| ; -\ Ch ~° .
ARSe UCUOns.ﬁ_J}An questions are compulsary. O S
_~2) Draw neat labeled diagrads wherever necessary. R Al
& 3) Figure to nght indicate fill marks. o A
" 4) Use of log table and catculators is allowed. > S
o ‘:". “"‘ nu g
Q.1 ‘_A) Multiple choice questiéhs. - 109
& 1) InTally to changé'the features of the company _~___key is used. “
O ¢) Fir d F1 & §
- Vv o o
2) The <13 an arithmetical check of all trnsactions done as per date.
a) Trial Balance b) Ledger S
¢) Bafance Sheet d) Profit & Loss account =%
3)  Whigh option is used to enable VAT, .TDS and Services Tax inTally?
8).~ Accounting features b) Inventory features >
%) Statutory and taxation >d) Noneof these
i ) > « \
4) Hn receipts voucher, cash account has type of balance. &
o QS e s »
o, a) Cash & b) Journal "2 Q&
.5 ©) Credit S d) Debit s A
.fl’ 5)  Which option is used iljr_t‘ily to make changes in ;;r“e;ated company? k\'\:‘*
'_,5," a) Select company. b) Shut company ,\'-’-"
KL c) Alter X d) None of these. S
| N 6) Gradual and per_r_n;z'nent decrease in the val_ué of assets is known ,.:’:\_
'.\ as ‘ Y v \:- ", ¥
N a) Discounty b) Ipferest _3‘.\
. c) Deprt}gialion d) ,fnstallment -
7) is,grf explanation of the yourr;:;l entries passed. \g?‘:
a) Invoice .B) Voucher D
¢) Iransaction ~ d) Narration oy
B) Salet journal records only __.\ _Sales of goods. .QQ‘\?\
@) Debit v b) Credit g
~xC) Excess Y d) None v
9‘{)_? ~ Tho entire ledger is sumynarized in the formof a =
N a) Journal b) Balance shept
X c) Finalaccoun d) Trial Balance
r;,’" 10) According to !a‘w;vho has to pay TDS to trm_l'r'tcome Tax Department?
el a) Service Provider ~

b) Servicg Receiver h
c) Servicd Provider and Service Recewver both
d) Therd is no such provision of

\ ~
- -,
o _I. .
ye LW
\ -
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B) Finj & & SLR-DG-41 S
1 nxthe blanks, 6»3‘ - 055‘;\
Pense j | . - nR
2) Stook o 'neurred on administration come ufter expense group. &
3) Golden r'UT;S g?‘n be viewed through ‘book, R
giver, bg\; Classification of accounls_\;;:___ the receiver, the'§'
4) Sub N &
40 Menu is used for v her’e i N
5 N oucher.entry in Tally, ™
6; #éi;’{i‘?:otho_OWes money to the biisiness is calléd T
ass Ntinvested by the proprietor into the business is called
(’%‘)\—'——-—' \’DQ nD\
s . Q 2
Q2 Solve any Eight of the following, 2 & 16 K
E) Jynatis mean by voucher? N 4 3
) cbong form of E-TCs R S &
€)' TDS stands for N &
4} SLM stands for v & A7
$®)  Liability A2 o Vv
\-"bQ f)  Stock Groups A RS R
S RC o & D
o9 odowns Q N
.~ h q, N -
2 v ) Ledger {1‘} \1{_2 £
Q\"\ !) FIFO stands fop & Sbe
J:{— i) Depreciation 2 (555\ &
K3 & & NI
3 Q3 A) Attempt any Two of the following. ,QT"? 10
1) Definé Accounting and Explain Internal and External users of-&ccount.
2) What is TDS? and how to create FDS Master and Ledger ip<Tally.
3) Praw journal specimen ledger specimen, Trial balance and>Balance 3
<Sheet specimen. D r;-l‘\ S
B) A@V\at is E-TDS? How to create C'_I;BS ledger. ,,gr:" 06 §\
N & 1‘1 .:\‘}
Q.4 g‘lﬁ Attempt any Two of the following. O 08 o
& 1) Discuss the different tgasons for difference in balance shown in cash A
™ book and balance shiown in pass book. GQQ o
D 2) What are the advaﬁtages of computerized accounting software? ﬂsﬂb
S 3) Explain the fea;gtes of tally. o= KL
&@Q B) What is mean by piirchase order? How cach\eate alter and delete > 08
@ purchase order, & k3 S
-.Si'\ \Q" . Nl \"39
&~ Q.5 Attempt any Twolof the following. B & 16
- a) Define voucher and explain differentdype of vouchers. N
b) Define groups and Explain types of.groups with example. D
c) Give th;e,.{"”advanlages and disadve\tb‘tages of computerized Tally;
& v —
v‘i\ c‘\'.\ qu
> - &
=< D ASE
3 Q
£ & &
\3 S &
o 9 W
©° ;_\;-.\' R
& N o
o & ;o
> - o
n.\,w T (‘;\m\
s & &
\
, S) N
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B. -2023 Q
C.A. (Semester -IV) (CBCS) Exag]matlon Oct/Nov-202
< OOPS with C++-11 (15409401) &
Day & Dale: Wedne hy 13-12-2023 ( Maa,O'Marks: 40
Time: 12:00 pMm Ta: 2:00 PM ‘.:‘F‘ <
Ins > %
tructions: 1)"AII auestions are compulsory? 2 >
+.2) Figures 1o the righi place indicate full marks. WV a0
q ) 4
Q.1 Mulﬂple choice question. »L(—)\ ) 08 y S
1) A virtual function that has no definition within the base class iscalled . ,c:")
> @) Pure virtual funchc}‘x b) Pure static function v
$ c) Pure Const funcdbn d) Friend funétlon &
® N
55‘5\ 2)  We can create ob;e’cts of the abstract class ‘
N A Tue W b) Falsey &
Q{F 3) Tocreate an omput stream, we musl declare the stream to be of class "j'—"
\:s; a) _ofslrearp b) ifstream X
& c) lostregm d) None of these O.;?\“
> 4)  Which feé}ure can be implemented usin§-encapsulation? R
a) In\hentance rB’ Abstraction v
c) Polymorphlsm 3°d) Overloading v
) An‘exception is thrown using D keyword in CPP. & _Z:S‘x
-8) throws A b) throw Kt b 2"
'”‘C) threw ‘:93! d) thrown oy K
6’» When a child class inherits draits from more than one parent class, this type Pf ?
of inheritance is called % inheritance. o
_\.i’» a) Hierarchical 5 b) Hybrid & oy
&) c) Multilevel q:' d) Mult pra i
Qé\ 7) By default, all the Ftes in C++ are opened in -~~~ mode. v
£ a) Text 5‘3 b) Bmary N
2 c) Isch v d) VTC o
™~ NY 7
N 8) is used'to move the file pointer to° Start of a file. ey
Q a) ios:beg tb) ios::start &
' c) ios: \g:ur Q d) ios:first ~
,\ 'ﬁl/ Q‘{'\
Q.2 Answer annyour of the following. o 08
a)  Whatis file? \'\’
b)  Which are the file opening modes used in CPP? v
c) Whatis mean by pure virtualfunction. o
d) lehat is the use of mhentance? AP
e)q, What is mean by polymorphlsm? n{_‘cf’
a What is mean by contalnershlp’P oY
r‘rJ Q\ =
£ o
f,\':'s) ‘:ﬂ‘ oy
) W o
~ Cé.b o
S o &
o Nid &
S n{}' NS Page 1 of 2
2 » il
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Q.3 Write short note on any two of the following. \::“ ,fiQ
a)  Protected visibility mdde. w &
b) Class template. o S ,-\
€) Virual base class. D 5
o o v
Q4 A 2 o = 08
. nswer any two’of the following. < =
a)  Write dowit characteristics of pure virtudl function. a
b) Explainks'fream classes. o o
c) Explain virtual function with program: ~
oV B ¥ 08 .
2 -
Q.5 Answeriany one of the following. o n;r:' Ax
a)  Explain error handling mechggii‘sm using try, catch keyword. .~ :’v"
b) %f}cExpta:n any two types of inheritance with program. _\\ <7
~ - > 5
\\: (\}' \’.‘.’Q -OS)
= > 8 v
o S Ny >
> ~ N it
9 & N
&, P o $
\ e
’f}l :V - \.-‘9
Q'R 3 g (00
..:k. o 'l;?" ‘_\\‘
> ,.S\) (gb -:'?‘
n N )
5 ] AP Q
: o D Y
& & il
'Q\. _\"‘:\ ?)/ \
\T O\ Qo> \}
Q‘S\ 3 ) “;‘E‘\
& X ¢ =
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n \ v <
Q | s
- &y 0y N
Vz = - o
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B.C.A. (Semester-lV) (CBCS) Examlnatlon Oct/Nov-2023 :‘3\
Data Structures using 'cd.0l (19409402)
Day & Date: Thursdgy, 14-12-2023 Max? Marks: 40

Time: 12:00 PM Td 02:00 PM n\)& K
~< ~
Instructions: 1)‘AII questions are cornpulsory\ o o
o 2) Draw neat diagrams and give equations wherever necessary By
3) Figures to the right indjcate full marks. -‘»‘ <Y
.«y 4) Use of logarithmic lable and calculator is allowed. . o ’
& 5) (At Wis.: H=1, C=1270=16, N= 14, Na =23, CI = 35,5 e
~ .‘(\ O 8(,/4
Q.1O§Mult|ple choice question.© 2 2 i
& 1) Which of the followingproperties does a simple graph hot hold? -
& a) Must be connected < 5
§; b) Must be quelghted ,-_\*- &
& c) Must havé no loops or multiple edges R“‘ S
N d) Must have no multiple edges Q"" J:\
é’} 2) Breadth Flrst‘Search is equivalent to WhICh of the traversal in the B:Q(aFy
v Trees? & I
a) Pre order Traversal (63 Post-order Traversal
c) Level order Traversal In-order Traversal -©
S -
3) “\} is not a stable sorting algorlgﬁm‘? r:," o
"d) Insertion sort @ b) Selection sort v &
| '\fc) Bubble sort S d) Merge sort o'\' N
| 4}:3 Which of the following is no@n advantage of trees? .3\ _,f;r}
\, a) Hierarchical structuré” > ;\\;"
v b) Fastersearch < & o
| S c) Router algonthms S o
| b d) Undo/Redo o%ératlons inanotepad o
~7 &= N
} O\-'rg 5) Heap can be used-as N o
| @ a) Priority queue b) L%tack §
| §‘2‘ c) A decreasmg order array d_{ Normal Array =
< 6) Whatis an AVL tree? “v @O
' a) A tree which is balanced and |§*a height balanced tree ‘\:\\3‘
b) A tree which is unbalanced and is a height balanced treeg™
c) Atree with three children qg" X
\7\ tree with at most 3 chnld?en bv}‘
7) Wh’iéh of the following is not gnon-companson sort? Q?’
Counting sort oy b) Bucket sort»_,
Y‘ c) Radix sort OJE:? d) Shell sort,g
8) The Depth First Searcl;i‘traversal of a graph will result mto?
o a) Linked List 4= b) Tree~
7 g c) Graph with pack edges d) Array
B (‘\J = \
e v N o
C RN & oS
5 < -
t\ ~ \g\:
8] el -
S S d
Qo o< Pagelof2
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Q.2 A 3
- n v
a) SWer any four of the followi > 08>
Defi ng. > 3
b o rne Leaf Node, > g ¥
efine Strictly Bingw 2 2
a 4 .
C) AVL Tree. Y ijy Tree. . =
) Undirected Grafp it N
?)) Merge sort, N 3
What Is P'r “Order Traversal? \C‘ ,:;-\
Q.3 writ No v
e short: > %
a rtnotes on any two of the folflowi > 08
) What’- s'H owing.
Writ\é% : ﬁt'ap Tree? Explain its typgs. &
e 0 . 'l N
c) lain cor? Ontpamtlop exchanged sort (Quick sort). ¥ =
2 Cept & lermrnologlg_é“used in graph. ,:;-\‘/ 3
Q.4 Anh\.’ \ PlI‘
s i S
a)* W?Ira?!‘y Two of the following. O 08 .°
) wn Is tree?'What are l'hevadvantages of tree over linked'fist? o
S atis Hashing? Explaif di i > Y
2€) WAP of B piain different Hash functions. & o
X Inary Search,Using array. X oy
S gt Y S ol
1Q.5 AI'ISWer \"L«Q {3{ < y
N a) Wh ?!‘Y one of the following, & 5> 08
Q& vhatis searching? Explain i ing wi 2
e ) disadvantage e plain categories of searcglmg with advantages andva
:-:4 . ﬁ{ '\_J
\b“ Explain BF%t\Paversal of graphin detail. .© N
v & -
@O Qﬁ"} g
> % i
N v 35
< ) o
£+ g ay
S S o &
@ 3 o Ly
<V ¥ & &
A K> " <
o~ e g o ~3
6 3 N '\.'\\ 'OV
n@ Q\ ~ v
v S Q
&N > S 5
N ¥ & 9’
D 2 N 2
\‘3’_{2\' D S“: \Q/
COO q-:; & g
& S X :~
S v \ &
- = 5y
Q‘ .\t‘ ."\(9 Q
.— S 2
S\ ~N ‘;'\
o N
R v =
a 09 |Q
< v N
& v >
) N ‘(:S
\._,} N o
d N s
o & >
$ S &
v N o7
o Q\§ 2
Sl N 3
QO
Y \s NG
S & 23
L (%) \\-
2 & &
N a 7
S & &
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B.C.A (SemBSter IV) (CBCS) Examihation: Oct/Nov-2023 X
MysaQL (19409403 v
Day & Date: Friday 12_2023 ysaL ( 9 ) Ma;g?;vMarks: 40
| 'me: 12:00 PM Td 2:00 PM d;,i\ “DS.‘-
ns @ .
tructions: 1)\A|| Questions are cornpulsor,y !’5[;/ =3
igures to the right mdlcate full marks. v oy
X 2] v
Q.1 Multlple choice questions, {9 o 08 8
1),\‘\ Which statement is used. 16 select a default database? S &
. 3 UsE Q b) CREATE P &
& © DRoP N d) SCHEMA & &
> .
e 2 Which keyword in /8 UPDATE statementis used.f5 assign values o N
N a) ASS!GN o b) SET> o
§ c) MARK ~ d) GET &
O:{;x 3) The \‘constramt can only be applied%t column level. =
£ a) Foreign key b)1>Primary key &
C) No “hull )3 None of above KN
4)  Whigh) procedure parameter enables;lhe caller to pass in a valg ué and get
ba(’: avalue'7 ~ o >
ai)f & b) out 05 B3
) INOUT & d) GETINOUT &
5),3'\ In the fo||owmg SQL command “*" stands for? & ‘0’ N
&~ SELECT * FROM person,,g_b o »e
o a) Retrieve all data frqm the table o L
o b) Retrieve data of ptimary key onl o v
& piimary key only X Q
N c) Retrieve NULL data o &
Qe‘ d) None of the menhoned & (\r?'
¢ N Zl
0)63: 6) What is generally'done after the transacthgs are executed successfully"‘
= a) delete o~ b)x"rollback )
S c) commitn d)’ update a
_‘3 7)  Which of tt\le following statements does not modify the table? \\\\O
a) Insert :-;, b) Update N
] Dg?lete r{f} d) Select §
8) Whldh of the following is case sénsmve'? <
i Stored function name ~° b) Stored procedife name
{: Trigger name » d) Event name.&
<= r§§ gr?
N kg
O v
& 4
\:-'? 'DQ
Cb‘::_ 6\
G @
N =
a? g
& 3

i i Page1of2
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a) Wer any four of the following & 08
;) What ig View? AL ' oy 3
c)) atis Joiny e &
_hat Is mean b)f.imnsacllon? &
d) ifferentiq) bet
0 whar € bélween (he Procedure and fuhttion Q
at is Graup Function? £ N
N alis Cyirsory ) =
&;P N o°
Q3 wr 1
2 ite shlort‘:no S on any two of the fo]f%wlng 08
b) Xp ain Alter Commands with example., L7 -
c) XPlain any fOLfr Numeric functions with example, Ry _:}‘
gztplaﬁn the varioys Operator ysed in SQL. (r-'*‘/ PN
l'\‘. Q\ 4 < 4
4 S - o
= A.)?Swér any Two of the follov‘vgn . O 08 5
b) V\;(D'al'n Aggregate funthion with example. ;::f‘f rsj’
(}-sc) hat 'S sub query? Explain its type with example. ¢ ey
R Xplain Union and Intersect set of operations with eXample. R
@5 A P &
Sa nswer any One of the following. = & %%
H \ N [24
\93\ a) Explain Group,by clause and Having clause wifh example SO
\;} b) Explain Drimgry key and foreign key Constraints with example Q__,\\'
y q ~> N
;\ 6b r{}) : N
& 3 3
S & &2 ‘
g ¢ " B
D S o A
S N QY &
- o 4 N
$ = N
o & S %
o~ > 8 A2
S & 3 &
LN & =2) ﬂ\-y
$ < S N
i Ny N 2}
G o B "
S & & S
K] v . e
E\\_ r'b\ < '_‘;‘
~ N oy >
N & %o &
= N ~ NI
o ™~
3 $ o S
S I Q@
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o 5
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B.C.A. (Semester - IV) (CBCS) Examination: Oct/Nov-2023 &
o "~ Ethics and Cyber Law (19409404) ' )\A _
22y & Date: Saturdgfy, 16-12-2023 Xy MaxoMarks: 40
Ime: 12:00 PM To 2:00 PM N ©
& 2 .
Instructions: 1)’7\II questions are compulsory: ﬁc;g’ &
n;z) Figures to the right mducate full marks. W o
N \‘ ) vl
Q.1 Ch%ose the correct alternative- from the option. r\\ 08 S
123‘\ In which year India’s IT Ac(’,came into existence? Qi‘ &
~ a) 2000 &> b) 2001 P Y
55‘ c) 2002 S d) 2003 sf’? e
cgéb 2) Which of the followmg ‘term refers to a group of hackers who are both white ™
o~ and black hat? v Q:S"
S a) Yellow Hat hackers b) Grey- Hat hackers e
& ©) Red Hat Hackers d) Whité-Black Hat Hackers &
Q’? 3) Release of Message Content and Traffic anélysus are type of S
e a) Bothiactive and passive attacks [ &
b) Nefﬁ1er active and passive attacksu -
c) Attive attacks v ot
d) QPassive attacks L > iy
4) -,'S* is not a spot from where attgckers seek information. ,(3\ Qq?‘
&a) Domain name & b) IPaddress O =
©7¢) System enumeration \\"? d) Document ﬁl\e:s\ {_P
ré)cj Which one option is not a tgffg of cybercrime? N &
A a) Data theft b) Forgery £ S
oy c) Damage to data and systems d) |Installing antivirus for protection o
S &Y &
o 6)  After performing the ethical hacker should never disclose client n‘j"
oy information to other- partles S S
05-}" a) Hacking (g’," b) Eracking \"
.~ c) Penetratmn testing d) mExplomng =
& ~%
& 7) is a component of the reconnalss‘ance stage that is used to ggfher
= possible mfo\rmatlon for a target computer system or network. }\
a) Flngerprlnting > b) 3D printing ;..%‘
c) Foo}prlntlng qSJ d) Data printing 2
8) Cybqr—crlme can be categorlzed'g’ types. {5‘\
a)> 4 T b) 3 &
g 2 N d) 6 a3
& ot ™
3. v
Q.2 Ap s‘.ver any four of the following. o 08
a) Define security aspecta.. o
~b) Define Botnets. <3 Y
,.gq‘ c) Whatis password cracking? o
v d) Define criminal as;-pect =
S e} Whatis Ethical.Hacking? e
N X _’ « NI
S f) Define Cyberstalking. S
> nn:’ ‘;-"\
Q A\ &
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a)rlte Short notes on any two of the following. ~3 5"‘
b Explain weakness in-lAformation Technology Act> &
Explain Cyber offenses in detail. S &
€) Explain Network. —Securlty Challenges. é{? Q*:’:
r,) - 8
Answer any Two~of the following. " S °
a) Explain Essential Terminology (Threat, Vﬂlnerabnllty. Target of Evaluau?jrr,
Attack, Exploit) S
b) What 15'3 keylogger? Explain types dﬂ«eyloggerS o
c) Whal,is Foot Printing? Explain objectwes of Foot Printing. ,,‘Q,”’ =
S :j)' 08
Answer any one of the followmg ” Q,("J
a) MWhatis Ethical Hacking? EXp‘lam Scope & Limitations of Elhltal Hacking WS
N “"What are the skills reqmred‘for Ethical Hacking. Qo 8?
by Explain any Eight C[ass{jcahons of Cybercrimes. R Lv
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PiGEA (Semester - 1v) (CBCS) Examination: Oct/Nov &
S Angular JS (19409405) =
Day & Date: Sunday17-12.2023 19 Max: Marks: 40
Ime: 12:00 PM T6:02:00 pm § o
Instructions: 1Al questions are compulsory _r{;" K
,{bQ) Figures to the right indicang'full marks. ~ é:;‘
’ o, /\
. ! Lo 08 ‘p\
Q.1 fhgg?sAe correct alternative froriy'the following. o o
)" Angulards is frangework, g oY
= a) Javascript S b) Java D RO
& c) Html - d) None of tbérgcfhese Rl
3" 2)  Angularjs is based.gA pattern. & -
C"J ‘.‘\._, ~ N
o a) PVC Y by mvc @ N
Q@ c) TvC A d) No@:of these S°
~ , ,
5 3) In A”QU|31'J‘S>§I. is the HTML which isf&sponsible for dlsplaymgfﬁe
= data. 3 N o
S a) cssa’ b) {*View &
c) Tabld 93\9 None of these S
N . . '
4 A a:‘ IS an object that represents the application model FQJ}':EH .
Angularjs application. > X S
a)" $scope S’ b) data o =
. 3 v q
&) view & d) None of thesed =5
[N % -l
5).> Each AngularJs application‘;\éan have only FOQ%CODB- &
< a) One & b) Two <
a c) Three L d) None of {hese ~
g , N K v
N 6) s used to build Single Page Application 3 &
R a) Object NE b) Roufing o
R c) Bothaandb =~ d) l\g\é'ﬁe of these 2
- S
{?0 7)  In Angularjs al‘[lgﬂfectives start with \.Skeyword. S
& a) ng & h%é‘“ $cng &
N c) sg A ) None of these o)
i 8)  AngularJSexpressions are placed inside . \-;3\
a) <expression> & b) [expression] G~
c) {{€xpression}} ¥ d) None of these NS
- =Y __"‘s'.\
& R 3
Q.2 Answeriany four of the following: NG 08
a) rite any four features of AngularJs. e
b) What is MVC in Angularjs?*Draw the diagram of Anguldrjs architecture.
c)< What is Directive in AngularJS? Give any four names,of directives.
d)” What is ng-init directive in Angularjs? o~
<) Whatis data binding-in Angularjs? B
{ga"f) What is $apply in Angularjs? S
v 3 X
A % oy
N \Q .\\?
Qg\ ’_:;\ ’g}
\G}Q Qv \.Q\
@0 K .QLF Page 1 of 2
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Q3 write short note on oy, tWo of ¢, - 085"
a) Write Short Notes on b(—:-rse fO"owing_ '3:;\ Fo 2
X Suitable example.sl\ and String Expre\gslon in Angularjs with S
) rite Short Notes on > : »
Write shor notes on $r000c:ule °nd How (g cregle a Module in Angularjs. N
- SCope ang Scope'in Angularjs. QF
Q4 A Sl WV o
. )ﬂsvéer any tém of the following. AN g 08
A Explain ti§g. i o ‘
b) r'ijte - "O-Way data binding in AnQL{[aer With suitable example, 2
©)  Exp| ]gros a'l'f kcons of Single Pag?zﬂADpHcalion in Angularjs. o~
.\g Ng-click event in Angular\J‘sJ:wi Suitable example. r(g}’ y
g T v 3
Q.5 ;nsv%&r Y one of the follgwip, N v 08 ¥
: . . AN s »
N r'rllte @ Program in A”QU'afjﬁﬂo accept two numbers using ng-model and O
b’j-\“\ prin a.ddltlon..sub ractron\Lﬁultlplication and division of twosriumbers o~
' at 'S NGAnimate Mo lule? Explain Directives Supporting to animation in N\
‘5\ AngUlarJS, ,\"1 .(OD ﬁ{l
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B.C.A. (Semester -1V) (CBCS) Examlnatlon Oct/Nov
Advfmce 4.0 d Computer Néiworks (19409406) <
Day & Date: Monday? 18-12-2023

Time: 12:00 PM T¢:02:00 PM (f\ ) |
Instructions: 1)‘~¥\II questions are compulsogy v >
+2) Draw neat diagrams and give equations wherever neces%/ary (\,\Q
A2 3) Figures to the right |nd|cate full marks. 3} o
{‘P 4) Use of logarithmic tabLe and calculator is allowed. - -’b\
03-9 (At. Wts.: H=1, C=12;0=16, N= 14, Na =23, Cl = 35.5) &V
~ Q) 3 08
Q.1 SMultiple choice questionsz. N &
&% 1) A collection of hyperlinked documents on the internetforms the N
& a)  World WideWeb (WWW) b) E-malFsystem S
$ c)  Mailing Ilstﬁ/ d) Hypbrtext markup |3”9U3990,§
\‘S‘Q 2) _____ versions™available of IP in computer netWBrk @
N a) 6 vers@n b) N4 version R
NS c) 2 verswn d),~ 1 version Q{i‘
~ v 4=
3) Why are‘panty bits used & &
a) _Jo encrypt data ~'b) Todetecterror <
c) R & To identify user X d) None of these _\.'_\ o
4) When the mail server sends mail to Sother mail servers it bece_mes . &
:8)  SMTP client R b) SMTP server &
C) Peer (“:9 d) Master {:‘} \_‘:;}
@ What does a set of rules def‘ne o N
o) a) SMTP & b) FTP ~
'Eg‘ c) IMAP \\\ d) F’roféoﬁol c\.\-{"?
o~ 6) Whatdoes PoP standfor . O o
N a) Pre Office Protocol b) \Eost Office Protocol oy
0)5"” c) Protocol of‘{Post d)Q‘None of these iy
g;" 7) Which of the follp‘(rvmg are transport layer protocols used in networklng?\‘\
> a) TCP and FTP .ob) UDP and HTTP 5
2 ¢) TCPZ3nd UDP ") HTTPandFTP (@
8) Which sot,tware prevents the externgl‘ access to a system _:\?‘
a) Eirewall % b) Gateway e
c) -&Router \'\" d) Virus checker =
’K N S
Q.2 Answe’? any four of the following. Q- 08
a) VPN & &
O
b) «~Encryption & decryptlon & 4>
‘c)" Samba Server S {Q>
rg!) Data Compression Q-I—‘ oo
- ,9 e) Digital Signatures e
) f) Optimality Pruncnp\te R
g 8
=~ ~ -
Q‘?‘ () =~
a5 3
\‘3('2 “AVQ L,
&o -3\' & Page 1 of 2
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. rite short notes on any-i\uo of the following. - 5'?‘
a) Explain Congestion Conltrol in Virtual-Circuit Subpets. NG
b) Difference betweeq‘TransmIssion Control Protacol and User Datagram -~
Protocol. s V2 >
- N s i7"
¢) Explain Roles &Fesponsibility of Network Adpvinistrator. ¥
'?\ o = 08
. r A3
Q4 Answer any t!yff of the following. o . .9(
a) Explain Althentication Mechanisms in:network security. o
b) ExplainSSL Encryption, TLS and SET. ) ~
c) Explain Elements of Transport Prqt)cicols. &Y <
Q) N D N
] . ) o~ 08 &1
Q.5 Ansvy\%r any one of the following.x® & e
a) Explain Shortest Path Routingalgorithm with example. ARP ~
b)JElaborate FTP, DNS, TelNet; SMTP, HTTP, WWW, SNM%**’A ' &
8 S &
O G :;"8 &
& & o 3
v s
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N 3 s >
S 3 A 2
X N 2
& ° >
\ ‘:\ = _1’4
\T\\ ) iy >
Q o
Q\‘ R ) Pt
O v e
~ (%) () ~
B v =
D e o
N G N "
o S ¢ &
9 & > <
N et v T
Ny o 3 5
qu Q‘\‘l o '\‘\
4 [ Y
Q > & o
> = N ®
< “ . !'|'.
S = o
3 8 S 3
> " S &
3 > =
6\\.‘ ("‘;3 IQ (\
2 o a &
& &S = >
Q R o -3
S 2 N =
< N J
; > . 3
S ¥ S
_ A\ <
& W N
< & =
o . X
) 3 S
= = 3
~ Q ™
) S &
&
N N o
o~ N ©
('ﬂj Q-\? < 3
1 [ N
& 3 ¥
£ N <> .’:\\
Q \g S
N Q 590
2 & >
O ‘-‘3\ 3
) 30 Qc
\,DQ "9 NS Page 2 of 2
e QO =
7 B



&
) WV
_‘ =)
SLR-DG-49
& [r,
Q =
2 Y =, St
B.C. S oS £
£ (Semeiter - V) (New) (Cﬁg‘ﬁﬁ\%ination: Oct/Nov-2023
N ENGLISI;LT‘ 3
< i f b
Day & Date . & Business English(20409501) &
= n¥ ! ate : Satyrday, 02-12.2023 & Max. Marks: 40
€- 03:00 PMJTb 05:00 Py & % .
I H % P} -~
ﬂStruet;onsé;ﬁ) All questions are compulsb?y. gl &
ﬁ?‘} 2) Figures to the right indigate full marks. & i
Q.1 Re‘\(}v}rite th - ;,‘:k' i A
Y '€ Sentence by filling the blanks with the correct@nswer fromthe 08
_Given options. e e o>
& : . .o . 0
& 1) What occasion is being celebrated in the story ‘The Giff of the Magi'? r"f“/
&® a) Easter 2 b) Christmas S
CD c) Ne Y " Q" T ) "
‘_}\ W Year's \ d) Della'gbirthday I
. =V s
Q\S‘\ 2)  Who came to visit Phatik’s mother? & ¥
o5 a) The!r Qﬁ"fﬁ\afather b) Their uncle @
< C) Their aun d) Eousin S
e . il =i
o 3) The girl [%ﬁhe poem ‘The Solitary Reaper;ﬁ?}vas : &
a) reaping and singing rﬁ) cutting and bending .
¢) sihging and dancing «d) reaping and quarrefll\iﬁg
s ' \
4) Thgk ueen Gulnaar desires iy & o
a) The King's attention & b) more jewellary > &
r\_}%‘t}) a rival 033’3“ d) more clothes > Kok
5),> The schoolmaster lives in .~ Y @
Y a) cottage X b) bunglow © el
QR C) mansion _:Lg d) apartmgrfﬁ .,JQ‘
N\ o) o~ \
& 6) The ‘road’ in the poentof Robert Frost is the syn/}bbl of . ,A’E%
D a) the difficulties ofife b) the.fdn in life K0
5§a c) the attractive : aspects in life d) };@é7'choice in life &
& 7) He has sold hishrcr:]ér. (change the voice of this sentence) $
§ a) His car had been sold by him b)=" His car has been sold by hi
Q"é c) His carthave being sold by him d) His car having been solgf\by him
' 8) Don't losechope. Keep and yof]\i:vill surely succeed. (Fill ir}sfhe blanks
with chogsing correct phrasal verb{of the following alternativest)-}‘
a) gging f\f“f b) going on ~
c) .xgoing with o d) going at o
& N S
Q.2 Answér the following questio(r.\@. (Any Four) R 12
1) sWho are the Magi? Why are Della and Jim called Magi?
2)" Why did Phatik suffocated in the big city? g
3)" Describe the use of nature and harmony in the poem ‘The Solitary Reaper.’
fbti) Why is the Queen Gulnaar unsatisfied and seeks™a rival?
qsg’ 5) Describe the chatdcter of the village schoolmaster.
7 6)  Whatis the significance of the two roads in t’r\\tfe“ poem?
v & &
~ ™
£ A N
__\\\.. (5..'"3 O:-\.‘.
urrO\FD Y ‘;.\\L_ Page 1 of 2
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No. | 3483520 9 R et~
: L‘) I
B.C.A. (Semester - V) (New) (CBCS) Eb%mmatlon octINov-202§
\ ="
D Core Java (1 940 502) Q ,
Day & Date: SundaVQ‘OS 12-2023 Max: Marks: 80
Time: 03:00 PM T8:06:00 P § &
Q -
Instructions: 1)3All questions are compulson S & S
cz) Figures to the right mdlcekg full marks. o ,)_Q
S o
Q.1 A) ‘\ﬁUltlple choice questlons.\- O , 10 &
1) Which is the followi g'is a method having same nazn'e as that of its &
o Q o
S class? & &'D v
§ a) finalise g b) delete & T
0)0\"‘ c) class .-{;J d) conslrucfor <
{\3\\ 2) Althe vana@es of interface should be ___i& ,Q$
& a) defaulfand final b) default & static o
N c) publE static & final d) protect, static, final ”@
= 3) JAR t‘ands for ) N4 .‘g'.fir‘?
a) Java Application File b){?J Java ARchive ﬁ
CQ\\Both a)&b) "\/‘) None of these Q.;;'»:-
4) QQ‘ he default layout manager of@frame is < .
§ a) FlowLayout ~ b) BorderLayout Y >
‘B c) GridLayout Q\“\ d) BoxLayout 5 Q{*‘
rb !
%QS) statement is use '?i to call the procedures, &‘?unctlons @“'
o a) Simple & b) PreparedStatement L
fé\r c) CallableStateme{R d) Allof th_g\’é‘e nv;‘:
{iﬁ 6) JDBC stands for & Q‘\ o
RS a) Javadb Coﬁhectlvuty b) Java‘data Connectivity q(/‘;"
> c) Java domam Core d) I\{one of these ,fu‘
\Q-Q 7) Which of the:Qe access specifier can baused for an interface? (’:,‘3\
\C:_f:' a) Pr-.va}e, b) S Public <>
< . c) Pro\tected . qg* All §
R 8) &’ is an abstract class for Whtmg to character stream data.
: a) - FileWriter 3\\ b) BufferedWriter §
) SWriter Qf;.z d) Noneofthese g
9) EOO is the return type of a method that does not rettf%d any value.
a) int S b) float k3
QQ c) void §\ d) double SQ
Qf(‘)) Which package coqtdins all event handling mterface”
;1 a) javalang & b) java. aw&’
Nl c) java.awt.event d) java.eVent
Q e 5\‘3
Q")r:" -ﬁ‘ o
~ N
& Q a
N o
o it SN
S ) &
& & &
05} ) _ﬂ> 4 o Pagelof2
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B) One Sentence Answer. Q" o \ €
1) Write any two use of ‘super’ keyword. NS 23 7
2) Whatis Array® & <
3) Give the listof JOBC drivers. % 3=
4) Whatis API? & =
5) Give thetse of final’ keyword. v Pl
6) Write ény two java operators. & e
NI o X 16
Q.2 golve any g}\ght of the following. & 1
b) Writetany 2 JDBC drivers. & o ;
) DENfIann of Constructor. - f‘.f" <
g) Gefine throws keyword. & & <
e) th-St the methods of KeyListefer. e <
) Give the steps of Thread Cycle. > &
fP Definition of Potymorphism, \?Q fe:
§9) Define try exception. .-\:‘ @D S
c}?‘Q _h) Exo!atp callable staggg%ent execute(). = <
& 0 What is runtime exception? Q""\ 3
R )  Give the syntax of static method. X &
~ 3 < >
WX B <Q >
RN Q3 a) Attempt anyJ?vo of the following. < ‘.@ a0
L 1) Write a java program to give factorial ofa number. >
3 2) Explain access specifiers in java. a2 2
3) Gr\;qgnote on Method Overmriding. > =
S v 3
b) anéa program to check whether ngzﬁber is prime ornot. 06
- oo
R n‘"‘, -
Q4 a) Atempt any Two of the following. o 08 X
Explain features of java. & g &
Q¥2) Whatis the use of LayoutManager? Explain Grid Layout with example. =
4> 3) Wirite a note on JDK togfs in java. ki >
: . . <. <
@'%) Write a program to dnsplaﬁgwen number in reverse order. (java program 08
) code) > N >
& Q & &7
= > & ol
{E_Q.S Attempt any Two of the following. \:_\\‘ Ol 16
8 a) What is Excepﬁop‘.}ﬁ'—ixplain types of it. = "13\
& b) Whatis JDBC? Explain JDBC architecturei ~
S c) Whatis Listengr? Explain types of Listeqe'\r. S
= ) > \?:Q
= Q S <l
& S
N
Q\‘
8
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B.C.A. o ¢ )
A. (Semestér - V) (New) (CBCS) Examination: Octhov-ZO?}

Q) (*
& Visual Programming’(19409503) q°
204-12-2023 © Map Marks: 80

6:00 PM Q&‘ o

Instructions: ' N
5-&9)3;\;'1 questions are compulsory?
=2 l:)gures. to the right indicate full marks. '’ @

‘_é\, 4) lJraw neat labelled diagrams wherever necessary. " .'_9

a5 ) Use of log table and gafculators is allowed. C\b n)Q'T‘

N\ . [ N) a
A‘) Multiple choice questio%s. 5@,‘2 105,7;-).»

N 1 —_isthe nﬁgessary condition for implementing delegates. SV
foé@ a) Class dgclaration b) Inheritance ge

(o4 ti . O] -,

@\ ) Run time Polymorphis d) Exc\}\gptrons Q\:;

Q@‘“\ 2)  The capapllity of an object in Csharp to take number of different 5

.&\\‘“ forms af?d hence display behaviour as according is known as __2 .
& a) Encapsulation b)~.-Polymorphism =

o c) S‘-‘Abstraction nd.)) None of the mentionqg-r-‘

3) .~ ___classes provide the opergg‘.sﬁ of reading from and V\(ﬂﬁng to
Jthe console in C#.NET, \'\‘“ QQ
& a) System.Array S b) System.Output,.™ X
Q\\‘ c) System.ReadLine & d) System.Consdle ~
N

o
+4) Correct statement about(p"“gnstructor overloading ir,;ﬁtf# is? 4:-2
S a) Overloaded constftictors have the same narfié as the class
Qr){? b) Overloaded constructors cannot use optigfral arguments Q)
v ¢) Overloaded canstructors can have different type of number of

Q coe i &
< arguments as well as differ in number of arguments ,3‘5\’
N

d) All of the gﬁ'entioned @c‘:\

optiogs'?is not a Bitwise Operatogi; C#? v

a) & ! A ~ s

% » r{b b)zx , <y

RS c) <<{,5>$ gy +=,-= >
S

N 6) Choo$é\{he class on which all stgam classes are defined? s’c’q

2 a) System.Inputstream  ,°> b) System.IO.stream & |
c)s System.Output.stream ,©  d) All of the mention@ '

n
7) gg‘f"" the keyword whic%ci“e’clares the indexer. &
,-=a) base ~ b) this Q{\:
N

Day & Date: Monda
Time: 03:00 PM Tg:

Q.1

¥
8
¥

D -

™,
=

oF c) super N d) extract
é) When is no exceptioﬁr\thrown at runtime then & will catch it.

Q%'-‘ a) Loader (}ftzq b) Operating System
RS c) CLR \Z d) Comgij r

& 9)  Syntax for deglaration and initialization of dita variable is

é{:" a) <var__g:§'fhe> = <value>; =~
,5\' T3 L b) <data:type><var_name>; &
- c) <vartname><data type>; P
d) <data type><var_name> = <g§[0e>;
n':’g &
& d
% - Page 1of2
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LY

Q
{ e-Sare
b) Cdmmon lyp cification '

d) Common type Speé >

10) Whatls CTS?, v
a) Common’ lype syslem

c) Comgﬁlér type structure o6
B)  True or false, & — &
1) Classes e reference types and strucis are value typ &
g Dele&gales are objecl oriented. C‘ o5 .
An idéntifier can contain spaces._~ ina Visual
usin sua
4)  Grabhical User Interface applfcatlons can't be developed ! 9
Basic tool. \fcv
n.
5) “The value if a constant can Be assigned only in the declat?f“?"
6)‘33 An object cannot be asslgued to an enum variable. &
Q\ < 16 -
Q.2 SOlVe any eight questions of the following. o 4
a)> Text Stream Qs Ry ;/
B} Common Language lnteEration S LV
<€) Constant RS &
&®" d)  Boxing and unboxing "3 N =
\@ e)  MDI Applications QO ﬁ\ ébk
NI f)  Anonymous Meth¥ds > B
g g) Reference Type &2 @
X h)  Stored Procegures o =
=X i) Finally blogg XS P
3 i) Virual Me"hods & i
& q
Q3 a) Attequt any two of the following. ,SJ 10
- 1) {Befine Menu and explain Conte?t Menus in detail. 3
)~ What is Stream? Explain Sysgém 10 and Base classesqfa?Stream. Q«fu"
3\) Explain Data set and its Ad\(a tages. {1‘3) o
b)G Explain Array List, Hash table\slack and queue. 'C" 06 QQ_‘—
.:‘v !*\\ < ~N
Q.4 ,L% Attempt any two of the followmg & 08~
= 1) Explain Rules for Handhng Exception. @Q a°
S 2) Explain Commomﬁanguage Runtime in detafl. o5
Qs‘\ 3) Explain Paramgter passing techniques. {*r v
OSSQ’ b) Define delegate. rEXpIarn Types of delegatean detail. \Qf 08
Z n =~ >
_._;'S‘“} Q.5 Attempt any two of‘the following. Q‘r‘ S:DQ 16
g" a) Define Inhecﬁ‘ance & Polymorphism. Explaln Operator and method %
Overloading and overriding. 69
b) Explain | DbT Parameter passing t\eéﬁmques Q:*‘
c) Howtof ‘Establish Connection with*Database? Write a program*of Executing
sumple Insert Update and Delete commands. <
~ I &)
g a0 &
3 & 2O
Q‘Q} -C}fo (Qq?
-."S) b:;:\{- “O/\b
< 5 S
I = K1
& & §\
A = Q
o q @
» > 5
Qb\ v <2'§.
>
é‘m .""?" ‘_-.;;"‘_ Page 2 of 2
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B.C. 5 3
A (Semester - V) (New) (CBCS) Efamlnatlon OctINov-2023
< Computer Gra hics; 19409504 &
D;)]/ &c?a.te: TUesdag\OS 12-2023 i - ( ) Ma'}t'_ Marks: 80
. &: 03:00 PM 15'06:00 Py S S
] ".‘_)Q 4p)
| Instruction o v :
{ 85 1) All questions are compulsaf§. Y Q"
q‘;{? ) Figures to right indicate fﬁh marks. Ay v
Q1 A g S
A&_\ Multiple choice questiops S 10 a°
\Q' 1) The transformatlonun which an object can be shnfte& to any coordinate S
S Position are called : I v
639 a) Translatiop,” b) Scahq@ &
& c) Rolatlon\\j}’ d) Shganng N
o) .
N 2) If P0|YQ0n(,§1}s total 'n’ points then first argg\r}’—nenl in drawpoly( ) funcélph
Q is Q 2
N a) n § b)>n — 1 N
_‘\? c) n}i ,.,d) n+1 Q‘N
2]
' 3) BY*HDpiylng type of lransforrnatlon we will get the mirror image
of graphics object. \'\' 5
Qa) Translation & b) Scaling il
{\;\ c) Rotation S d) Reflection n)c:. S
034 A translation is applied toéa% objectby . ,§" ~‘-:‘-
&> a) Repositioning it alorig with straight line path K =
$ b) Repositioning it ald‘hg with circular path er} r\_,Q
& c) Bothaandb Q'\‘ - R
X d) None of the abbve & =
& 5) The matrix reprqfsentatmn for translation mj\ﬁ:)mogeneous coordinate's; g
S is given by eqk . S
> a) PP=T+P b Z;"P' = S*p &L
& c) P= g}@’ d) P =T"P o
§ 6) InCRT »\tha electron intensity is adjusted using ____ . }@Q
g a) Accelerating anode " b) Control grid &
c) Electron gun I‘)Q d) Focusing anode _§\‘
7) Th‘e quality of an image deqend on . \g‘“
{a No. of end points used’by image >
S =b) No. of line used bygnage Q?
g< c¢) No. of resolution Qsed by image o2
X d) None of these ,9. o
,,?\a) is responsntife for accessing the frame b@ﬁer to refresh the
R screen. &
s a) Graphics Package b) VL@EO controller
ﬂcgf c) CPU ¥ d) Monitor
\-»f‘\/‘; 9) For scahn@ parameters If Sx = Sy therm__?
g a) Slze‘ﬁf image decreases g Size of image increases
Y c) Umform scaling is done N =d) None of these
= <3
\foQ q"b -E'Q Page 1 of 2
=3 A X B
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10) - computer’braphics is also called as Eﬁsslve computer

graphics’. 9 v

a) Interactiye ('.. T b) Non-Interactive -

c) Both \ac& b d)“) "None of these S

B) Fillin the bl\ankl Definition/One sentent;?.f answer/One word \\{?

answerIGwe the name/Predict the pgoauct etc. qQ°
1) Vldéo graphics array standard is AV

2) X s equivalent graphics functron to clrscr( ) in textual made.

3) < is Cartesian co- ordrnafe point is equivalent to homogeneous co-

Pordinate point (78, 12, 3). \f? ol
4)}5 A line graphics object requires number of end pouﬂs for
& construction. Q& &
¢3’5) To change the position of circle or ellipse, we translate .
~
cg,\ 6) Types of computer ﬁraphics are . \@Q
N G &
Q. ZQe olve any Eight of the followmg o o
¥ a)  Whatdo you mean@‘,’r computer graphics? & _\"
\\C? b)  Write merits and. demerlts of DDA line drawing alé’onthm <
NI c) List out graphical input devises. - &
= Q o
Q d) Whatis chppmg’? a, &
._\\% e) Whatis vector graphics? R ’{?
< f)  List out application areas of computer gragrﬁlcs ol
W g) Whatis yanishing point? an’ It
h) Whatis: pnxel phasing? QU Q>
i) lefefe\ntlate between line printer and;aot matrix printer. ,gb
J) LIS\MUt various operations performed by Display controller. >
Q “'3
Q.3 a) .x'jAttempt any Two of the folloWlng _pS-‘ 10
< 1) What are the apphcatlons’ of computer graphlcs’r’
A° 2) Write a short note on ,ény one graphics output dévVice.
{\(P 3) Write the drfference~beh~een ‘Raster Scan dlsplay and ‘Random Scan
95\\% Display'. é\ @Q £
S b) Short note solve ,,q,q- & > 06
\;‘:\ Digitize the line se%ment having starting ponn\’(5,7) & end point (11,15) .~
eoq using Bresenhams line drawing algorithm. Q*:' =t
& f:,. J:- QO
S Q4 a) Attemptany.] Two of the following. Q’\* \,;,'5' 08
T 1)  What 1$\vrewmg transformation?-v &
T 2) Rorate a triangle defined by A(g 0) B(6,0),C(3.3) by 900 abQut rigin in
antrc]ockmse direction. 0 =
3) yhat is Plotter? Explain PerJ plotter in details. ‘:é-z
b) Descrlbe /fexplain /solve ,3'\"' o 08
Translate the square ABCD whose co-ordinates are A(O, 0},B(3,0), C(3 3)
and D(0,3) by 2- units in both directions and then scale\u by 1.5 units in x-
-cfitjrrectlon and 0.5 units in\y-dnrectlon q,
“L W
Q.5 @ttempt any Two of the followmg ;:t 16
,g;a) Explain CRT monitorin detail. &
&b)  Whatis transforruation? Explain its types in defail.
(F}{L c) Explain DDA hr:e dralng Algorithm. Also wn@?Advantage & Disadvantages.
< my (=3
Ry S &
639 Qg{? q‘\?
= Y {.‘L_ Page 2 of 2
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Seat éfe & 0 &
— "~ N
No. | 3§ 3A 1o Q‘g\ Set
o
B.C A.\’{Semester - V) (New) (CBCS) Exammatlon Oct/N6v-2023 &
,,Jc» Recent Trenas in IT (19409505) &
Day & ate Wednesday, 06-12- 20?@ i & Max. Marks: 80 .cf"'
Time;03:00 PM To 06:00 PM N o
Q¢ 3 £
Y/ lnst“hctmns. 1) All questions are compulsory. ;:-"“Q &
; . . » A r v
/ & 2) Figures to right indicate full marks. & &
| “5\ N _ I o
Q 1 A) Multiple chouéé questions. " Cfo
:g: 1) Appllcatlons and services that run on a’Ehsinbuted network usmg ¥
Q*E*‘ virtualized resource is Known as <7(‘ oo
J
X a) cParallel computing b)>" Soft computing s
& Q) ’Dislributed computing ‘d) Cloud computing d;_b"
i :31) 2) '\?C has the world’s Iarges({iadoop cluster. &
\C-‘ a) Apple . b) Datamatics & .
T " ¢) Facebook & d) Noneofthe mejnlioned S
X3) Data science is the procvess of diverse set of data through? S{:
D a) Organizing data R b) Processm Jata Q°
'\, g g b b
, = c) Analysing data o d) Allof the, above o
o 4) Who'is the father,of data science? o o
i & a) Rasmus Lerdorf b) James Gosling L
' v c) Guido van ‘Rossum d) Wl"[Elm S. Cleveland o
—\\ v
< 5)  Which of the, followung is the most lmpxo'?tanl language for Data rg‘?’
O Science?.. e S W
a'bq a) Ruby j—‘ R <
? \;‘3‘ c) Java . _id) None of these 5
-l Q
X 6) Type of matrix decomposition model is L P
e a)y” Predictive model ib) descriptive model \
€) logical model nj d) None of these S
5' 7)5QWhlch of the following 1&performed by Data Smenttsf?
& a) Create reprodut:lble code Ny
Q‘? b) Challenge results nj'(
< c) Define the quesllon : 9
KN d) Allof the abcme g %5 A
Q - v !
v \f_“ o e 'i??
o) NI Ly
.-\r? Q‘? b tr\‘,
iy ‘-\: { o
A 3 é
N < &
| & & o ¥
o ) o
& & §
| & A 3;\\- Page1of3
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{;‘:1 .?'\ l Q":
8) QWhich architectural layer is usad as a backend in cloud K
_.__:\‘computing? - N iy
Q" a) cloud ¢ b) soft ‘ n
& c) client \c:'J d) all of the menlioned O
<3 . . AN .
rbQ 9)  Which of the following‘is the application of cloud co(rq‘lpulmg?
,LQ‘}' a) Adobe Qs b) Paypal &’
& c) Google G Suile d) Al of the above:
S ' , 3
P 10) In simple ternp,g’lachine learning is 8T A
Iy a) Prediction to answer a query R K
R b) training,based on hislorical data & N
c) Both@)and b) G o
SV 3= >
d) Ngﬁe of above o Q
=t b
B) Fillin theBlank i o .06
1) Who'is the father of cloud computing? &
‘& programming model u‘séﬁ to

2) .»' _ Can best be described as. _
{I_‘develop Hadoop - based applLdéIfons that can process mdssive
L] " -

> amounts of data. A =
data set is called K

™.

O

rt,

> . &
(g} Graphical representation ofa o
+4) A relationship between lt\(EJ or more variables is re[g'r“red toas a S
Y

$ ) ™~
< o 9 % -
& 5) Data with a large size;is called as . ) &

Q ¥
> 6) The process of eva\rﬁ‘aling data through analytical and statistical =
A2 tools are called as> . & o
<{'§) '\k‘.__ ,_\' (D.f
- s 4 ) ’-‘
Q2 Solve any Eight of the following. & 16
c a)  Whatis Green IT%" 3" SV
b)  What s Opportunity in Green IT? B N
€}  Whatis Hadoop? & =
d)  Whatis lra_igfﬁ‘g phase in Machine Leaﬁﬁ“ing? -
e)  Whatis Distributed Processing System? >
f)  Define Public Clouds. o >
g) What is-Testing phase in MachinQﬂearning? &
h)  Define'the term Multitenancy? .© Na
f) What is the Internet of Things®” Q‘r
i) Vyﬁat is virtual machine? ~.” g
Q3 A, ! 2
3 A)Q Attempt any Two of the following. Sy 10
Q,:-; 1) Explain charactetistics of Big data? >
< 5’_’) Expla_m in detg’ils the role of a Data Scientis‘l(.}'
& ) Explain Hadoop Architecture, Y
= 0y
< qs ¥
& ,
' 2 3
& 3
o J:‘E?
N "l
ﬂf,'}v t_Q$
N
n Page 2 of 3
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0 &8 ~
C\,r’ < N
N o Ca ¢
] ~ o Vv
S S R s"b
o \’ L3 v
:\h !'{:1\;1 Q'::
B) Shorthote on & S LR'(?'G'53
1)_3_C_loud service models Qo N 06
?) Big Data 3’ =
o <
(:\- R Ny .
Q.4 N) & - X
o A my - N =
){? ?)“e".wlt any Two of the following. P 08 &
a ’ 1al are the CoredComponents of Hadoop? & v
R 3) Explain loT Arcmlécture o &
& ) Explain applicq(rons of Machine Learning Algorﬁhms C{“
(90 B) DescrlbelEprainlﬁolve fo 08"
3 Explain in delalk:?ﬂ’he architecture of 10T and appl;catlons of I0T. (:,
2 x> -
NS Q ~
& Q.5 Attempt any Two"olf the following. N r‘; 16
& a) Whatare y)lflUEﬂ Machines? Explain Archilecture of Virtual Machmes in
‘:l.' dEtall o Q =
a~ b) What do’you mean by virtualization? EXplain in details about ::‘5”
v Vlrtu:;ﬂrZatlon technologies and Architéctures. ”
> g
c) What are the Environmental mpact?of IT and explain the HOlIStIC
Approach to Greening IT. & A ¢
Q \,_1“. IQL' i?
‘*_ - k;:: -
& S , S
-”\Q r-‘Q f;';-‘ ,Q
v & & o
~ & ) 5l
S \&\" ,.;(.k ,-~Q
Q“tj & S N
% el o )
‘:\' ‘:k- r‘f“‘o ‘r{? J
i) Q- S oy
% ’ 2]
= Q‘:‘/ -f.‘\j _Ei/
N & 5 §
5 Q" B
O Q% o
u\k? \?? -.-::}:- 4‘.‘?
S N > =
S Q@ Q% &
< ~ =
o < =
Pl ~ v
\"bQ ._.QQ/ ._\S
o A =
‘\\f o Q\
“\:\.:_ o] é‘z
-~ ~ =,
< 3 5
g ot o
v N N
) S &
AP & o
> QQ
& < 3
B o . O)&“
Nj N >
S o §
8 n(":}r \3 pPage3 of 3 V
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B.C.A. S CSY Exar
A. (Semester - V) (New) (CBCS) Examination: Oct/Nov-2023"

., o ,
2 Solapyt 8.0

-

\

Linux and Shell Programining (19409506)
()

Day & Date: Thursddy, 07-12-2023

Time: 03:00 PM 76:06:00 PM 3 MaxeMarks: 80
8] W
. . -~ . \(D ~
Instructions: %))ﬂé)“ :uesttons are compulsory” % :
~3) Flr ;‘V ne?t labelled diagrams wherever necessary. w QJ&
ré\, gures to the right mdgﬁe full marks. ) ©
. N : (S}
QA A){:v Tultiple choice questloq\g’f a 10
> ) command is Used to rename Directory. ,DQ‘) W
R a) Sremove v by $rmdir o) 2
$ ) rmal & ny
{DQ c) $mv r_;. d) $rm \k\ ’\_:\
Q . (8" " v‘:* . (=]
& 2) Togetlist of@]rreM!y running processes, _g= command is used.
S a) $ps by $is & ey
§$ c) S$who d) St & Q)S‘
N 3) gommand is used to remove FILES. ‘.\j;\'
. a) §?emove b) ﬁ]'$mv Q\-’?
C)e $CP d)v $rm &
4) <~  command used to paste QS\pied lines of the file in Vci;E'ditor.
Ja) ye Qb)) P 3% \
~ n, -~
> © v o~ d) PP = sy
,tﬁ used to Sloplsusg&d currently running prqfe_%’ss. ﬁ
W\ a) CTRL+Z & b) CTRL+D v &
c;r;; c) ALT+ zZ § d) ALT+ D = )
q\‘\z 6) command @ed to search pattern in a\sﬁle. a2
ny ' a) sort X b) searchs o
_\c: c) grep f{;’z d) find @0 ﬁ??
§ 7) usedto hide special meaning Qf}‘metacharacter. 2
5{‘0 a) - “r? b gﬂ ‘-\O
=z c) \ h@}' d)xr Q\:;
S 8 2% a developer of LINUX O'S. -
2 a) Lnus Torvalds qf-b Ken Thompson =
¢) <Denis Ritchie r{};‘ d) Bothb&c {§
9) pdir command can have@ultiple arguments. ;
Z) True ,\\»3’ p) False &
= -
1(?}\ $head command can Q@ used to display last lines frof"r”n file.
S a) True Q:k b) False r;i"
g) < Define the following teyms. & 06
X Shell N o7
R 2) Mount point & 2
& 3) Shell Script 23 e
) A
N 4) usage of $BWd command 3
S 5) usage of $who command &
\Q 6) FTP stands for . &z
3 ™ =
% 5o
(da’t‘p {§/ ﬁ"k}
£ o o~ pPagelof2
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Q.2 Solve the following (Any: Elght)

Q.3 a) nAltempt the following (Any Two)
Explain LINUX Architecture with Diagram.

r\\

-
Ly
>

Q.5 Attempt tﬁe following (Any Two)
Def‘ne System Administrator and state different roles of system
administrator. i
Explam File and directory perrg;ssson commands.
Exp[arn case..esac statemenL‘wuh shell script example\

3
L b)
N
L3
Q4 a)
Q*c'-
(.
-
[ Q )
o)
vV b)
a)
b)
c).
ﬁ
&
\\(1,
S
S
RS
Zl
N
oy
o
1.;}
-
as
L
n.‘:lf
o
2
l'l‘:‘g\/
' ﬂ\ v
™
;-
QD
O
2
&u
oo
N _

%1)

Define Bool Loader>

List TWO differences between GRUB and LILOv

$find command 4~

List out any 41L1nux Distributions.

Define melacharacter
What is s c§|l Process?

State usage of $mkdir command.
Stale the purpose of $pasle command.
Statewsage of traceroute commarf

that is bool block?

_\

2)  Write Note, on $unig command.

3) Write a Shell Scnpl to check entered number is EV =N o0
List Out dufferences Between LINUX & WINDOWS (JS

Attempt the follu\.-.rmg (Any Two)

1) Write a note on Super Block.
2) Slate aQy FOUR Shell types.
3) Expla\n Piping with Example.

N

n°

(4

o

Explaln Hzerarchy of file system with dla"g'Fam

5_4‘-

s

&

Page 2 of 2
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No. i g Set ‘P
)
(
B.C.A. (Semes\ter - VI) (New) (CBCS) E)?ammation. OctINov-2023
'_\\\ ENGLISH Q‘;.
4:('2\ Literary Mmdscapeg’ 1 (19409601) ©
Day & Date: Monday, 20-11-2023 Q@ fhax. Marks: 40
Time: 03:00 PM<To 05:00 PM S & ;
o ’\/ -,
Instructlonsé} ) All questions are compulsory ~ Q
’b 2) Figures to the right mdxgate full marks. > W
\ S c;’
Q.1 Chbose the correct alternahve Ry 08->
\1") are the names of the children in the story Growmg up'. &
Q$ a) Jossand Kady &V b) Jane and-Karli S
R c) Jade and Kat:e d) Jennyg and Kate v
% Q
.Q_\\ 2) What was AkSIQI:lOV fond of when he was younger’r‘ QS‘
§ a) dancing O % b) sleeping i
& c) singing d) reading RS
= =~ [ ‘5“
Q§ 3) children are listening to the story |n‘l?‘ie poem ‘Sita’. a3
2 a) OneP ‘)/ Two &
d c) '[t]ree ,Qn Four Q{'\
4) Wilg ‘Was the cause of the death oﬂ}\e duchess? 2 .
illness =~ b) accident <v &
c) drowning 3 d) the duke " Q’:’-‘
L n r
5) o Complete the following line. ¢o° _\'\*L ,\;3_
~~ ‘A thing of beauty is a <rforever'. S o3
O a) cheerful Q€ b) pleasant\q’ " N
N (B v
\:\\ c) joy oF d) truth ~
v 6) Charlotte Bronte sayscl at_____ possess the galden wings. r\é’\’
S a) Morning dew .~ b) Hc:pe X
& c) Butterflies & d) .None of the above o
Qo
R 7)  Choose the corré’ct adverb to fill in the bank S
NI lam - t:red I want to sleep for a cqQuple of hours. o
& a) extrenfely -S-b) extreme f
: c) msuﬁﬂc:ently v d) sufficient Q‘:,\\
8 My teacﬁer often says to me "If you do not work hard, you W|l|<fi;l;l"
The @rrect indirect speech of the above sentence is -
a) +"‘My teacher often says to. me that If | do not work hardil will fail.
,tg; My teacher told to me th‘at if | do not work hard, | wllH’all
<€) My teacher said thatif | does not work hard, | would fail.
Qq*- d) My teacher ordered;that if | am not working hardj. T would fail.
o N i
Ny < S
oV K W
ﬁ() N O
\ 7 > N
~ I Q
& % 5P
2 q',\ &?
~
QS ,{DQ §
& N ,t__* _Pagelof2
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v
. N \
Q.2 Write short answers of the following questions. (Any'Four) 135
1)  What do you know about Robert Quick's wife? Q) P
2) Why did Aksionov leave the inn early? v &
3) Whatis the tragic'story told by the narrator in,the poem ‘Sita'? N
4) Describe the personality of the duchess. A Q™
5) What objeclsgo\f nature does John Keats miention as a source of joy? ¥
6) Whatis thsifheme of the poem "Life™? ~> ¢
- Q N
Q.3 Answer anf‘one of the following. \,D?) & 10
a) Explain the three most important literacy skills (IMT). é{;) i
S > OR i x>
b) Discuss in detail the life skills, khown as (FLIPS), & e
S N Q\ n/ (\\
3 v
Q4 Ttlé}e is a spate of motor cycle fobberies in your city. Give thre\g? steps that you 10n,\>°
would take as a civically literate person and as a leader. Kea g
Q\\‘}\ & x> o
g q° N "‘?
3 . ) .
O) o'\? Q O
\\\‘ N = Q\'\
&‘ e C:i\ 0
< = Q )
Q v & g
3 S - ~
< {L‘*\ n)Q Q\‘
N & < &
o v -
= N Q
< D) >
Q o\ E \
X N ¥ &
> \k n o
Q\ ‘.;. q’) QT{\
e S > =
QY 2 l >
> S Q
3 $ 1 2
‘WS) Q\ O o,
= &= N)
~ ~ Q ~
N) N ¥ ¥
b S & ¢
Q G x> D
& S & S
S v’ L !
2 ) o= $
N &V & &
S & o S
~ o . ~" {'_}
] B 5 S
Ca N\ Q™
S & &
< g &
= v O
& S v
> ,.“Q iy
Q& S° v
& X
S & N
& £ 3
({;\3 |(<q‘ Y l/
> &
\0/ wq::.\ Q\'
o d &
Sy S S
1" A 2
R v =
oy ~ =
= 4 -
9 \\“\,’ _':t' Page 20f2
= -~ i .



Seat
No.

_,-\-. = — /
B.C.A. (Semester - V1) (New) (CBCS8) Examinntlon: Oct/Mov-202% .
" Advanced Java (10409602) 4
Day & Date: Tuesday, 21-11-2023 Wiz, 1Asrvs B0 K
Timo: 03:00 PM To 06:00 PM , '
Instrictions: 1) All queslions are compulsory.
sv 2) Figures lo tho fight indicata full marks, :
4.4 A) Multiple cholce questlons, K 10
& 1) In Sesslon iracking which mothod Is usad In n bit of Inforraation
& that is sent by a web server lo a hrowsor and whiah can lntar bo
> read back from thal browser? “ 3
o a) HttpSession b) - URL rowriting
Q= c).~Cookies d) Hiddon form fialds
= 2) - Method Returns the parametor value for the apaclfied
< “parameter name in web.xml. .
&7 a) gellnitParameler(String,namc) % &
b) gelParameler(Slring name) &
? c) setinitParameter(String name) L )
v d) setParameler(String name) y Fd
‘\':" 3)  Which are the session tracking techniques? P
O a) URL rewriting™ b) Using sesslon ohject 3
- c) Using hidden fields d) Allof-these
4) AJSPis transformed into . o 7
S a) Java applet b) Java serviet
5“.‘-' c) Both a) and b) d) None of these
.j” 5) In Hibe[h'éte inheritance mapping which is used when tables are
o created as per class but related:by foreign key, SO there are.no
Q" duplicate columns? .5
' a)~ Table per Hierarchy ‘'b) Table Per Concrete Class
€) Table Per Subclass 7 d) None of these =
6)> In Spring JDBCTemplate which interface can be used to fetch
&5 records from the database? . 2
& a) PreparedStatement b) RowMapper .
~ c) ResultSetExtractor d) JDBCData ~
N.\Q 7) Ifyoudon't usg,_i@TabIe annotation, hibernaté"'will use the
7 as the table pame by default. o
q,\_:‘ a) class rlame b) Hit;},ernateTable
S ' c) ObjeE-Name d) annotalionTable
.\‘...:\ ,\C'E:. \\'::' 2
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Sprlng is developedby . 57
" Rod Johnson . '

b) Gavin King ?
James Gosling d) Guido van Rossum

7
1]

9) d Wthh is mandalory in <15p useBean> tag? _-- 7
.» a) Id, class b) id, type v =
0 c) type, property d) type, id i o
.-5—‘" 10) In JSP Action lags which tags are used for bean development? >
N a) jsp:useBean - b) jsp:setPoperty a2
o c) jsp: getPoper{y d) Allof these P
& B) Fillin the Blank. < 06
;\b‘* 1) Thelife cycle of a servlet is managed by . y
& 2) The " interface provides the facullty of dispatching the :
= requestﬁj another resource it may be html,servlet,jsp. ,§L°
g 3) - JSTL tag is used for assigning a value to an object or.;
\3‘ vanable within a specified scope. ™
< 4) CGl Stands for : <
o 5) Gbnenc Servlet is a protocol 2
6) ln JSP tag is written to the output stream of the response
. .
Q.2 Solve—any eight of the following. 16 ~
a) .3~Whal is Serviet? 3 oy
b) " What is JSTL? R {3
) Define JSP life cycle? = g e
<>d)  Whatis ORM?
" e) Whatis Framework? 5~ . .—1?
> f)  Whatis CGI? o
™ g) Coupling in spring.@ o
Q h) Advantages of JSP over Serviet. B o~
Re) i)  List out use of Servlet Container. A -~
o j)  List out use of Mibernate. ,5? N
s 1% T 3
N Q.3 a) Attempt any two of the following..’ -G 10
Q 1) Explaln JSP implicit Object with example ___’7
’ 2) Explaln Hibernate Architecture.
3) 3 “Write a program to store book information such as book_id,
G.: book_name. author, publisher, price, etc into Book_ mfo table using
:\ Hibernate annotation .- _\».
b) "Short note on Spring model 06
-Q“‘ “.‘ ot
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Q4 a)  Attomptany two of the followling. - \ 00
1) What s Inhoritanco mapplng in Hibornato? Explain PSS _,’f' '

“nharitance mapping with examplo.

2) ¢ Difteranco botwoon GonorleSorviet and HitpSorviot, ") T
3):  Wrlto o sarviol to tako namo ns roquost paramaelor from the usor g
o and display Wolcomo Pago to tho usor with his name (uso HTTP R
¥, post mathod). o i A
AN oy Yy ',r
b)  Whatla Soasion? Explain all soasion tracking mochanisrm with oxamplo, 08 o
Q.5" Attompt any two of tho following. G 10\
4 a)  Explain Spring JOBC lomplato with sultablo oxamplo. 3N
S b) Explain JSTL SQL tagos with Examplo. -
N ¢) Whatls Dopandoncy Injoction? Exploin Constructor Injoction (C1) with &
colloction and Map. 3 g
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B.C.A. (Semester - V) (New) (CBCS) Examination: Octhov-ZO%S

g‘ Advanced Python¢§1 9409606)

Day & Date: Saturc@( 25-11-2023 (\ Mag Marks 80
Time: 03:00 PM EQ :06:00 PM c'zb {‘;‘/

Instructlons 1RAll questions are compulsoqf’ &Y
Q’;‘) Figures to the right mdlca\e full marks. SV , &
AY =
Q1 A) Qlkﬂultlple choice questlonsf—2 v 10 .V
\'l‘ 1)  fgin tkinter wudget(l(sstands for? '
rﬁ’ a) foregroundqgo b) backgrounglb >
c) forgap (g'/ d) None of tEfZese

2)  Oneof the fq[lowmg applications of the Clseﬂi‘and Server Model?
\S a) Emailly b)  Netwbrk Printing
S c) World Wide Web d)  Alfof these

S
ﬁ 3)  Which @rchitectural pattern does djang% follow? NS
a) r71;;]'1;] b) SMVT =
qLo "HTML Q)) > None of these L

Aol

4) Whlch widget are used to get th\e data from the user? Q™
a) Button 8 >b) Label a2
< ¢) Entry B d) None of the megstloned

2 What are the features ava&lable in Django web fran@wwk” : Q-
Q:?-f a) Admin Interface (CRUD) b) Templating,{~
< c) Form handllng N d) Allof these

& 6) XML Is Designed T@’Store Data And \\% n
N a) Design ék b)  Verifyy oy
& c) Both A &g d) Trgéiéport N
S 7)  Tkinter tool in python provide the RN \-\\\‘
B a) databa?e . b) 5©S commands a?
2 c) GUI\, d), 5 Al of mentioned

8) What |e'1he purpose of settings. 8
a) o configure settings for tpe Django project N
b} To configure settings fog)\an app §
.6} To set the date and time on the server &
cgcd) To sync the databasetschema ~

9) :5"“ One of the following classes are used for connectlotf\ess socket
@< programming? S :

< a) Datagram Socl{et b) Datagram?acket

c) Both Datagram Socket d) None oj@e above

q‘?q \
o 10) The XML DOM‘DBJect is (\.\{\
g a) Entity b) Comment Data
59’ c) Entity Reference . d) Cgmment Reference

(/,. ~)

Jo!
v Q
Q"E} = Pagelof2




L
~
-

fiy V) ‘,_f,/
";/ -‘.-. ’_ 4 ;
‘:'J i V‘-A j
& /' SLR-DG-60 5
i % A £ 4
W) FiltIn the bianks, o 06, 7
1) s usg sty the slatic 1ey1 nnd’/lmas, s y
2) AN KN dacumant can be dopictad using 2" Find of structiprg, & é
4) Django ls n i) davslopment {7 e ;//
) Q—Y (77 Acesit the connectidn from the clien, Vo ﬁ
b) GUIstands for Graphical — Itdrfnce, Fui 27
() l)jﬁngd suppons the _____ psttern ) o 7
l; F ', ’;i/’
Q.2 Bolve any Flght of e folloving, 1) g 16
n) - Whatls pythion tkintee? %4 '
h) W lp(lb ('mmm;lry lanGgement? R o
0 Mat Is 1 romienyom? Ky oy
d) Whatis 1AL DOIA7 e 2 ,:/
6):" Whit Is Haotwork? /o y r
17 What nire 'views? ’f.,’ ,,’rf’ ,_f:’
(0)  What s %M. Parser? ¢ Z4 ol
AN Hove o do you cronte A4 Django project? A 57
o’ ) Whatistery Y g% e’
&) What are vidgols?” R P
ns " (; ] ’ ’.;’
Y Q3 a) Attompt any Tvio of the followring. A 2 10
™ 1) What Is GUI?7 Explain it's advantages, [ &
m 2)  Dillsgerice bstween app and project, 2
3) Wriles™s program for sonding email application, -~
~ ’ 'l /
h) Expl;;ih' pack() Layout Managars, Y, Py 06
- _r-, ,"r" e
Q4 a) A;l‘umpt any Tvio of the follow/ipg. ~ 03 o7
) Explain parsing XL vith 8AX API's, ' 4 Fe
(5\;55,) Wrlt & program for URL irr network Programming. ».” K
47 3) Explain fatures of Djaggo, 4 P
oy -~ L _ :—.l‘
{b)  What s IP address? Writd’a program for (P address; 0g
(,"' .:-: ’.ﬂ:‘ “?
Qe Attempt any two of the f(gﬁowlng. Iz =16
s @) Whatis XML? Explair Architecture of XML? s .
P b)  Explain Button & Spiinbox widgets, P o
@" c) Whatis Django,?f:’xplain the various files that are created vhen you create
& a Django Projgcl? A &
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